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Generalizând rezultatele experimentelor sale, GALILEI�	������	


��
	�
�
��� ����

�

��

� ����
��� ����
���	�):

Legile mecanicii� 	�� 	
��	2�� ������ 7��orice� ���������	�� ������	��

�+�
��,
�����*

Pentru a verifica Principiul rel�

�

��

� ����
��1� ���

�	��

�;(������
��� ����
���

��	��� �� ���%�1� 	���
	����� ���
�
	�� 7�� ���� 2�� (���6������ 
��6

��
	6�1� ����� 	� 6�(�	�	����	� 
�� 
	��� 	��� 	���
	
���

A�
�(���� ��� ��� 6�(�	�	��� 7�� �
	
�� �����
�, cu �

���� ��	�
�	
�

2�1� 6�(�� (������ 
����	� (	2�1� 	���
	������%�	� 
�� 	
��	2����2
	��� 
	

7�	��
��

?5����	��� 
�1� 6�2�� 	
��� ��� 6�(�	�	��� �	��� 6�� ���1� ���2���� ��

(���6�������%�	� 
	� 2�� 7�� 
	 ��� 	�
�����1� 
��6� ��	��� în repaus.

������
�	������ ��������������

����	��� �;(������
��� 2�� 
������ 	G�
����� 
���%������ ��%	��� ��


���%�C����������	�
����2
	��	����%����
��6�	��
���
��	�
����	�(	2�

6�� ����	�(��
	������6�(�	�	���2��	�
�
���%�C�����������	�
����2
	��	

���%��� 7�� 
��(�
����� ���6�(�	��	 �� ��

��������������� �(����6���
���

(	�	����� 
�� 
�	� (�� 
	��� ��� 6�(�	�	��� 6����	��	�
����

#������� 6��
���� 
��� 6��� ��������2
	��	����%��I

<�5��� ���� �5����	� �� 	���
	��� ��5� ��� ��%3�1� 6	�� ��
� ���� 6�

�	��	��� 2�� ��%3������� ���(�

���� ���� ���diferite.
���
��� 	� (�
�	�6��
���� 
���

���2
	��	������ 
��(1� �� �
�� 6��

���������	���������	���diferite1��	�
��5������	��%����7��fiecare����������	�
������	���
�
��������
���6��axe de coordonate:����
	����5����	
����	
6��
������2
	��	� 7�� �	(��
� 
��(��(����� ���������	�1� �������6����
����

6��	;��	�����*��6��
1��	�������
���6��	
�����2��	���(����
���������
� ��

�������diferite1�6	���6�(��
������	����%��	
��;(������
������	�� 	
��

��%������2
����� ���� ������� ���
3��5	
�� ��� �����.
.������6� (���
�(���� ���	
���
����� %	�������1� NEWTON� 	� �
���

���	������ �	
��	
�
�� 6��
��� 
���6��	
���� ����� ��5��� �
�6�	t de doi
�������
��
� 
	���
��
.

-��
����6�����6����������	�
����
	���
��� ℜ�2��ℜ� în care alegem,
respectiv, câte un sistem rectangular de axe de coordonate (Oxyz� 2�
O'x'y'z'��2��
�
��������
���6�������	
�
��(����t�2��t') (fig. 1.1).

.	
�������
�	����� �(�
� �8

– ℜ'�	����	���6��ℜ���
� 	�
���
	�
��
�
� , iar ℜ��	���6��ℜ', viteza

′ = −� �
� � ;

096��	
����2��6��
	�������������	����7��ℜ�2��7��ℜ') cu etaloane
identice din punct de vedere fizic;

– Ox are orientarea lui 
�
� , iar Ox, Oy, Oz� 2��O'x', O'y', O'z'

���
1� ���(�

��1� (	�	����� 2�� 6�� 	
��	2�� ����:

– la momentele t = t' = 0, originile O� 2��O' coincid.
Un eveniment care se petrece într-un punct anume, la un anumit

moment de timp, este numit ���	
��	
�����
� 
�����al�2���	������(��	

�	���6��ℜ�2��ℜ' prin cuadrupletele (x, y, z, t), respectiv, (x', y', z', t').

�
���
��*

���������	�����������	������6�(�	�

��	 �� ����� �	��� 6�� 	�
��� recti-
liniu uniform�� 4�� 	
��	1� �����

�����	����� 
	��� ��� ��2
�� 	

��

���	
��6���;�����rotesc) în raport
cu un R.I. sunt ���������	��
��������	�� (în acestea nu� ��
������
�� (���
�(���� ��������J��

�
,�
 
+�
��,
�����

,�6���
	��� �;(������
��� 	�
���8

���6�	
� 6�(�� 	���
	��	� ���%��

7�� ���1� ���
�
 ��J

0� #��� 
��5���� ��� (��
�6	��

	
���(��
��� 	� (���6�����%�	I

0�#����	��7�
��(�	�6	
�1����6�	


6�(�� 	���
	��	� ���%��1� 	��� 7��


�(��������6�(�	�	�����
�������

�	�� ��	��� �
3��5	� �
����
�� ��

�
�����I

��
���
*

�*H=?�� ��	� 	6�(
��� �6���� 
�


��(��� ��
�� ������
� �	6�
�� 	�

���
	��� 6�� ���������	���� 	����

	�
����7�
�
�������	���
����

����

7���
�	������
�	������������:����

���� �	
�� 	
��
� ��
��1� (��
��� 	

(�
�	���������	
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�����	����
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�
�����

�

��
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�����

$����

��� 6��
��� 	
��
�� 
�	6��(��
�� ��(�� ��
�� 
��	�������
��

%&'(')( *)+!,*� �6�� �	�ℜ� �	�ℜ'� �	�� 
	����1� 6�� �	�ℜ'� �	�ℜ�� 2�� (�
� ��

6�6���� �������6� ��%��	� ��!8

x' x t

y' y

z' z

t' t

= −⎧
⎪ =⎪
⎨ =⎪
⎪ =⎩

�

�
2�
�

' '

'

'

'

x x t

y y

z z

t t

= +⎧
⎪ =⎪
⎨ =⎪
⎪ =⎩

�

(1.1)

�
��������� ���� ������������� �������������� �������

@
��� ��6� 
�	������������%&'(')( *)+!,*1� ��� (�
� 6�6�
�1� (���

������� �
���
1� ������ 
����
����� 	��� (���
�(������ ���	
���
����� 
�	��
��

�� -
�
�	��� 6��
��� 6���� (��

�� ��
�� 
	���
�	
�8

2 1 2 1( ') ( ')' 'd ' r t r t r r d= − = − =� � � �
.

��-���
�����������������
��
	���
�	
�8� 2 1 2 1
' '' t t t tτ = − = − = τ �

��.

�����������5�������
3��5�1��	�
��
���	�6���	�ℜ��	�ℜ���	�

������1� 
������� ���	������8� u' u= −� � �
� � 2�1� ������1� u u'= +� � �

� �

��&��������
���������5�����
�� 
	���
�	
�8�
d d

d d

u' u
a' a

t' t
= = =

� �
� �

.

�� /����� 
	��� 	
�����	 �� 	��(�	� ����� 
��(� ��
�� 
	���
�	
�8

F' ma' ma F= = =
� �� �

.

�
���
��*

.������6� ���	������ 6�� 
�	������	��� 	� 
���6��	
����� �
	5���
�

(��5	 	�(���
�(���������	
���
�����
�	��
����<�'�*'��*H=?��1��
�
�	��

6��
��� 6���� (��

�� 2�� ����
�� ����� �������� ��� ��� �
3��5�� (���


��
���	� 6�� �	� ��� ���������	�� ������	�� �	� 	�
��1� 	6�
�� ���"	
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��1� �	���

������ �������5��� �	��� 6�� ���
	��� 6��
��� 
��� 6��

�5����	
���� ���
� ��%	
�� (���� ���	��	� u' u= −� � �
� � �2�� ������1

u u'= +� � �
� �� ���%�� ��$��

� ��������!

�<�'�*'� 	� �
�6�	
� �������� �
����� �����6� ��� 
	6�� 6��� !��	��

�	��
	�
��
	��
���
��(����
���	���6�����
��2���������6�6��	
	�
�6�����

4�2��	��5����	
1�(��5	5��1�
��
�	
��
��(���������
����
�
���(��������

1

��� 	� 	
�	�� 	
����	� 	��(�	� 	
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��� 
���
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	� �	(
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�
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�1� 6�� �	(
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r ' r t

t' t

= −⎧
⎨ =⎩
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�

� 2��

r r ' t'
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� ; de aceea,
un câmp magnetic uniform (constant în timp) nu poate modifica
���
��� vitezei particulei, ci doar �
����
�� ��� 6����2
	���

ma F q B= ×
� �� �

= � ,

	6�
�1� 7�� 	
��
� 
	 1� 	

����	��	����� 	
��	2�� �����
	��� 
�� ����	� �
	��

�������7��(���	������(��(��6�
��	���(����
� ������%�����+�:����%��	

6����5�����	���6���;(����	�
�	��
������6�
��	�
�����������
���	�	�6�

��2
	��� 	� (	�
�
����8

0
0 2

2
1

m
m m

c

= γ =
− �

.

4	
����(	�
�
����7�
��
	
��
���	�
��	�q����%���2
��7�
�����
��(

���

��
� E
�
1� ��� (�	
�� �
���� ���%�� ���K�8

ma qE qE
⎛ ⎞= − ⋅⎜ ⎟⎝ ⎠

� �
� ��

c c
� � .

���������� �	��������!

��������	���(��������(	�
�
����

0p m m= = γ� � � 6�(�2�2
�� 6�

�	�� ���
� 6�� �M� ���� �	��	��	


	�
��	
�� 
������� ��
	��
��


�	��
��� 0 0p m= ��8� 010p p≥

���������� ����#��!

���	��	��	���
� ���(	�
�
�������

6������ 6�� �	��	��	� ��
� ��� ���

������ 7�� ��6� 
���	�� ���
� 6�� �

G���
	
�� 6�� (��
��
8

8 10 995 2 985 10 m s-, c ,≥ = ⋅ ⋅� �

.�%�� ���+�

.�%�� ���K�

�
,�

���
��� 	� 7�����%�� 6��� (��
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����	� ���	
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��
��������
�����1���	�� 	����;(����

���
���� ���
�	��� 6��
����� �	

	6������� 6�� ��
����
8

� � �

������
���"	.	" ���)))�

�	�������,/+��'�� �!��0��"�
$	

� � �

����)))")�	
���&��!
"!��

��,1��
�$�!�	�
���"�
$

F
�



"D �������������	� ���
��� �	���� �� �����

������
���������� ��
��!��"#!�

!$=
,�
 �
$����	������

�� !���
������

�

��

����
�"	��1�������	
��6��EINSTEIN�7���/M�1���
�����6	���
	
��(���(�
� 	�(��(	%�����
�

��
� ������
��	���
��	
��������1�7��
��
�	6�
����
���(�
� ��e ����
���
�������
�2��timpului absolut�	���
������
�����	
����
�1� ���
������� �
	��� ��� 5	 �	 ��(�� �(�
� ����������

� 
	�
�	
�	��� 	� ��
��	
�����������!���
�

����

�

��

����
�"	������	(��
��
�
��������
��������� �
�1���6������
�6����
� 	�6����2
	���	�	
��
ora (în timp
ce 
���
��	��
�	
�	�����	(��
�����	���	���
� �����
��	����
��7��
��(	�	����
����
� 	����������
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2. Un eveniment fizic este caracterizat prin ���
�
�� ��� �	� ����
�� 2�� (���� momentul de timp� �	� 
	��� ��
6����2�	��� 2�� ��� �;(����� (���
����� 	��	�5�� de patru numere (x, y, z, t) ce constituie 
���6��	
���
�(	����
��(��	��� 	��� ��������
������ #���6��	
���� �(	����
��(��	��� 6�(��6� 6�� ���������	���� 	����

#�1�� 4

3. Unui ���
��� �� �
� 6�� ��������� sau ���������	�� �� ��� 	
	2�	 �� ��� ���
��� 6�� trei axe de coordonate
necoplanare� 2�� ��� �
�
��� ���������� �� 

�����
 (ceasornic) solidar cu axele de coordonate.
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$� A�����������	�����7��
	������������
��(���
�(������������1����
��
��(�72��(��
��	 ���
	��	�6����(	����	��6�

��2
	��� ��

������� 2�� ��������� 	
�
	� 
��(� 
�
� 	��(�	� �	� ��� 	
�����	 �� 	�
�� 
��(����
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�� ,�
	��
	� ���
���	��� ������	
����
��� ��� 5	 �	 �� (�� principiul lui GALILEI sau (���
�(���� ���	
���
����
%	�������: legile mecanicii� ��� ������
� ������ �	� ��
��� �
�
��� ��� �����
	��� 
	���
��.
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&� =�	������������ GALILEI–NEWTON� �
	5����
� ���	������ 6�� ��%�
���� 7�
��� 
���6��	
���� �(	����
��(��	��

(x, y, z, t)� 2�� ( x', y', z', t') ale unui eveniment în raport cu 6���� ���������	��� ������	���6�����
��ℜ� 2��ℜ'

	��������2
��
����
� 	�
���
	�
��

�
v  (respectiv -

�
v ) unul în raport cu altul (axele se aleg astfel încât

viteza
�
v � ��� ���� (	�	����� 
�� 	;	�Ox):

'

'

'

'

x x t

y y

z z

t t

= −⎧
⎪ =⎪
⎨ =⎪
⎪ =⎩

�

99999

2�

99999

' ' '

'

'

'

x x t

y y

z z

t t

= +⎧
⎪ =⎪
⎨ =⎪
⎪ =⎩

�
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+� =�	������������GALILEI–NEWTON�
��6�
��	�����
�	�����
����
�����	���(���
�(���������	
���
�����%	�������8

�
�
�	��� �
	
��� ����� ��	�
�� 2�� durata unui fenomen 	�� ��� ��8
���� �	� �
3��5	��	� ���������	�����

������	�� ����
� invariante), pe când vitezele unui mobil în raport cu c����6���� ���������	��� ���
� ��%	
�
(���� ��%�	� %	�����	��� 6�� 
��(������ 	� ��
� ����8� 'u u= − �� �

v � 2�� 'u u= + �� �
v .
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8. Tentativa lui MICHELSON�2��MORLEY,�(����
	���	
�2
�	�������	���������	����

�������"	
���
��������

9�
��: printr-un e;(������
�6���(
�
�1�	�
��6����	������ ��
	
���%	
��1�
��	�
��7���	����
��(���
�(���

galileean� 	�� ���	
���
�����nu� ��� 	(��
�� 
�
����� ������������ 6��� �	
����
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"�������� ��	�
���
�
��� ���
�����

9. Nici ipoteza FITZGERALD-LORENTZ a ��	
����
�
�5�	��������
��������
������(��6���
��	���
� �����mântului

cu factorul 21− β , prin care s-ar putea explica rezultatul experimentului MICHELSON� 2��MORLEY,���

(�
�	� ��� 7�����	��� 6��� (��

� 6�� ��6���� �� �
�
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�M� A��	
��	2��
��(�
�	
���;(������
����	��
	��
����
� 	����������������
3��5��7�����
����6�����������	���

������	��
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��� -��
�
� ��6� 
�	
�� �� ��
	
���� �;(������
	��� 7�
���� 
������ 
�����
�1�EINSTEIN� 	� �����	
� 6���� (��
��	
�

�diferite de cele clasice��
	����
	���	�5	 	����������
������	��(�	��(	�������2��
��(����8�!���
������

�

��



���
�"	se:
a) Primul postulat: „Legile fizicii����������
� �������	���
���������	�
��� 
	���
��” (<
�����: nu numai

legile mecanicii).
b) Al doilea postulat: „Viteza luminii în vid� ���� ������
� �������� �	� ��
��� ������	�
��� 
	���
��”.
*����	� 	
��
��� (��
��	
�� ��
�� ��	�	������ ��� 

����� ������
, ����

�

�
��� ����
���
� 2�� timpului, ��	 

�
�	����

���
����
	

��	��
���
	���
� ���	;����6��(��(	%	���	���
��	
��������1���6�(��6��
��6����2
	��	

���	
���� 	� ������� �	�� 	� �5����	
��������
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�!� =�	������������LORENTZ stabilesc �����

��� ��� ����
���� 7�
��� 
���6��	
���� �(	����
��(��	��� (x, y, z, t)
2�� (x', y', z', t'�� 	��� ����� ��������
1� 7�� �	(��
� 
�� 6���� ���������	��� ������	���ℜ� 2��ℜ'1� 
	� �� 
����
����
	� (��
��	
����� 
������� ���	
���
����� ���
�����8

x' ( x ct )

y' y

z' z

ct' ( ct x )

= γ − β⎧
⎪ =⎪
⎨ =⎪
⎪ = γ − β⎩

� �

2�

� �

' ( ' ')

'

'

( ' ')

x x ct

y y

z z

ct ct x

= γ + β⎧
⎪ =⎪
⎨ =⎪
⎪ = γ + β⎩

unde
c

β = v
� 2��

2

1

1
γ =

− β
.
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�"� 4���5����	
�
���	���
� ����
� ( )c�v �	������
������1�
�	������������LORENTZ������6�
��	�
�	�����������

GALILEI1�	�
����7�
�
�
����6����
�����1����
���	���2������
����	��1�
��6�
��	��������
������
�
� ((���
�(���
6�� 
����(��6����).
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14. Între lungimea l�	������
��(������	
��7�����
������	5��	
����������	�
�����
	���

����2�����%���	�l0
�����	
�� 7�� ���
����� (��(���� �lungimea proprie�� �;��
�� ���	��	8

2

0 2
1l l

c
= − v ,


	��� ���6����	 �� ��	
����
�� ��	�
�
���� ����� �
����
���
����

, ���%���	��	;���� (�� 6���
��	� ��
� ��

����6� 
�	�proprie.
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15. Între durata τ=Δt � 	� ����� �������� �����	
�� 7�� ���
����� �	5��	
������� 2�� 6��	
	� (��(���� 0τ=Δt
�;��
�� ���	��	8

0

21 –

τ
τ =

β
,


	��� ���6����	 ��dilatarea duratelor, 6��	
	������� fiind cea proprie. Pag. 13

1�;



"" �������������	� ���
��� �	���� �� �����

�&� 4	
��6������������
��nu se pet�����	�������
���� dar sunt simultane în ℜ, evenimentele nu��	�������

�����
	��� 2�� 7��ℜ'1� 	6�
�� simultaneitatea lor este ����

��.
Pag. 13

17. Vitezele u
�
� 2�� 'u

�
 în �	(��
� 
�� ���������	�����ℜ� 2��ℜ'1� 
	��� �����2
�� 
�� ��
� 	� ���	
����

�
v  (sau 

�
-v �

(	�	����� 
�� 	;	�Ox1� ��� 
��(��� 6�(�� ���	�����8

21

x
x

x

u'
u ,

u'

c

+=
+

�

�

2

2

2

1

1

y

y
x

u'
cu ,

u'

c

−
=

+

�

�

2

2

2

1

1

z

z
x

u'
cu'

u'

c

−
=

+

�

�

.

����6� ���(�

	
� (��
��	
��� ���	��	����� ��
� ��� ��������
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�K� #������� (��
��	
����� 
������� ���	
���
����1�masa1� 
	��� ����	��� ������	� ����� 
��(� 	��	
� 7�� ��2
	��� 
�

��
� 	�
�
v  în �	(��
� 
�� ��� 	����
� ���������	�1� 6�(��6�� 6��������	� ��
� ��� 
������� ���	����8

0

2

21

m
m

c

=
− v

,

unde m0 este masa de repaus a corpului iar m��	�	� 6����2
	��� �
�� ��
� 	�
�
�) a acestuia.

Pag. 15

�/� '�(������ ���	
����
� 	�� ����� 
��(� 6���	���m0� 
	��� ��� 6�(�	��	 �� 
�� ��
� 	�
�
�� ��
�1� (���� 6��������8

0

2

21

m
p m

c

= =
−

�
�� v
v

v
.
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!M� *���%�	� 
�
	��� ���	
����
�� 	� ����� 
��(� ��
�� ��%	
�� 6���	�	� 
��(����� (���� ���	��	8�
2E mc= .
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!�� ,�����	�
2

00 cmE = � ��� ����2
� energie de repaus� 	� 
��(����1� �	��������	8

( )2
0 0 cinE E c m m E− = − =

��� ����2
�� ����%��� 
���
�
��
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!!� A�
��� ����%�	� 
�
	��� 2�� ��(������ ���	
����
� 	�� ����� 
��(� �;��
�� ���	��	8�
2 2 2 2 4

0E c p m c= + .
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!"� ?� (	�
�
���� 
���	�	� 6�� ��(	��� ����� (m0= 0)� ��� 6�(�	��	 �� 
�� ��
� 	� �������� 2�� 	��� ��(�����8

mc
c

E
p == .
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!$� ���	������
����	
�
��6��
���β�2��γ�(��
���2�����	������6��	��
��6��
�������%�	�6����(	��1�����%�	�6����2
	���2�

��(�����������(	�
�
�������	
����
�����(�
���������2���
��	G�
����������
���
��
����%�	��
�����(���
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"�������� ��	�
���
�
��� ���
�����

�	��� �	� ����	������	

��
�-
�����
 %�)
 ��	
 .���
 %5)> /?@
 �

1.�C�
� 	�
��
	����
	6��6��
	��	�6��
���6����(	�
�
����
	��������2
�1��	���6��������������	�� ������	�1

��	��(���	�
	1�(��	
��	2��6���
���1�
����
� ��� �1 = 1,11 · 108 m · s–1
�2� �2 = 2,22 · 108 m · s–1 are valoarea

3,33 · 108 m · s–1. (…) 0,5 p

2.�<��	������6��
�6���	 ��R = 2 · 1016
��1�
	������6�(�	��	 �1��	���6��������������	��������	�1�
����
� 	

� = 2,6 · 108 m · s–1 în lungul unui diametru este 2π · 1032 m2. (…) 0,5 p

3.����	��	� 6��
��� ����%�	� 
���
�
��Ecin a unei particule relativiste, impulsul p� 2�� ����%�	� 6�� ��(	��
E0 este: E 2

cin – c2p2 = E 2
0. (…) 0,5 p

4. Notând cu c��	��	��	���
� ��� �������� 7����61�	

����	��	� a
�

 = d

d t

�
�  a unei particule relativiste cu

masa de repaus m01� 
	��� �����2
�1� �	��� 6�� ��� ���������	�� ������	�1� ��5� 	
�����	� ����� ������ �� ��
	�
�� F
�

,

�����
	
�� (���	���
� (��(��6�
��	�� (�� 6���
��	� ��
� ��� �	���
�
� , este: a

�
 = 

2

2
0

1
F

m c
−

�

�

. (…) 0,5 p

���
��
:

 �
�����
 $��
$��* A?@
 �

1.� ���	��	� 6��
��� �	�	� 6�� ��(	��� m0� 2�� �	�	� 6�� ��2
	��� m� 	� ����� (	�
�
���� ���	
����
�� 
	��� ��

6�(�	��	 �� 
�� ��
� 	�
�
� 1� 7�� �	(��
� 
�� ��� ���������	�� ������	�� ��
�8 1,0 p

A. m2
0c2 = (c2 + �2)m2; B. m2c2 = (c2 – �2)m2

0;

C. m2
0c2 = (c2 – �2)m2; D. m2c2 = (c2 + �2)m2

0.

2. ���	��	�6��
���
��(���6����	���τ0 al unui miuon μ�6�
�����	
��7�����
�����7��
	��������
��7����(	��

2��
��(���6����	���τ al acestuia înregistrat de un o5����	
����	���6��
	��������������6�(�	��	 ��
����
� 	


���
	�
��
�
�  este: 1,0 p

A. τ2
0c2 = (c2 + �2)τ2; B. τ2c2 = (c2 – �2)τ2

0;

C. τ2
0c2 = (c2 – �2)τ2; D. τ2c2 = (c2 + �2)τ2

0.

3. ���	��	�6��
������%���	�L0 a unui etalon de lungime AB1�6�
�����	
��7�����
�����7��
	��������
�

7����(	���2�����%���	�L�	�	
��
����
	����7���%��
�	
��6������5����	
����	���6��
	����
	���������6�(�	��	 �

�� ��
� 	� 
���
	�
��

�
� 1� 7�
���	
�� 
�� "M°� �	��� 6��AB, este: 1,0 p

A. (4c2 – �2)L2
0 = 4c2L2; B. 4c2L2

0 = (4c2 – �2)L2;

C. 3(c2 – �2)L2
0 = 4c2L2; D. (4c2 – 3�2)L2

0 = 4c2L2.

4. ���	��	�6��
����	�	�6����2
	���m a unei particule relativiste, viteza 
�
� 1�����	��� ��
	�
�� F

�

1�
	��

	
�����	 �� 	��(�	� �	� (�� 6���
��	� ��
� ��� 	
��
��	� 2�� 	

����	��	� a
�
� ��(���	
�� (	�
�
����1� ��
�8 1,0 p

A. mc2 a
�

 = (c2 – �2) F
�

;   B. m�

2 a
�

 = (c2 – �2) F
�

;

C. m(c2 – �2) a
�

 = c2 F
�

;   D. m(c2 – �2) a
�

 = �2 F
�

.



�� � ! �"#� $����	� ���
��� �	���� �� %  ��

"""�� "� ���� ������
�� ���
���# �$%� �

1.� ��
�,��� �
� �
����� �� ��
�� ��������
� �
����'���
� ���
�� ���
� �
� ��� �
�
�
������ ��
������� ��
� 
�
�,��

���
���
 5�4) !
: ���	
��	
� �	�������� 5�;)
GeV

c
(unde c este viteza luminii în vid), are valoarea:

1,5 p
A. 0,90 GeV; B. 0,95 GeV;

C. 1,00 GeV; D. 1,90 GeV.

2.�<�����
��
�������������
����	��
.
����	��
������	�������������
�����
������
�����������
����	���

�
��
�����m01 = 3 · 10–27
�=,���'6���	�����
�	�����
�*�
�
�	����
�����$����
�
�
��������
������ℜ+��
�4�>5?

����	���	��
���������
���������
����	�����
��
�����m02 = 4 · 10–27
�=,�������
�����
���������
�
�
��������ℜ,

este:
1,5 p

A. 7 · 10–27 kg; B. 8 · 10–27 kg;

C. 12 · 10–27 kg; D. 14 · 10–27 kg.

�
��������� �������� I. 1. A; 2. A; 3. F; 4. A. II. 1. C; 2. C; 3. D; 4. A. III. 1. B; 2. B.

��������	 ��
����
�

1. �������
�
��
����,�	
�"@����"3@3�*��
����
������������
�'
�
�
��� ��+�����������
�
�����
��
����
� 


����� ���
� �
� �
�
������ �
� ���
����� ���� ��	��
�� ��� '��
 �� �
����'
�
�

� .

A�����
�'����� ���
� �
� ���
�"@�
��
� ��� �
����� ���
,����
� 
� ��� ���	�	
��� ���� ��������� ���� ��,�� 4���

&��
� �6�� ��	�����
�'������� '�� ���
,������ ��������� ���� ��,�� 4��B

Rezolvare:
Deoarece etalonul A'B'� �
� �
����
� 
� în raport cu observatorul solidar cu etalonul AB� *�� �
���

���,�	
�������
�
��
�L0), acest observator va înregistra o lungime����
	����
�L�	���	��
���etalonului A'B':

L = L0

2

2
1

c
− �

.

Durata Δτ ������
�
.��
	����
��@3����
,	
�������"3@3�'���C��,
������
�����
.��
	��
����@����
,	
������

"@�va fi: Δτ = 0L L−
�

 = 0L

�

2

2
1 1

c

⎛ ⎞
⎜ ⎟− −
⎜ ⎟⎝ ⎠

�

���� ���
���
���
� ,�����
 ����
� ��� ��	
���
� ��� ��,�� 4�c.

2. 0�� �
�
�
�������� ��
������ℜ, particula� �
����'���
�A� �
� �
����
� 
� ��� '��
 �� ��������
�
�

� � *
,��
� ��

)�5?� c)�� �
� ���
����� ��� ��� �
����� �.
��Ox ��� ��������
� �
����'���
 B� �
� �
����
� 
� ��� ������� xOy� ��� '��
 �
��������
� u

�

� *
,��
� ��� )�?)�c)�� �� �
�
�� ���
���
� ���
� ��,D����θ = 60° cu axa Ox.

-�,�� 4�

*�+

*�+

*�+



":������� ��	�
���
�
��� ���
�����

În refere���	����(��(����	��(	�
�
�����A1�
����6�����	;����O'x', O'y', O'z' respectiv paralele cu Ox, Oy, Oz.
C����%3�� �	
��6���
��	�6����2
	���	�(	�
�
������'� 
��	;	�O'x' ?�#	�����
��������	���
� ���(	�
�
����

>� �	���6��<I

Rezolvare:
A�� ���������	���� ℜ1� (����
������ ��
� ��� (	�
�
����� > pe axele Ox, Oy� 2�� Oz sunt (fig. 2):

ux = u cos θ, uy = u sin θ� 2��uz = 0.
�����
��������
� ���(	�
�
�����> pe axele O'x', O'y', O'z'�����5�����olosind����	������6��
�	������	���	��

(����
�������vitezei:� �5�����8

u'x = 

21

u cos
u cos

c

θ −
θ−

�

�

, u'y = 

2

2

2

1

1

u sin
c

u cos

c

θ −

θ−

�

�

2��u'z = 0.

De aici� �� ��
� expresia tangentei unghiului cerut:

tg θV = y

x

u

u

′
′

 = 

2

2sin 1

cos

u
c

u

θ −

θ −

�

�

.

Cu valorile numerice 6��� �����1� �5�����8� u'x = 0� 2�� u'y = 
5

5

c
:� �� ��
�� 
�

��%3����θ' este de 90° (viteza u
�

'� ��
�� �����
	
�� (	�	�el cu axa O'y').
,�����	���
� ��� ���	
���� 	�(	�
�
�����>� �	���6��(	�
�
��	�<��	� ��8

u' = 2 2 2
x y zu u u′ ′ ′+ +  = 5

5

c .

(*) 3. P��
�����(	�
�
�������	
����
�1���
�� cu x��	(��
���6��
�������%�	�
���
�
� Ecin�2������%�	�6����(	��

E0: x = 
0

cinE

E
.

*;(���	��1� 7�� ���
���� 6�� x: a) factorul relativist γ = 
2

1

1 − β
; b) expresia γβ; c) raportul β = 

c

�

.

<(��
	���8�x = 1.

Rezolvare:

a) Scriem: x = 0

0

E E

E

−
 = 

0

E

E
– 1 = γ –1, deci γ = x + 1� N� !�

Aplicând teorema lui PITAGORA în triunghiul dreptunghic din fig. 3, deducem
succesiv:

5�9γβ = 2 1γ −  = ( 2)x x +  = 3 � 1,73;

c) β =
( 2)

1

x x

x

+
+

 = 
3

2
� 0,866.

(*) 4. C	�
��	����	(��
���6��
����	�	�6����(	���m0�2���	�	�6����2
	���m a unei particule relativiste libere,
când se cunosc ����%�	� 
���
�
��Ecin� 2�� ��(������p.

Rezolvare:
Utiliz���rel	��	����	
����
������%�����(���8�E2 = c2p2 + E2

0�2����������	�	�6��6�������	�����%����
���
�
�8

E – E0 = Ecin.

.�%�� !�

.�%�� "�



"4 �������������	� ���
��� �	���� �� �����

�� ��
�8 c2p2 = E2 – E2
0 = (E – E0)(E + E0) = Ecin(E + E0), E + E0 = 

2 2

cin

c p

E
, 2E0 = 

2 2

cin

c p

E
 – Ecin,

2E = 
2 2

cin

c p

E
 + Ecin:� 7�� ����2�
1� �5������

0m

m
 = 0E

E
 = 

2 2 2

2 2 2
cin

cin

c p E

c p E

−
+

.

�9�������� -��(�	
��6	�2������������%����
��
�8����	��	����	
����
������%�����(����E2 = c2p2 = E2
0�	6��
�

����
�	��	� ��
��(��
	��8� E, E0� 2�� cp� ��(�� ��
�1� ���(�

��1� �(�
��� 	� 2�� 
���� 6���� 
	
�
�� 	��� ����� 
����%3�
6��(
��%3�
� �fig. 4).

0m

m
 = 0E

E
 = cos θ = 

2

2

1 tg
2

1 tg
2

θ−

θ+
; dar sin

cp

θ  = cp ctg θ + Ecin ,

astfel încât putem scrie:

cinE

cp
 = 

1 cos

sin

− θ
θ

 = 

22sin
2

2sin cos
2 2

θ

θ θ  = tg
2

θ

2�� �� ��
�� ���6�	
� 	
��	2�� �;(������ 
	��	�� 7�	��
�.

(*) 5.9?� (	�
�
���� ���	
����
�� 
�� �	�	� 6�� ��(	��� m0 ��� 6�(�	��	 �� 
�� ��
� 	� 
���
	�
��
�
�

�
� �	��� 6�

���������	���� ������	��ℜ1� 2�� 
�� ��
� 	�
�
�

!
� �	��� 6�� ���������	���� ������	��ℜ2 care are în raport cu ℜ1 viteza 

�
� .

<��
	��� 
�� c2p2
1 – E2

1 = c2p2
2 – E2

2 	��� 	
��	2�� �	��	��� 7�� 	�5���� ���������	���

R. <(��
��6� ���	��	� ����%�����(���1� �5������� 
�1� 7�� ���
�� ���������	�� ������	�1� expresia c2p2 – E2 are
valoarea –m2

0c4.

�����	�	� ������	

1. ���
��� 
����
� ���1 d��	
	� 
����	
�
�� 	������ �������� ���6�5��	 �� 7�� �	(��
� 
��6��	
	� �	�(��(���I

R. ��= 0,866 c = 2,6 · 108 m · s–1.

2. @��(�
�	
�6��	����A0 (reprezentat, de exemplu, de patru protoni) ���6�(�	��	 ��
����
� 	�� = 0,866 c în
raport�
������5����	
���������	��?��#�������	���6���
	��	��	��	�	�����	
��
���(�
�	
������	
��6���5����	
�����?I

R. -�� ��6�
�� �	� G���
	
��

(*) 3. *;(���	�� raportul dintre masa de repaus m0� 2���	�	� 6����2
	���m a unei particule relativiste
libere, când se cunosc ene�%�	�
�
	���a particulei E�2����(������acesteia p��'�6�
	���2������
��(��
	���%����
��
��

R. 0m

m
 = 

2 2

2
1

c p

E
− .�C� ��(��5���	� �� ���	
��4: 0m

m
 = cos θ = 21 sin− θ , sin θ = 

cp

E
.

(*) 4. ,	�	�6����2
	��� 	������(	�
�
���� ���	
����
��6������6���	�	 de repaus a acesteia cu x = 200%.

Care este valoarea raportului 
c

�

 = β?

R. β = 2

1
1 −

γ
 = 

( 2)

1

x x

x

+
+

 = 0,943.

(*) 5. Masa unui electron este m1� 
��6���� �����2
����������
����
� 	��1� 2�� ��� ��6�
�� �	��MY�6��

m1� 
��6� ��
� 	� ��� ��6�
�� 2�� �	� �	� �MY�6�n �1. La câte procente din m1 se va reduce masa electronului
când viteza se reduce la 25% din �1?

R. 46% m1.

.�%�� $



"=������� ��	�
���
�
��� ���
�����

(*) 6. 4������
��(	�
�
���� �6��
�
�1� 
���	�	� 6�� ��(	���m0� ���
	��1� ���
� 	

����	
�� (���� �	� ��
� 	

� = 0,866 c. C����6����(	�
�
�������
��
���
�
��
�	�1�������6���	�
��(	�
�
����
���	�	�M:�����%�	����5��	
�

7�� 
������ 
��
������ (	�
�
������� ��(�� ��
�� �MY�6��� ����%�	� 6�� ��(	��� 	� ����	� 6��
��� 
���� 6����(	�
�
����

#	�
��	��� �	(��
���

02

M

m
.

R. Se aplic�� ��%�	� 
����������� ����%���� 2�� ��%�	� 
����������� ��(�������; �� ��
�8�

02

M

m
 = 1,75 > 1.

7. .���6������������
� E1�2��)2�
	���	����
���	���6�����������	�ul� ������	��ℜ) în punctele P1(x1, y1,
z1), respectiv P2(x2, y2, z2) la momentele t1, respectiv t2��#����6�������� 	�
� ���������	�� ������	��ℜ'1� 
	��
��� 6�(�	��	 �� �	��� 6�� ℜ� 
�� �� ��
� �� 
���
	�
�1� �����
	
�� (�� 6���
��	� 2�� 7�� ������� 	;��� Ox (axele
de coordonate sunt respectiv paralele cu axele alese în ℜ1� �	�� �	������
��� �����	�1� t = t' = 0, O coincide
cu O').

<��
	���
���;(����	�s = 2 2 2 2 2
2 1 2 1 2 1 2 1( ) ( ) ( ) ( )x x y y z z c t t− + − + − − − �	�������� 
	���
�	
� în ℜ'

6	
�� ��� 
����6�����	�	5���� 
�	����������� LORENTZ.
#�� ��
��(��
	��� %����
��
�� (�
���� 6	� �;(������� s?

R. Z����6� ��	�	� 6�� �	(
��� 
�� ��
� 	� �������� ��
�� ���	��	�
�� �c' = c)� 2�� �
��� ��6� 
�	�����������

LORENTZ1� �� ��
�� (���� 
	�
��� 6���

� 
�

s´ = 2 2 2 2 2
2 1 2 1 2 1 2 1( ) ( ) ( ) ( )x x y y z z c t t′ ′ ′ ′ ′ ′ ′ ′− + − + − − −  = s;

	
�	�
�� �;(������ ��(�� ��
�� intervalul relativist� 6��
��� 6���� ��������
�

�(	���-
��(��	��� 6��
����� �������� 
�� (	
��� 6���������� �
���� �(	��	��� 2�� ��	


��(��	���� ��	%��	
� 6�� MINKOVSKI, 	2	� 
��� ��� (�	
�� ������� 7�� 6�	%�	�	� 6��

��%��5��?5����	���
�1�7��	
�	�
��6�	%�	��1�	;����x'�2��ct'�����	�����
�(��(��6�
��	��

��	�(�� 
�	�	�
�1� 
�� ���
� �%	�� 7�
���	
�� �	��� 6��5���

�	��	� 	;����� ��

	�%��	���x
2�� ct:� 	
�	�
�� 5���

�	��1� 	���6� �
�	��	� x = ct,� ��(�� ��
�� ������� ����� �	 �� 6�

�������������6������%���	�	;���x, în lungul acesteia, la momentul t = 0. Paralelele
la axe, duse din E1� 2�� E21� 6�
������� 
���6��	
���� �(	����
��(��	��� 7�� ���
	��

���
��� 6�� 
���6��	
��

Am reprezentat o dimensiune��(	��	���2� dimensiunea temporal� (ct sau ct'
sunt lungimi).

(*) 8. <��
	���
��(��
�����(	�
�
���� ���	
����
��
���	�	�6�� ��(	���m0 ��
���	�	5���� ���	��	8�

F

m

�

 – a
�

= f
�
� , unde f ��
�� �� �;(������ (�� 
	��� 
��5���� ��� �� 6�
�����	���

R. ��%�	� ���6	���
	��� 	� 6��	��
��� se poate scrie: F
�

 = 
d

d

p

t

�

 = m a
�

 + 
�
�

d

d

m

t
1� 6�� ��6�� �� ��
�� 
�

f =
1

m

d

d

m

t
��*��

���6�
	�
�����1��� ��
�8 f = 2 2c −

�

�

d

d t

�

��,�����	�
d

d t

�

���(�� ��
��	

����	��	�
	�%����	��

	� (	�
�
�����

(*) 9. ?� (	�
�
���� ���	
����
�� ��� 6�(�	��	 �� 
�� ��
� �� 
���
	�
�:� ����%�	� �	� 6�� ��(	��� ��
��E01� �	�

����%�	�
���
�
����
��6��n �����	���	���6�
�
��	��	��	�(��
	���	���5�������6	
��	���������(��
���
	�
��

������	� 
�	��
�1� �����	
����
��� #	��� ��
�� �;(����	� ����%���� 
���
�
�� 	� (	�
�
����� �
	�
��	
�� ���	
����
�I

R.
1

4
 Ec ( )4 8n n n⎡ ⎤− + +⎣ ⎦ .

.�%�� �
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Alexandre-Edmond BECQUEREL��������	
���

�
���HERTZ�������

��� ��������� ��� ����� ��� ���������� ������� �� �
�
������� ����� �
� ��� 

��� ���
��

� ������
�����!� �������� ��
��� �������

"� fenomenul a fost
denumit efect fotoelectric extern"� �������


� ��
	
� ��
�� 
��
�


fotoelectroni.
Pentru a studia acest efect s-a realizat caracteristica intensitate

–tensiune a unui tub electronic (numit ������!� ��
����
�� �

��#�


����
� ��� ��
���� ���� �� ���������� ��

� ����� ��� ������ ������ ���
��

��

������
��������
����$
�

���
���	
���%
����
��������&
'�catodul���������

�������
����������

��������
�
������
��

����()�

�
��
����	
�anodul
����� ��������&�� �����������


*

Alura caracteristic

� 

��
�
����#��
�
�
�� ����� ���� 

�
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�
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�
�
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�����!� ����	
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��
�
������ ����
����
� ����������
�� ��������� ����#

�������

������
	
����������������
��
����
��+
���

��
���������
�
���"

��
���� �� �
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�� �����
�� ��� ���
���� �� ��
�
�
�



�����!� 
��
��� ��
�
�
�� ��� �������� �U = – USTOP). Pentru valori
pozitive ale tensiunii U��

�����
���	
���������������������

��
�
�����

��������
����
� ��

+�� �� �������� ��� �������
�!� ISAT.
.�
���� �� ����
�
� ��+
��� ��������
� ����������
�!� ��� �������� $


�
��������
�
�

�

��
�
����������
����
�����������
��ISAT�	
���
�
�
��

�����������USTOP.

/������� ����������
�� � ���
*

0
+*� ,*�� 1
���� ��� �
�� ��
���� ����
��

��������
� ����������
�� � ���
'� ������

��
��2���
!� ������� 	
� �� ��������
��
��*

�����	
���

��	
��
���
�
�

���,34�����!� �
&
�
�
� ���
��&*

���	�������
������
���

���5�4���6�!� �
&
�
�
� +����
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�
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�� ����
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�������
������� ���
��
����

��
� �(;</=-!� ;>(=<� 	
� 0?/-=/:�*� -�� �����
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pozitive;
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�� �b3 ≠ b2 ≠ b1 ≠ b3): graficele dreptelor sunt
paralele între ele.
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Efectul fotoelectric extern se produce aproape instantaneu.
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Ecin, max = eUSTOP;
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• Energiile electronilor, expri-
mate în joule, au valori mici (de
ordinul 10–18
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1 eV= 1,6 · 10–19 J.
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E0 = m0e c2 = 511 keV;
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ε = hν.
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εf = hν.
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cu ajutorul ipotezei lui EINSTEIN a fotonilor.
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εf + E0 = E, pf = p

sau

hν + m0c2 = mc2,
h

c

ν
 = m�.
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m(1 – β) = m0.

K

%
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m0 = m(1 – β2)1/2
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m(1 – β) = m(1 – β2)1/2

sau
β(1 – β) = 0
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ISAT = eeN

tΔ
 = fe N

t

η
Δ

; (2.1)
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Φe = 
E

tΔ
, (2.2)
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������ ��� �
��� �� energia unui foton:

E = Nfεf = Nfhν. (2.3)
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ISAT = eeN

tΔ
 = fe N

t

η
Δ

 = 
e E

h t

η
ν ⋅ Δ

 = ee

h

ηΦ
ν

,

��� �
��� ��&����'

ISAT = ee

h

ηΦ
ν

,

în acord cu prima lege a efectului fotoelectric extern.
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εf = Ecin + L + ΔE, unde:
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Ecin = εf – L – ΔE.
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���

��
����� 
����� �����������

���

��� �
� ����� ��� �����
�'

max
cinE  = εf – L = hν – L.
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hν = max
cinE + L
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���� ����� ��&
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�Ecin = 
2

2

m�
 = hν – L – ΔE�!� ��
���� ��� �������� ����������
�� � ���


��� ��� �������� �����
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����
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hν – L ≥ ΔE ≥ 0.
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�
�������������
�� ���	
��������


���%
���
��+
���� 
�������
��

$
� 

���
�������������
!�Emax, astfel $
�%�'

ν ≥ L

h
 = νprag.
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����������������������%�������������
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��
����������
���������%�����
��
�����������������+!���������
��
��

�
�����
������������������� �����
��L este diferit pentru metale diferite),
în acord cu a treia lege a efectului fotoelectric extern.

0�����
��� ��� ���+

�������	
�

Deoarece ν = 
c

λ
, se poate

scrie:

h
c

λ
≥ L sau λ ≤ hc

L
 = λprag

!

������� $
�%�� ��� ������ ���
�� ��

/0/� 
�� ������ ����� ���� ���%�

����� ��
+
���� ��� �
��� λ� �
���
��

���� 

�
��
��� ����� ���

���� decât� �� �������� �� 
��

���������
��
��� �
�����
� ������'

λprag = 
hc

L
.
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�
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� ����#
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�� ���������!� $
� ��������

�
&
�
�!���
+
��������
������	��

��� ��� violet spre 
��
).
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�������� ����� �� ��������
� ����������
�� ������

1�������� �����&

��� �
��

���� �
�
� ����
� ��� ����
� �
��&�� ����

�����������!�c = 3 · 108 m/s) cu un electron interior al unui metal,
procesul are loc într-un timp ������� �����!� �����
�� 

���
��
��!� �	�
���� ���
��a patra lege.

�

 
%�

 �����	�,

1���� ���� ��� ��&��!� ��+
��� /0/� ���� �
� $
������� ������� �	��

��
�
���%
�� 
����&�� ��
� EINSTEIN (1905) asupra naturii fotonice a
luminii.

?��

��
� ��� �� ���
��
�������
���	��� es��� �������� �

� fotoni
de �������� ���
���� 	
� ����������� ���
��.

1��
+��!� ���

�� ���&

��!� $
� �
���� ��
���
�� ���	�
��
�����

���
������� ����
�#�
���!� �� 
������ �
�������
�!� 
��� $
� ����� ��
���
�

����� ����� /0/�� $	
���

������ 
������ ������������*

Aceasta înseam
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��!�������
�
����
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�
��� 	
� ����
����� �����!� ��� ������ ���������
��!� ���� 
����
�
�
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���

�
����!� ���
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�� �� �
�
����� ������ �!� ��� ��������� ����*
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�������
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�!�fotonii!������������
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�
��������
&������
����
�������� ����
��� ��
��+
�!� 
�����!� ����
�� �

��
��!� ���� ��

������������� ����������

� ������� ���
�� ������� +��
� $
� ������"� ������

����!� ����� ���� ��� ������� ����� �
��. De aceea, �
���
� ��
�� 
��
�


cvasiparticule.
A
������
�

�������

�����������

���������������


������
���
#

�
������� procese de ciocnire� 	
� �
� ��� ���� ���
��� ��+
��� �����
��
��

���
��
�
��	
�energiei*�1��!�$
������

������
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!�����
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������&�

$
����+�� ���� �
��+
�!� ��
� 
�� �����&�� ������ �
��+
�� �$
� ������ ��&

�
��

���� �


�� ��
���	� ����	���).
1�����������������������������
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���!��
���
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����

����������
�
���!� �����
�� �

���� �
��+
�� 	
� 
������ �
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εf = cp.

Din punct de vedere electric, fotonii sunt neutri. �=���%
�

����� ��� ������!� 
�� ���� ����� 

�
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�� ������
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 �����	�	�.

Energia εf = hν = 
hc

λ

���� mf = 2

h

c

ν
=

h

cλ
��� �����
�

Valoarea
vitezei �f  = c
în vid

Masa m0f = 0
de repaus

Impulsul pf =
h

λ
=

h

c

ν

'�
����

qf = 0
����	
���

0
+*� ,*�*
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RÖNTGEN����������������grafit, COMPTON�����������
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��&���!
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+
�������
����+��������������
��
�

�
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������
��
����%
������
+
�������
���mai mare.
Acest fenomen nu ������ �
� � ��
���� ��
�
���%
�� ����� 
�����

�
�������
�� �� ���
��

����X.
COMPTON�����
�������������procentul����
��iilor X������
+
���

����
�����
���������

������unghiul θ sub care se face observarea;
pentru θ�D�3Q� ���
��� ����
��&
�� înainte�!�
�� ��� $
��+
�����&�� ���
��


��� ����� ��
+
��� ��� �
��*

Efectul COMPTON� ��
���� ���
� $
� ���
��
�� ��
��	�
���� ��
+
�



��� �
��� �� �
�
� �����
�� �

� ���
��

���X incidente.
Reluând experimentul cu alte elemente, COMPTON� �� ��������

��� ���
��
�� ��
+
�

� ��� �
��� ���

��� ����� ��� �
+�
��� ��� �
��&
�!

�


�� ����������	�� ��� �����
���� $����	�
����� ��
+*� ,*5�*

N�������!� �� ����� ����� $
� ��
��
��� 	
� ����
�
�� �
or electroni
rapizi (cu energii mari!� ����� $
� �
����&�� $
� ����

��� relativist).

.�
������� ��
�����
���
��!���
�
�����!���
�����
����&�
���


/INSTEIN,�������
��

���X������&

����
�flux de fotoni������

������
�#

��&�� ��� �������


� ����� ������ (practic liberi) din atomii probei.

1���� ���� ��� ��&��!� �
� electron liber nu poate absorbi un
foton"� ��
����� �������	
� ��
�
����
��!� �
� electron liber� 
�� �����


�
� ��� ��
��� �
� ����
*

1��!� ��
�
���%
�� ��� ������� �������� ��� ������� ��� �
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��� �
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������������������� ���������
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�����
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�������� ���� �
��+
�
� 	
� 
��������
'� �������
��� ��������� ����
��

�����
��+
��εf0 = hν0�� 	
� ��
��!�������
� 

���������� �
���� �������

�����!� �
�alt foton cu energia εf = hν.
1����
�����������
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�!��������
�������������
��+
���
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Ecin������
��
��!���������
�������
��+
��������������!�m0c2; de aceea,
efectul COMPTON� �����
�� ��� �
�� ������� relativist.

Aplicând �����������
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������
�����$
���+���
�������!���&����
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�
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��'

ε0f = εf + Ecin!� ��
���hν0 = hν + Ecin sau 
0

hc

λ
 = 

hc

λ
 + Ecin.

În starea �������� avem:

a) un foton cu energia εf0= hν0� 	
� 
��������pf0 = 
0

h

λ
 = 0h

c

ν
;

b) un electron în repaus, cu impulsul nul� 	
� �
��+
��m0c2.

În starea� ������� avem:

a) un foton cu energia εf = hν� 	
� 
�������� pf =
h

λ
 = 

h

c

ν ,

orientat la un unghi θ� ����� ��� �
����
�� ����
���
� 

�
��
�"
b) un electron rapid, cu energia mc2

�	
�
��������p = mv, orientat
la un alt unghi ϕ� ����� ��� �
����
�� ����
���
� 

�
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�*
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Δλ� D�λ� 4�λ
3
� D�Λ��� 4� ����θ�*
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Legea conser���

�
��������
����������
�' 0 fp
�

= fp
�

+ ep
�

.�.��
�����
�������������
��������
������������������ �������
�
��������

��
+*�,*6'

Ox:
0

h

λ
 = 

h

λ
cos θ + pcos ϕ, (2.4)

Oy: 0 = 
h

λ
sin θ – psin ϕ, (2.5)

Scriem conservarea energiei sub forma:

0

hc

λ
 – 

hc

λ
 = Ecin. (2.6)
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4@���
��
�� ��
+
�

� ��� �
��� �� ����
���
! Δλ,
4@�
��+
�� �

��
��� �� �������

���� ��� �����!�Ecin,
4 tangenta unghiului ϕ, tg ϕ.
1��
+��!� �����
�� ��� �

��� ������ ��� �����
�� �����
�
���� �

���

�
��+
�� �

��
���Ecin� 	
� 
�������� �������
���
, p (1.17):

Ecin · (Ecin + 2m0c
2) = c2p2.
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2

2
0

h

λ
 + 

2

2

h

λ
 – 

2

0

2h

λ λ
cos θ = p2; (2.7)
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�
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�� �,*J�'

2 2

2
0

h c

λ
 + 

2 2

2

h c

λ
 – 

2 2

0

2h c

λ λ
 = 2

cinE ; (2.8)

�


�@$
����
�������
���,*������c2
�	
����
�������������
���,*��'

2 2

0

2h c

λ λ
(1 – cos θ) = c2p2 – 2

cinE ; (2.9)

�
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� �����

��� ��*���� 	
� �,*J�� �������� �	��'

c2p2 – 2
cinE = 2m0c2Ecin = 2m0c2

0

hc hc⎛ ⎞−⎜ ⎟λ λ⎝ ⎠
; (2.10)

���@�

� �����

��� �,*��� 	
� �,*�3�� ��&����'

Δλ = λ – λ0 = 
0

h

m c
(1 – cos θ) = Λ(1 – cos θ), (2.11)

unde constanta Λ = 
0

h

m c
��� 
���	��� �
���������� 
���� COMPTON� �

�������
���
� 	
� ���� ��������� ,!6� R �3
–12 m = 2,43 pm.

��)��������*��+,-�+.
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Energia c
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Ecin = 
0

hc

λ 0

Δλ
λ + Δλ

 = 
0

hc

λ 0

1

1
λ+
Δλ

. (2.12)

0����

�� ��&�������� �,*���� ��&����'

Ecin = 
0

hc

λ 0

1

1
(1 cos )

λ+
Λ − θ

. (2.13)
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tg ϕ = 
sin

cos

p

p

ϕ
ϕ

 = 

0

sin

1 cos

θ
Δλ + − θ
λ

 =

0

sin

(1 cos ) 1

θ
Λ⎛ ⎞− θ +⎜ ⎟λ⎝ ⎠

 = 

0

ctg
2

1

θ

Λ +
λ

.

Efectul descoperit de COMPTON� ��� ������	��� $
� ����

� �����

��� 
����&�� ��
� EINSTEIN� ������� 
����

� ������������� �� ���



"


�� ������ �
� � ��
���� ��� ��&�� 
����&�
� ������� 
����

� �
�������

� �

���



!���������������������
��

����
��&������������
�����
��������	


��
+
��� ��� �
��� ��� ����� 

�
��
��� ���
����� ��

�
�
���


HUYGENS-FRESNEL).
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(�����	���� ��������� ����
�� ��	����  ��)	� ��� ��������� �� ���
�����
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��	�*

1. Efectul COMPTON poate fi explicat bazându-ne pe ipoteza
asupra naturii _________________ a luminii.

2. )��
��
�� ��
+
�

� ��� �
��� �� ����
���
� $����	�
��

_______________� ��� 
������ ����
���� $����	�
����
*

3.@)��
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�� ��
+
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� ��� �
��� �� ����
���
� ����� �� 
��� �%
�

$����	�
����� �� ����� ���� ��� �
+�
���θ = __________.

4.@1���� ���
��
�� ��
+
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� ��� �
��� �� ����
���
� ����� �+���� ��

��
+
��������
���COMPTON!� $����	�
������������ ���� ����
+�
���θ =
__________.

5. Unghiul sub care a fost �
��&����
�����
���%
����
+
������

�
����+���������
+
��������
���COMPT>=!�����������
������ron care
a fost deviat cu ϕ D� �,3Q� ����� ��� �
����
�� ����
���
� 

�
��
�!� ���

���������θ = __________.

6. /
��+
�� �

��
��� �� �������
���
� ��� ������ �����

�� �

��#�
�
��&
��COMPTON, în car�����
��
����
+
�

�����
���������
���
�

�
#

��
����������+���������
+
��������
���


�
���!������&

����
������
�

���_____ % din energia fotonului incident.
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� Deoarece� ���
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��������
��
ei inci-
dente este 2Λ � 5 pm, efectul
COMPTON nu poate fi observat
decât pentru radia������+ ��������

��
+
��� ��� �
��� ���� ����

��

$
�

���������������10-11 m �%
�
��� 10-8 m!� ��
�� de la 10 pm
�%
�� ���10 nm).
� Efectul 
���������
���
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�
��
����� $����	�ierea se face pe
protoni, deoarece, în acest caz,
lungimea� ��� �
�� COMPTON

(Λ=
0 p

h

m c
) ar avea valori cu trei
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ondulatorii� 	
� �����corpusculare ale microparticulelor sunt chiar cele

postulate de Einstein (E = hν 	
�p = 
h

λ ) prin ipoteza fotonilor.
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pentru viteze ale microparticulei mai mici decât viteza luminii în
vid.
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Observarea detaliilor cu microscopul electronic se face pe
ecranul fluorescent al acestuia sau pe filme.

De aceea la microscopul electronic nu se pot observa culori!
Fotografiile care apar în culori au fost colorate ��
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�
�
��!�ulte-
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fapt care nu putea fi explicat conform modelului BOHR.
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Δx · Δpx ≥
2

� Δx · Δpy ≥ 0 Δx · Δpz ≥ 0

Δy · Δpx ≥ 0 Δy · Δpy ≥
2

� Δy · Δpz ≥ 0

Δz · Δpx ≥ 0 Δz · Δpy ≥ 0 Δz · Δpz ≥
2

�

?����

����

������� se numesc 
����������� nedeterminare (sau

��������� de incertitudine) ale lui HEISENBERG.

1�������
��!� ���������������
������
��ΔE� ���

���� �������#

������ energiei E a unei p���
����� ������� $
��#�� �
��
��� ������ ����

��+������������� τ $
����������
�������������$
����������������
��+��
��

��

� ����� �����
�� ��� 
�������

���'� � τ · ΔE ≥
2

� .
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��� ��
��������!� $
���&��� ��������
�COMPTON,
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���� ������ ��� ��������� ����
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�� $
�������� ��� �� ������� ��
� ����� ���%�� τ; $
� ������ ��&!
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�� ������ �
!�principial!� ��
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�����	
� ��� EINSTEIN; ca urmare, putem spune ��� ������
�
��
��������� $
� �
&
��� �� �������� ��� �� ���
���� ��������	�, fizicienii
revenind la idei mai vechi, dar pe un nivel superior.
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i (YOUNG)
��33�4�����������
���
���
�������
��
�
��������
�
�+����PLANCK);
1905 – explicarea efectului fotoelectric extern (EINSTEIN);
��3�� 4� ����
�� ������
���� ����
�
��� �EINSTEIN)
��3�� 4� ��

�
�
��� ��� ����

���� �RYDBERG-RITZ);
1912 4 experimentele de� �
�����
�� �� ��&����� P� �)>=� LAUE�!

����
�� ������
���� ����
�
��� �DEBYE);
1913 4 experimentul FRANCK-HERTZ;
1922 4 experimentul lui STERN�	
�GERLACH (spinul electronic);
1923 – efectul COMPTON;
1927 4 experimentele lui DAVISSON�	
�GERMER asupra difra��
�


�������

���"

1928 4 experimentele lui G. P. THOMSON asupra �
�����
�
���&����
�����
��*
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1900 - Max PLANCK���
���
����&������
�oscilator armonic ��
������
���ν nu poate emi�������������
��
��+
�����%����

�

������
��

�
�����
�
���
��
������!�
��
���cuante!� �����
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�����
��+
�����
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�� hε = ν ; constanta h!�
��
�����
���
��

��
�PLANCK, apare ca o unitate 
��������������
�
����
��+
��× timp).
Pe baza acestei ipoteze, PLANCK� ���	�	��� ��� +�������� ��+��� �������

��� �
���
���
�� ���������� �� 
��������� 	�
����.
1905–1906 - Albert EINSTEIN introduce ipoteza fotonilor. Pe

baza legilor experimentale ale efectului fotoelectric extern (descoperit
de H. HERTZ în 1887), EINSTEIN���������&��������
������������+
��
��

����� ������
��� �

� ����

� ��� �
��+
�� hε = ν � 	
� 
������
h

p =
λ
!

����
���%
�� �����������dual� ��� ���
��
�
!�ondulatoriu-corpuscular.
1913 - Niels BOHR!� ��

� ������������ ����� ������� �������
!

���
�
�
������
�
����������

��������
�
���
�
�����
�$
������
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�2����


�������
!�� ��
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�BALMER (1885), RYDBERG�����3�	


RITZ (1908) privind seriile spectrale ale atomulu
� ��� �
���+�
� 	

����%
���������
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����� �������

���� $
��������� �����
� ��� �
�

�
�����
���� $
���+� ��� ��
���
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� ��
�PLANCK� ���
�
��
&���� �
2

h=
π
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1923–1925 - Louis Victor DE BROGLIE� ��������&�� ����
�� +�
������ �� ����
�����
� ���������#�
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1925 - G. E. UHLENBECK�	
�-*@9*@GOUDSMITH�
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��������&�� ������� ��������ZEEMAN.
1924–1926 - Wolfgang PAULI, Enrico FERMI, Paul Adrien Maurice DIRAC!� ��� ��� �� ������ 	


Satyendra Nath BOSE�$�����
�����9�����@EINSTEIN��������������������������&������
��statisticilor cuantice!
����� +����
��&�� ��� ��� �� ������ electronii� 	
!� ��� ��� ����� �����!� fotonii. Indiscernabilit����� ����
�������
���
�
�������	�&�������&����

�
�
���
�
��
�
���

��
�������
�������!���
����%
��#�������+�������
������$
���

��

� 	
� ����
��
�
� �bosoni� 	
� fermioni). Este formulat principiul de excluziune al lui PAULI.
1925–1926 - Erwin SCHRÖDINGER� 	
� 8erner HEISENBERG� ��������&�� ������
������ ondulatoriu� 	
!

�������
�!�matriceal���������

�

����
�
��!���
%
����&����������
�����

"�������������������������������
���

��
�� echivalente.
1926 - P. A. M. DIRAC� ��������&�� ������
����� +�
����� �������

�

� ���
�ice.
1926 - Max BORN����������

��������������
��
�
�����
��������
���������probabilistic!��
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1927�#�/ ���
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�����������
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�%
����7*@J. DAVISSON�	
�:*@�*@GERMER


��� ���
� ���7*@.*@THOMSON� 	
�9*@REID� ��
�
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���� ����
�� ��
� 1/�BROGLIE.
1927 - W. HEISENBERG� ������� �����
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1. Emisia de electroni���������������������������
����������
�
����
�
����
��

����������+
��
���

�
��
��

��� 
���	��� efect fotoelectric extern. Fenomenul a fost observat de Heinrich HERTZ în anul 1887.

Pag. 28

2. Dispozitivul realizat pentru studiul efectului foto������
�� ��� 
���	��� �
���� 	
� ����� ������
�� �

��#�


���������
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��catod���������
����������

��������
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��
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��������������
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��anod
������ ��������&�� �����������


�!� ���

� �������&
� �


�� $
��#�
�balon vidat.
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3. Curentul foto������
�� ������ ��� ������ $
� �
���
�� $
� ����
��� ��
�
�


� � ���
����!� �����
��� ��� ���
� ��
���
��

!� 	
� ����
����&��
���
������������
�������
������ ��
�
�
�� 

������
��
��� ��
�
�
�����frânare
sau de stopare STOPU .
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4. Legile experimentale ale efectului fotoelectric extern sunt:
I. ��	����	�	����

��	
�
����	�����	
��������	

����� SATI ���	����
��	��
���
���������
���
�
�����
��	��

eΦ � ��� 
���������
� ����	
������	���� �������	��� ����� �
�������� ����	�
�� ν � ��	�� ����	��	��

II. Tensiunea de stopare STOPU ��
��	�������
��
��
��������
���������
�����	
������	�����������	������


�������� ��� ��
�
�� ���
��	��� ��� ����	�
��
eΦ .
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III. Efectul fotoele�	
�����	�
������
��
����
����������
��������
���������
�����	
������	�����������	�

ν � ��	��������
�� ��
� ���� �
���� ������ �
� �� �����
��������� pragν �� ��
��	�
��	���� �����

����	���

IV. Efectul fotoelectric se produce practice instantaneu.

Pag. 29

5. Legile efectului fotoelectric vin  �����	
�������� ��� 
����&��
����

��
�������

��� ���
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����&������

������� �����
��� � ���
��
���� ��

� ��
���
���� ��� 

�������
��� 	
� �
�����
�� �HUYGENS, FRESNEL).
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6. Pentru a explica legile experimentale ale 
��������� 	�
����, Max PLANCK a formulat, în anul 1900,
ipoteza cuantelor de energie, hε = ν  (unde h este constanta lui PLANCK�*�.�

���������
����&��PLANCK

pune bazele mecanicii cuantice.

Pag. 31

7. Conform ipotezei cuantelor!����
�����

��
�������
�
�������
�
�	
�������
��+
��$
�����discontinuu prin
cuante de energie hε = ν !� $
� ��
����
��
�� ��� ��
����
�� ����
��!� ��
����� ����
�� ���
����� ��� �
��+
�

�#��� ����� $
����� continuu.
Pag. 31

8. În anul 1905, EINSTEIN� ��������&�� ipoteza fotonilor!� ����2������� ����
�� �������explica în mod corect
legile efectului fotoelectric extern.

Pag. 31

9. Conform ipotezei fotonilor!� ���

�� ����� �������� �

� ���������
� ��� ���
��
�� 
��
�
� fotoni, care au

energia f hε = ν � 	
� 
�������� f

h
p =

λ
.

Pag. 32

�3* ?����
�� ����� � ��
��� conservarea energiei ��� 

������
�
��� �

���� �
� ����
� 	
� �
� �������
!� $
� ��&��
��������
� ����������
�� � ���
!� ��� ���
�� ���� �����'� cinh E Lν = + , unde L este �
�

�� �������� ��

��	
������ ��� �������
���
� �

� ������ 	
� �����&

��� �
��+
�� �


��� ����� �����
�� ������� �
�
� �������


��
���� ��� ������� ��� ������������������.
Pag. 33
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�'� prag

L

h
ν = .�9��������������������&

���������
���������

�� ���
��
�
� ����� ������ �������� �������� ����������
�� 	
� �������
��	�
��	���� �����

����	�
��������� ��
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� ���� ���
�
��� ���
��
�
*

Pag. 33

12. Explicarea legilor efectului fotoelectric printr-un proces de ciocnire între un foton�	
��
�electron, cu
respectarea legilor de conservare pentru energie�	
�impuls,���
�����������������������������������
��
�
!
����� ���� $
� �����	
� �
��� 	
� ��������� �
�������
�� �����
������ ��� ��
���
���� ��� ��	�
��
����� 	
� ��

���
�����).
Pag. 34
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�� ���������+
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��� ���� ��������������ondulatoriu-corpuscular!� ����� ����� ��
��
��
���
� �����
�

���
�
��� ��� ����
�
� ���
�
��*
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����
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��
��
����
�������� este efectul COMPTON!�����

��
����$
��
��&
�����
��

lor X (�	
���	�� ������	��
��

��	�
������������

��������+��
������ �����!���

�����������+���
��!������������

������
�
��$
����
��
���
��&�������
�
������
�
�����%
����
+
������

�
���λ mai mare� $
� ������� ��� ������ �� ���
��

����X incidente, λ0.

Pag. 35

15. Explicarea efectului COMPTON� ����� ���
�
��� ��� ��&� ipotezei fotonilor a lui EINSTEIN, aplicând legile
de conservare ale energiei� 	
 impulsului� ��
���� 

������
�
��� foton X – electron slab legat.

Pag. 35

16. În cazul efectului COMPTON, ���
��
����
+
�

�����
�� a fotonilor X sau deplasarea COMPTON����������

��� �������'

0
0

(1 cos ) (1 cos )
h

m c
Δλ = λ − λ = − θ = Λ − θ ,

unde ���
����

0

h

m c
Λ = � ��� 
���	��� ��
+
���� ��� �
���COMPTON a electronului: 122,43 10  m−Λ = ⋅ .
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17. Efectul COMPTON� 	
� �������� ����������
��nu� ���� �
� � ��
����� ����� ��� ���
��� 
������ ���� �
�������
�� �

���
��
�
!� 
���
%
�� ������� �
� ��������� ����� ��� ������
�*
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��������
�����������
��+
�
�	
���
��������
�����������

��	
�� ����

�����
����ene�+
���

��
��
�� �������
���
� ��� �����!� ������� 	
� ��
����unghiul ϕ sub care ��� �
� $����	�
�� electronul de recul.
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19. În 1924, Louis DE BROGLIE� �� � �

�� �����

��� 
����&�
� ����

��� �� ��
�EISTEIN ( f hε = ν � 	
� f

h
p =

λ
!� ����

���+����������
��
�
�� corpusculare ale fotonului, ε�	
�p de cele ondulatorii, ν �	
�λ) la microparticule,
care, conform ipotezei lui DE BROGLIE,� ��� �����
� ��� ��� ��������� 	
�ondulatoriu: unei microparticule,

de energie E� 	
� 
������p� 
� ��� ������ ����
�� �� �
��� ��� ������
���
E

h
ν = � 	
� ��
+
��������
���

h

p
λ = .
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20. Ipoteza undei asociate DE BROGLIE!����
�
������ ���
��
�������� ���
�
�������
�����
��	
����

�������
��

����������

���������������
�������
����'�
�����

!������

����*������
��DAVISSON�	
�GERMER!�����
�����&�

����������� ����!�ondulatoriu–corpuscular, al microparticulelor, realizând un paralelism cu caracter��
����� ��� ���
��
�
*

Pag. 38, 39

,�* B
�� ���
�
����� ��
�DAVISSON� 	
�GERMER!��������������
�����
�
������� ���
��
������� 
����&�
��
�����

����
����1/�BROGLIE, 
����
���
��	���������������������������
�
&�������
�����������
��������
�����������

!

���������
��������
�
�
���������$
�%����
+
��������
�������
���

02

h h

p m eU
λ = � �����
��$
���
��
��

��
���
�������
�����
�*�)��
�
������� ���
��
������������
�
�
h

p
λ = ���

�� ���
�
�����DAVISSON–GERMER

a confirmat ipoteza lui DE BROGLIE a undei asociate.

Pag. 40



'0�
������� ��� ������� ��
�����

22. O ���������� 
������
������
�����
�
��������

��������
��
��
��microscopul electronic!� $
��������
+
�
��

����
�������
�����������

�������������
���
��������

�����3!��
�!�����������
����������������
�����

��������������
���
��������
����������

��������
���$
������������
�������������
��!���
��������
��

��������
���� �
�������
��*
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,�* .�
���������������
�������
&
��!�����������������!�
��
�

�������
������localizare�	
�traiectorie�$	
��
���
��
���!�������� $
�%�������
����������
���� ����
������� ���� ��
��� $
������

���� ������������� ��
���
�*

>����������� ����
�� ����� �
&
������
�
�����&�����������/*�SCHRÖDINGER� 	
�8*�HEISENBERG, iar sistemele
fizice cu caracter dual� ������� �
� ��� ���
��� 
���� ����
�� ��� 
������ sisteme cuantice.
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,6* ?����
ile de nedeterminare (de incertitudine) ale lui HEISENBERG,� ����� � ��
��� ������� ��� valorile
coordonatelor�	
��
�������������
��

���
�asociate acestora nu pot fi determinate simultan cu precizie

oricât de mare, 
2xx pΔ ⋅ Δ ≥ �

,
2yy pΔ ⋅ Δ ≥ �

,
2zz pΔ ⋅ Δ ≥ �

 (unde Δx, Δy, Δz� 	
�Δ�x, Δ�y, Δ�z� �����&

��

impreciziile� ������

��

� ������
���
� 	
!� �������
�!� �� 
��������
� ����� �
����
�� ������ ��
��
�
�&�

��������
��
�
���proces
�
�� ��� ���

�
�� �
��	��� ���
���� �
������ ��� ��������� ������ 	
� �����&

��� ��
��

�
� criteriu� ��
���� �� ����
�
� ����� �
� �
����� ��� �������� clasic sau cuantic.
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��
 ��������
 ������	��

1. -���


��#���� ���
��
����������������������
����
�����
��
��
�������!��#�����

������������������
��
��

���
��+
�
��

��
����� 
����������������

���������
+
��������
��������
��
�
���
�������
���

�
�ente (vezi
figura). 1������
!�numai cu ajutorul graficului:

a)���
+
��������
���������+!�λ0;
b)������������

������ �����
������
�
��������
��

�����������L,

���
� ���
���
� ����
&
�� ������

��

� �������
� ��� � �����
�!� ������%
�

��&�����������

��� �����
��ul a) ����������

�����
�
&%
�� �����
�� $
����L
	
 λ0.

�������	

1

������
����
�EINSTEIN���&����'

0

0

1cin

hc hc hc
E L L

λ⎛ ⎞= − = − = −⎜ ⎟λ λ λ λ⎝ ⎠ .
a) Deoarece Ecin = 0 pentru λ = λ0; deducem λ0 = 0,4 μm;

b)� -�� ��������Ecin = L pentru λ = 0,5 λ0, astfel încât L = 3 eV. Dar, pentru λ0 = 0,4 μm,

34 8

6 19
0

6,63 10 3 10
 eV 3,1 eV

0,4 10 1,6 10

hc
L

−

− −

⋅ ⋅ ⋅′ = = =
λ ⋅ ⋅ ⋅

,��	���������
&
������
� 3,3%
L L

L

′−ε = = .

2. P�����������������������������
��������
�������
�����
������������������

����
�������
��!���

��
+
���� ��� �
���λ@D@533@
�*� .���
�
��� � ���
����� ������� ��������
� ���� p = �3��.�*�7�������
'

�C@7�
��
����
�� n a fotonilor din fascicul.
9C@=�������N1� ��� ����

���� ����� ���� ��� �� ���������� ��� ���

2
� $
��#�� ����
��*



'� ��������	
��

� ������� �

�
� 
� ����


�������	

Presiunea asupra peretelui es��� ��������� ���
��
�
� 
��������
� ����

���

$
� ����� �
��

�

� ��� ������'

p = 
F

S

Δ
�

 = fN

S
 · 

h

t
λ
Δ

 = fN

Sc tΔ
 · 

hc

λ
 = 

fN

V
 · 

hc

λ = n
hc

λ
;

��� �
�
� ��&����'�n = 
p

hc

λ
 = 2,5 · 1016

3

1

m
.

=�����������

�������������$
��
����������
�� pe ����������������@�2 este N1 = nΔV, unde ΔV este
volumul unei prisme drepte (sau al unui cilindru drept) cu aria S1 = 1 m2

�	
� $
���
����cΔt ����$
��
+����:

N1 = nScΔt = pS
h

λ
Δt = 7,5 · 1024 fotoni.

3. Calcul��
� 

��
�
������ ��������
����
����

�����

� 
���
������
�
���������� �
�
�� �:
������
�����
���
������
��

����������
���

197 10  Hzν = ⋅ , având fluxul energetic eΦ  constant, egal cu 1,5 W. Randamentul
cuantic η (���


�� ��� 
������� ����

���� ����� ��
�����&�� �������

� ΔNel raportat� ��� 
������� ����

���



�
��
�
 ΔNf într-un interval de timp Δt) este 0,05I*�1���� ��
+
���� ��� �
���λ
3
�de� ���+� ���� ��������

5,�� 
�!� ����� ����� ��������� �������
� ��� � �����
�� ��
���� :
S

�������	

A
��
�
��������������
����
��������������
fel

e NQ e N e E
I

t t t t h

η ΔΔ Δ η= = = = ⋅
Δ Δ Δ Δ ν

; dar energia E�������

��������

��+���������� ����
��+��
����

������
�'� eE t= Φ Δ !��	��������

���
ee

I
h

Φ= η
ν

*�=����
����&�����I = 25,8 μA.

:��������� � �����
�� ��������� ��� 0
0

hc
L h= =ν

λ
"� ��&�����:�D�0,38 aJ = 2,4 eV.

4. Pe un strat de cesiu (Cs) se trimite un fascic��� ��� ����

� ��� ��
+
���� ��� �
��� 500 nmλ = *

7�������
��
��&�������������
���
�	
���
�
�
�����
�����������������
��������
����&�!������������
���������+

��
���� 7�� �����
14

0 4,37 10  Hzν = ⋅ *� T�


�� ��� ��� ��
+
���� ��� �
��� 500 nmλ = � ���
��� ���� �
��� 
�� ��

��
�
�
�
������������
&������
�
��
��+

����3!�J R �3
-16
� C!���������
�
�������
��������������

���
��������

�������� ��
&��
�� �
&����*

�������	

1

� �����
�� ��
� EINSTEIN
max
cinh E L= +ν  sau 

2
max

02
hc m

h= + ν
λ

v
, deducem max 0

2h c

m
⎛ ⎞= −⎜ ⎟⎝ ⎠

ν
λ

v . Nu-

meric:
5

max

m
5,0 10  

s
= ⋅v *� N�
�
�
��� ��� �������� ����� ����� ���

2
max

2STOP

m
eU = v

, deci

2
max

02STOP

m h c
U

e e
⎛ ⎞= = −⎜ ⎟⎝ ⎠

ν
λ

v
. Numeric: USTOP = 0,67 V.

=������� ����

���� 
������
� ��������

� ��
&��
�
�vizuale: min
min 280

E
N

h
= =

ν
.

5. C�������
��
��&�������������

���������

�
������������������
�
�����
��������

��(Pt), pentru care
lucru�� ��� � �����
��L are valoarea de 5,29 eV, în cazul iradierii cu:

��� ���
��
�� ������
�����!� ��� ��
+
���� ��� �
���
1 150 nmλ = ;

��� ���
��
�� +���!�λ
,
� D� �� ��*



'��
������� ��� ������� ��
�����

�������	

a) /
��+
������
���
�������������� 18
1 1

1

1,28 10  Jf

hc
h −ε = ν = = ⋅

λ
; energia de repaus a electronului este

2 14
0 0 8,176 10  Je eE m c −= = ⋅ .� 1�������� �
��+
�� ����
���
� ����� ����� ��
� �
��� ���%�� �
��+
�� ��� ������� �

�������
���
��3!33�J�I�!�vom���
�
&�������
��
������
�
����

2
max

1 2
m

h L= +ν v
, de unde ��&����� 5 m

9,65 10  
s

= ⋅v .

���1��������������, 14
2 2

2

19,86 10  Jf

hc
h −ε = ν = = ⋅

λ
!���������
�������
��+
���������������������
���


�,63�I�!����
���������
���������
�����������������
�
���

������%
�����

���


�
��* .���������������!� ������

��� � �����
�� � ��
���� $
� joule are valoarea 0,85 · 10–18 J, �������
��
��� ���%�� �
��+
�� ����
���
!� ������

$
�%��L poate fi acum neglijat. Se poate scrie: max 2
2 0 2

max
2

1
1

1
cin eh E L m c

c

⎛ ⎞= + −⎜ ⎟
⎜ ⎟−⎜ ⎟⎝ ⎠

�ν
v

!�����
������

��

( )2
2 2 0

max 2
2 0

2 e

e

h h m c
c

h m c

ν ν +
=

ν +
v . Numeric?

*6. Un electron liber, aflat în repaus, este ciocnit de un foton cu lungimea de und��λ0 = 0,5 Λ (unde
Λ� ����� ��
+
���� ��� �
���COMPTON�*� 0���
��� ����� $����	�
��� ����� �� �
����
�� ��� ����� �
� �
+�
� ������ ��

�
����
�� ����
	����� �� �������
���
� ��� �����*� 7�������
'

a) Factorul relativist γ, viteza � 	
� �
��+
�� �

��
��� a electronului de recul Ecin.
b) Unghiurile θ� 	
� ϕ� �

���� �
����
�� ��� �
	����� �� ����
���
� 

�
��
�� 	
� ���� �� ����
���
� �
��&��!

�������
�� �� �������
���
� ��� �����*

�C� 0�����
��� ν!� ��
+
���� ��� �
��� λ!� ���
��
�� ��
+
�

� ��� �
��� Δλ� 	
� ���
��
�� �����
���
0

Δν
ν

� �

������
��
� ����
���
� �
��&��*

d) )���������� 
�� λMAX pe care o�������������
+
��������
���������
���
�

�
��
�!�$
���
�
�

��

��������
*

�������:
Aplic��� ��+
��� ��� ��
�������� ���� �
��+
�
� 	
� 
��������
'

hν0 + m0c
2 = hν + 

2
0

2

21

m c

c
− �

;

0h

c

ν
 = 

h

c

ν
 cos θ + 0

2

2

sin

1

m

c

θ

−

�

�

	
�0 = 
h

c

ν
sin θ – 0

2

2

cos

1

m

c

θ

−

�

�

.

	
� ��&������ �
����� ��� �����

� ���

��*

a) γ = 
0

Λ
λ

 = 2, � = c
2
0
2

1
λ−
Λ

 =
3

2
 c = 2,6 · 108 m · s–1, Ecin = 

0

Λ
λ

 m0c2 = 1,022 MeV.

b) cos θ = 0λ
Λ

 = 
1

2
, θ = 60°, ϕ = 90° – 60° = 30°,



(# ��������	
��

� ������� �

�
� 
� ����


c) ν =
c

Λ
 = 1,2 · 1020 Hz, λ = Λ = 2,426 · 10–12 m, Δλ = Λ – λ0 = 0,5 Λ, Δλ = 1,213 · 10–12 m

0

Δν
ν

 = 0λ
Λ

 – 1 = –0,5 = –50%

d) Deoarece 0λ
Λ

 = cos θ ≤ 1� ��&�����λ0 ≤ Λ = 2,426 · 10–12 m. >����������������	
� �����
��
����

���

�� ��
%
�� ��
�
�
�'�

2
0
2

1
λ−
Λ

∈ �.

*7. B
��#�
�� ���
��
�����$����	�
�������
�
�����
���������&��P�������
+
��������
���λ0������������



�
���
!� ��� ��
������ ��� �
��+
�� �

��
��� �� �������

���� ��� ������ 
�� ����	�	��� ���������Emax� D� ��3� U�)*

1�����

��
'

a)� ��������� �
+�
���
� ��� $����	�
���� ��
���� ����� �
��+
�� �

��
��� �� �������

���� ��� ������Ecin� ���

����������� 
�� Emax;
b) lun+
���� ��� �
���λ0� �� ���
��
�
�P� 

�
��
��*

�������	

a) /
��+
�� �

��
��� �� �������
���
� ��� ������ ����'�

)(

hc
Ecin

θ−Λ
λ+

⋅
λ

=

cos1
1

1

00
"� �������� ��� Ecin� ���

����������� 
���

Λ
λ+

⋅
λ

=

2
1

1

00
max

hc
E  pentru cos θ = −�!���
�����
����θ = 180° (aici 

cm

h

0
=Λ = 2,426 pm

����� ��
+
���� ��� �
���COMPTON).

b)�1

� �����
��

Λ
λ+

⋅
λ

=

2
1

1

00
max

hc
E � ��&����'� pm 7,31

2
1

max

2
0

0 =
⎟⎟
⎟

⎠

⎞

⎜⎜
⎜

⎝

⎛
−+Λ=λ

E

cm
.

8. Un electron este accelerat, pornind din repaus, de tensiunea U = 1,0 MV.� 7�
�
���%
�� �
��
���
��DE BROGLIE� ����
�����
	���

� �������
���
!� �����
'

a) Viteza electronului �!� ��
+
���� ��� �
���λ� 	
� ������
���ν.

b)�)
��&����� ��&���f� �����
���
� ������� �� �f > c�"� �� �����
�� $
���� ������
���ν� 	
� ��
+
��������
��

λ �

����
��
�������
��&���������
���
�"����

�
���
�����
����
�������
��
�ν�$
�����������
�����������
��!

( )d x

dx

ν
, x = ν�  = 

1

λ
.

c) Expresia fazei, considerând ϕ = 0 pentru x = 0� 	
� t = 0; ������
�
����� $
������ ��&��������������
�����
�'�ϕ� D� ,πν1t1� 	
� ���������ν1 a ������
��
� $
� ������ ������
�
��*

�������	

a) 9��
�%
����+�����
������

��
��+
�
!����
��'�E = eU + m0c
2 = 2m0c2 de unde deducem: γ = 1 +

+ 2
0

eU

m c
 = 3, � = c

2

1
1 −

γ
 = 

2 2

3
c = 2,82 · 108 m

s
, λ = 

h

p
 = 

0

h

m cγβ
 = 

2
01

h

m cγ −
 = 

02 2

h

m c
 =

= 0,9 · 10–12 m = 0,12 pm 	
�ν = 
E

h
 = 

2
0m c

h

γ
 = 3,7 · 1020 Hz.



����������� 	�� 
���
�� 
�����
�

b)��������	��
�������
�
��f = λν = 
c

β
 = 

2c

�

 = 3,2 · 108
m

s
 > c (!)��������
�����������������	�������

������� 	�� 
����nu� ����� ������� 	� transportul energiei.

��������	� �������� energie-impuls 	�	����� ����
�h2ν2 = c2
2

2

h

λ
 + m2

0c4.

Notând x = ν�  = 1

λ
� ���ν0 =

2
0m c

h
� �������
�ν2 = c2x2 + ν2

0; prin derivarea ambilor membri în raport

cu x �������
� 2ν d

dx

ν
 = 2c2x; acum rezult�� �����
������� �������� ������


d

dx

ν
 = 

2c

λν
 = 

2

2

c

c

�

 = � (viteza

electronului).

c) Expresia fazei este: ϕ = 2π r
t

⎛ ⎞ν −⎜ ⎟λ⎝ ⎠
 = 02 m c

h

π
(γct – 2 1 rγ − )�� ���
��� ������� ��� ��������� 	�

��
������������������ �������������  ������� �e = 0) avem: λ → ∞, ϕ1 = 2πν1t1 = 2π
2

0m c

h
� �� ν1 = 

2
0m c

h
 =

1,23 · 1020 Hz.

9. !������������������������m��
����������������������	�������������������������������
����� kxFx −= .
"������	�����������	����	�������������������HEISENBERG���������������������������������������������������������������
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1. &�������	� ������� 	�� �(�������� �� ����� 
�������t���� 	�� ��� �����
����)��
������� (LW = 4,5 eV),
���������� ��������� 	�� ��	�� 	�� ����� ������� �����������$

	
 275 nm.

2. *��	���	� ��������� �����
���� ����� 
�������	� ��� 	���� ��	�������������������� ����	� ���������� 	�

��	�� 1 350 nmλ = ���� 2 540 nmλ = �����������(������
�������������������	��	��k�+�,����$�&�����������������

	�� ��	�� 	�� ����$

	
 650 nm.
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3. A���
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	 a) 480 nm; b) 600 fm.

*4. 7�������
����
����
��������
�p al unui electron COMPTON!����������
������%
���
��+
��


�
�����+���

����
��+
���������������������
���
���������$����	�
�������
+�
��� θ = 180°.

R: p m c= = ⋅ −4

3
3 64 100

22, N · s.

*5. 7�������
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��+
������
���
�������������
����$����	�
����COMPTON la un unghi de 180°�����
��������
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���!�������$
�������!�	�
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�
��
������������3!���E�)*

R: ε
ε

ε' , MeV=
+

=
1

2
0 10

0
2m c

.

*6. Într-un experiment de tip COMPTON���������������
��
��P�$����	�
���������
+�
���θ����������
����
�
���
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�
�P incidente. 7�
�
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���������$
��
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��
�������
���$
��#�
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�
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���
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��������������������
��������

����������	
��������
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c) pentru θ′D�3�	
���
����θ″�D���3Q!���������
���&������������

�����������������������

�$
���&���$
�����

���
��
������������

+����$����	�
���*

R: a) )��
��
����
+
�

�����
��'� 1 2 2 1 cos cos
2

θ⎛ ⎞Δλ = Δλ + Δλ = Λ − ψ⎜ ⎟⎝ ⎠
;

b) suma energiilor cinetice ale electronilor de recul:

1 2

0 0

0 0

.
1 1

2 1 cos cos 2 1 cos
2 2

f f
cin cinE E

ε ε
+ = ≤λ λ+ +

θ⎛ ⎞ ⎛ ⎞θΛ − ψ +⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠

c) pentru 0

0

' 0, 0 4 0
1

4

f
cinE

ε
θ = ≤ Δλ ≤ Λ ≤ Σ ≤ λ+

Λ

;  pentru 0

0

'' , 2 ,
1

2

f
cinE

ε
θ = π Δλ = Λ Σ = λ+

Λ

.

*7. B
������$����	�
��

�COMPTON�����,3Q!������������
+
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�����
��������
��
�
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�
��
�����������������!5

��
*�1�����

��
����������������*

R: 7,278 pm.

*8. Cu un spectrograf de raze X,������������	����
�����
��BRAGG pe un cristal cu grosimea H�D�5�
�!���

�����������
�
��������
+
�

�����
������
�
����
��

�������������
����$����	�
����COMPTON la unghiul θ = 60°.

.������������&����
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!�������������������
�� nNP =
λΔ
λ=
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����������
�������
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Unghiul din�����
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�

�
��
��	
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����
������
��
�������������Φ = 120°. .�
���������
+
�
���

�
����������+��������������
��$
���
��
�����������COMPTON?
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R: -����������������

��'�
nNP

λ=λ≥λΔ , λ=Φ
nd

2
cos2 ,

2
sin2 2 θΛ=λΔ , dNH = *�?�&����'

nm 8,7
2

cos
2

sin2 =ΦΛθ≤λ H .

9. >��
�������������LCu�D�6!6���)�!�
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����! 
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&������������
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�������������������������
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�� $
� ����� ��
�
�
� ��� �������

� ��
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	 1,74 V.

10. Un foton al une
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+
��������
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��� ���+���
������������
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	 1,4 · 10–25 N · s.
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cm

fε
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�����
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��
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���������������������
���
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R: 9��
�%
����+
��������
�������!����

��'� ( ) 1tg
2

tg)1( =ϕ⎟
⎠
⎞⎜

⎝
⎛ θη+ .

*12.�7������������
�
�$����	�
��
�COMPTON pe un electron considerat liber, un foton a fost emis sub
unghiul °=θ 180 . /������
��!�������


�
���$
���������E0 = m0c

2 = 0,5 MeV), a devenit ultrarelativist (E � E0�*

7�������
!�$
���
������� 
���
�!��
��+
������
���
��
��&��*

R: B
����� 
���
������������
�
���!
2 2 2 4

0E c p m c cp= + � "���������!����
�%
����+
��������
�����������

�
��+
�
�	
�
��������
!�+��
�'�
2

0

1
0,25 MeV

2f m cε =� .

13. Un foton cu impulsul fp0
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��&��� ����
� �������
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Se dau: 9
0

0

1 m
9 10  

4 F
k = ⋅

πε
, me = 9,1·10−31 kg, e = 1,6·10−19 C, h = 6,63·10−34J·s.

R: pm 300
2

4
2
0 =⋅

πε
=λ d

me
h !���
���������� 
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�����
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15. 7���%�
��������
����
������
��������������
��+
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�
��������
�������$
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	������

�����!��������$
�%�
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+
��������
�������
��������������������33�������53���S

R:�-��������	��������
�� 42
0

2

cm
hc

E +⎟
⎠
⎞⎜

⎝
⎛

λ
= "��

%
�����������������������������������
���
������5���U�)!

������

��ΔE = 453 keV.

16. (
�
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�
���������������
����������
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���������
����������������"�$
�������
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����������
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����������
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������Ecin = 25 eV.
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2 = 8,6 pm.
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)sin(22
22
απ −

=
cinmE

nh
d = 15 nm.

*19. Un foton X cu energia ε0 = 185� U�)� ������� �� �
��&
��COMPTON� ��� �
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���� �����!
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+
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� ��� �
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	 Se pot folo�
� �����

��'�
2

sin2 2 θΛ=λΔ , x
x

x 2
2

2 ctg1
sin

1
sec +== � 	
�

0 0

ctg
2tg

1
h

m c

θ

ϕ =
+

λ

"� ��&����'

0
2

0

2
1

1
tg 0,577

31 f

m c

Λ −
Δλϕ = =ε

+
� !� ��
���ϕ = 30°.
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pix hexagonal, din material plastic transparent, ���

�������������
���

���
��� ��� ����
� � ! (fig. 3.1). P�


	
� spre un bec incandescent;
g��
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�������������������
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���������������������
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�� ��� �����������

�������������$�
�"�'"(%. �����
�
��	
��������������������������������)

fanta, dispozitivul de colimare a fasciculului incident, �������	�
���,
luneta de observare.

*���� �����
�� ������ ������ ��� ���
��� �����
� ��� ���������
� ��

gaze rarefiate�$��
����������
��
��������%������+�������������
�	
����

������
�
���
�������
����� imagini ale fantei, fie sub forma unor
linii verticale bine separate între ele, numite linii spectrale���������
��������������
��
����
���������������������	

�����������������
��

benzi spectrale.
,��������� �����
���� ��� ������� ����
	

� ��� ������� spectre de

emisie��
��������������
�����������
�continue, caracteristice metalelor
incandescente, de linii în cazul gazelor monoatomice sau de 
����,
pentru gazele moleculare (fig. 3.3).
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�"� '"2%4� ����
��� ���� �� ���� ��� ����������� ��������
� �����
�� ��

�������
� ��� �
������� ��� ������5
����BOHR (iulie 1913).
6������������+��
����secolului al XVIII�������
�
�
��

������������

��� �.��
��� ��
�
�� ���
�

� ��� ������ ����
. S-a pornit de la cel mai
simplu atom: hidrogenul.

Valorile observate ale ����
�
����������������liniilor spectrale
din spectrul vizibil (notate simbolic Hα, Hβ, Hγ, Hδ%������
��
�������

������� ��������� (±0,005 nm).

#������ �� ����� �� �������� ��������� ����� ��� ���������� ������
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�
�
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� ��� ������� ��� ��� ��������� ����������
��� �
�

7������Johann Jakob BALMER;��������������
���în 1885, �������
������
����������� �������� ���
�
��:
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0 2 4

m

m
λ = λ

−
� $'"1%

în care constanta λ0 are valoarea 364,56 nm iar m� ����� ��� �����

������� ����� ������ ���� 
����
��� '�� /�� 2� ���� �"

Stabilirea acestei formule a însemnat un pas înainte: BALMER
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F����� ��
����
��� a acestei formule nu a permis elaborarea unui
mode������
����������������
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������.��
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Cinci ani mai târziu, în 1890, RYDBERG a extins formula lui
BALMER�� ����+��� ��� �������� ��� ������ ���
�� ���� �� ��r��� �
����
���

���
���
�����+���������
�����
���������+���
�
��
�����
�������
�
�$de
ex. He+, Li2+, Be3+ etc.):

������	��
��	�
����

$19(2;19<9%��������
�
��� ��
�	
��"

��������	������	�������

$192/;1<1<%� �
�
�
��� ������"

������	������	�������  

$19(/;1998%� �
�
�
��� ������"

Simbolul Hα Hβ Hγ Hδ

Lungimea� ��� ����� [nm] 656,28 486,13 434,05 410,17

Culoarea =��
� :������� >
����� >
�����
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2
2 2

1 1 1

mn

Z R
n m

⎛ ⎞= −⎜ ⎟λ ⎝ ⎠ � �����

unde: Z�	
�	��
���
������������	�	�	��
�
����
���
���	������	����

tabelul periodic al elementelor), R este �����
��������
��������
�����

�
i RYDBERG, având valoarea 1,097373.107 m−1, n��� m sunt numere
naturale (pentru fiecare valoare a lui n���
���
��m poate lua valorile
n + 1, n + 2, n + 3, ...).

��
	������ ��� ����
��� �
�� BALMER� 	
�	� �� ������
�������	� �

����
�	�� �
��RYDBERG pentru Z = 1, n = 2� �� m ∈ {3, 4, 5, 6}.
Formula lui RYDBERG a permis sistematizarea multitudinii de

linii spectrale observate�� �
���
�� �	� 
��� ν�  = 
1

λ
� ��� ��	���	�� �����


�	�����	� 
	� ����	� 
���	� ������ ��� ���� �	��	��� �	� ��		���� �����

�
����� �	��	��� 
�	�������

Tk = Z2
2

R

k
.

!���"��	����

ν�  =
1

mnλ
 = Tn – Tm = Z2

2

R

n
 – Z2

2

R

m
 = Z2R

2 2

1 1

n m
⎛ ⎞−⎜ ⎟⎝ ⎠

.     �����

În acest mod, liniile spectrale pot fi grupate în serii spectrale#
���
������	�� 
	� ���	� �
��� �
���
�� ���� ���� n�� ���� �
�� 
	� �	�	� $�

���	�������
������%	����	��	
�	����	��
���������
�	�	�������	���������	

�	"�
� �	
���	���� ��� 
�
�����

Analizând formula lui RYDBERG���
	���������
�&����	��	�
���

��	� 
	������� 
�	�����	� 
	� 
��
	���� $���	� ��
�� ������� 	'��	�	�� �
���	

limite�� (������ 

�	������� ���	
�
��	� ����������� �	��	�
�
�� Tn cu
termenul Tn + 1����������������	����������	
�
��	�������������	��	�
�
�

Tn cu termenul T∞#� �
��	�� �����	��

λmax =
2 2( 1)

(2 1)

n n

n R

+
+

 = (91,127 nm) · 
2 2( 1)

2 1

n n

n

+
+

���λmin =
2n

R
 = (91,127 nm) · n2.

����� � )���
����� ��� ��	�	��� $���"
�� ���	�� �����	�	� 
	������� 
�	�����	

��	�	����	������� �	��	�	�������	����'�����	����	�
�������	� *	��������

���
	����	�
�	�����	�
	�$�����	����$���	&�
���	�
�	�����	��������	��
	���

LYMAN - în ultraviolet, seria BALMER – în vizibil, seria PASCHEN – $�

��������
����������, iar seriile BRACKETT, PFUNDT� ���HUMPHREYS – $�
��������
�� $��	������).

Se pot calcula ��� limitele ��	��	��	��� seriilor spectrale:

νmax = 
min

c

λ
 = 2

Rc

n
 = 2

3 292 PHz,

n
��

νmin = 
max

c

λ
 = 2 2

(2 1)

( 1)

n Rc

n n

+
+

 = 2 2

(2 1)(3 292 PHz)

( 1)

n ,

n n

+
+

.

�	�
�
���
����

�+,-./+01.�

�����������	������

����������������

�+,0,/+0,2�

�����������	������

��������	��������

�+,21/+0.-�

���������&	�����

n m
Denumirea �������	

seriei 
���
�	��

1 2,3,... LYMAN UV

2 3,4,... BALMER vizibil

3 4,5,... PASCHEN IR

4 5,6,... BRACKETT IR

5 6,7,... PFUNDT IR

6 7,8,... HUMPHREYS IR

Seriile spectrale ale atomilor
hidrogenoizi.



�! ��
������������ ���	��� ������ �� �����

Analizând ���������������
�
���������������������������
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������.
����������
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��� ������� ���+�� ������ identifica� ����������� ��������� ������� �����

����
�+������������������
�"�*���������
�

�������������������������



�����
������������������
����
�cantitatea� ��������������������������
����� ��� ������ ����
����.

:�������������� ��� ���������������� ����
����� �
� ������ �
:
– ����
�
����������������
��m ce tipuri de atomi� ���������� ��

�����4

– ���
�
�
����� �����������
���� �
���
��� ��� ����
� ����� ��� ����

��� ������ �
� ����
��	
��� �����

�� ��� ����� ��� ������"

��� ������!�"#
�"�$�����%�

��%�#"#
�#�!����
�#
����"#"�

������
 ��������
��&�����
 '	&����&����

����"#

��
�
������� ������e (hidrogenul, heliul, carbonul, oxigenul,
uraniul etc.%� �����������
����
������
����� 
����
������������ ������
�

atomi.
Atomul� �� ����� �+��
�� ��� �

��� ���
��� ����
����� ��	
����� ��
�

�������������� ��� ����������� ��
�� �� ���
� ����
��	
� ��������� �
�����
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�����������
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����� ����
�� ���
	
������������� ������������.
Conceptul de atom (considerat ca entitate ��������
���� �


�����
���
�
���� �
�� ������ ��
�� ����
����� ��� ��������� ������ ������
��

�
��-�

���%�������������
������������
�
���
��
��
����
����

�	�
��fiind
introdus de DEMOCRIT� �
��:������ �
�LEUCIP din Milet în secolul al
V-lea î.Hr.

Termenul de element��������
�������������

�	�������������
�����

�����PLATON (428–328 î.Hr.), dar ideea exis���	�
� ����� 
��� ����	
���
��
�EMPEDOCLE din Agrigento (secolul al V-lea î.Hr.).

EMPEDOCLE�����
���������.
���������������„elemente”���
�����

������
��� �
��„atomi” cu ��	����
��� diferite, conform tabelei.
-����
���� �
�����

� ��� ����
������ �
� ��� ��� �
��
���� „�������?�

���������+��� ����	�� �����
� ��-�

������
� �
� ���
��� �
�� ���������

�

quinta essentia. Acest „element” era eterul, în care se considerau a
fi „scufundate” toate celelalte elemente.

��#��"#�

,������	�����������������������
����
��������
�����
����������
�

���
���molecule"� :���

� ����� �����	
� ������� ��������� �������� ���

������
����� ��������
��
����������
� �������

�"

@�����������������
�������
����
�����������������������������
)

�.
���� ��������� �������� �
�� ��
� ���� ���
� ����
�� ���� �.
���� �
� ���

������� $���� ����� �������	�� �����
��%� ����� ����� ������ite din sute de
mii de atomi.

�������"� �
��:������ $��+���%

�
���#��$� �
��A
���� $�������%�

�
�����
� ����
� $�������� ���>����� �"3�"%"

„Elementul” ��	����
�����

primar „atomilor”

focul ��	� uscat

aerul ��	� umed

�����
�� greu uscat

apa greu umed

$�
"�%� $��+����� /(9;'(9� �"3�"%

�
���$������� �
��:��
�����

�
� $��������� �������� ��� >;���� �"3�"%�

�
�����
� ����
"
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"� 0�� ����� ������ ��� ����� ����

� ���

����������� ��� ������ ������� �� ������ ��� ����� $�
����� ���� ������%

�������������
�	����������
� �������������
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������	
����������
����

���	����� ����� ������
������ ������ ����
� ���� ��������������"

,������������������
������������	�����$
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�
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����������������
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���������������������
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*��
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�
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�������������������������	�
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���������

�����
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��� �
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���� �
� ��� �
� ���� �
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�������
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Din studiul mai multor fenomene (electrizarea, electroliza,
efectul fotoelectric%��� ����������������

� �����
�� ����
��� ��� ���������

electroni.
Electronul������������
����������
����������������������������



�
���������������
����������
���������
�����
��
������+�����������
"

*����
�������electron (������������ελεχτρον����������chihlimbar%
�� ����� 
��������� ��� �
�
��� ���B������ C���������STONEY, în 1881.

Sarcina electronului este

�
�
� D� ;1�� (� E� 1 

�1<
�F�

iar masa electronului este

�
�
� D� <�1 <� E� 1 

�'1
� G�"

��(����!"#

În anumite fenomene (de exemplu radi	��
���
�
���������%���

�����
������
������
+��������
���	
��������������������������������


$���� ����������� ����	������
�	��
�����������������
������
�!%4� ����

������� ����
�

� ������
��� ����� ���
�

"� :������� ����
������ ���
�����

������
�� ��� #���� :��
���Maurice DIRAC� ��� 1<(<� �
� ��������
��� ���


��
���
� �+��
�� $1<'(%� ���F����*�

��ANDERSON� �
� #���
�G�A�
����

,��H����BLACKETT� ��� ���
�	
�� ����
��� ��� ��������pozitron.
Pozitronul este considerat antiparticula electronului.

��!�(����

Deoarece orice atom este neutru��
�����������
������������
��
���
����
���������
���������
������.
�����
�����
�
����
�

�������������+�

���������
�
�������
�

��Q+�����
�����������
�����������������������


����
�
���� �����

�� |Q−|.
5������� ��������
���� ���
� ����� ����� ������������ ��� �������

��� ���
��� �
�� �������� ���
��
�� ��� �������������Z.

����&�	 ���������	("�%��

$19(�;1<11%� �
�
�
��� 
�������"

:� 
�������� ��� �
�
��� ��������

��� ��������"

$��)	
*�+��	����+,�	���
�

$1< (;1<9/%�� 
��
���� �
��������
�
��

�������� �� �
��� �����
��	

� ������
��

��� �
�
��� ������
��"

���)	���+*	
%���(�%� $1< (;1<9/%�

�
�
�
��� ����
����� �������� ��� #���
���


5����� ������� �
�
��� ��� 1<'�"
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Suma sarcinilor negative ale unui atom este� "
;
� D� ;#� � 
��

����
��� ���
�

�� �� �������
� �����"
I
� D�#�!

A��
�
�+�����
� ����
��� ������
��� ������� ��
�� �
�������� ���

�+��
���� ��� ��������
�� ����

� ��� ���� ��ansforma în ioni pozitivi,
respectiv în ioni negativi4� ��������� ��� �������� ionizare.

Sarcina unui ion monovalent� $���
��
�� �
������� ����� ����� �

�
�����������������%��������������������������
�������������������e
�
� ���� 
�������)��

�
� D� �� D� 1��"1 

�1<
�F"

,���
��������������
����������������
������������������������
��

����������)� qe = − e4� ����
��� ���
�������
� ����� ������ ��� ����
��
����������)�qp = e.

�!�����)�"!��
�����#��

#���
������� ���������� ������
�� �
�� 
����
����� �������
� ��� ���

�������� ������ ��	� de altele, astfel încât centrul sarcinilor pozitive
nu va coincide întotdeauna cu centrul sarcinilor negative, deci atomii
se pot polariza electric (fig. 3.6).

6����������������������.��
����.
����	�����	��������
������	
���

�
���������
)���������������
��
�������	������������������
����
��������

������� �� �������
� ���� ��� ����	
�� ��� �
����	���� ���
������� ����

� ��

�����
������ ������
�"

*��������

������������������
��
�������
��
���
������	
������

��������� ��
�� ���	�� ������
��� ��� �
���)

2

2
04

r e r
F Ce

r r
−β⎛ ⎞α= −⎜ ⎟πε⎝ ⎠

�
�

,

unde C, α��
 β sunt constante pozitive, caracteristice tipului de ioni.

%���!��"!�#�
*�
����#�
�����#��

Atomii au diametre de ordinul nanometrilor (1 nm = 10-9
��%

�
������ ��� ���
���� J������������� $1� J��D� 1 
-24 g).

#������ �� ������ ���������� ������� ��� ������� �
� �
����
��
��

����
����� ��� ����� 
��������� ����� ��
� ��
��	
� ��� �������� ��� �����

,
�������
� �������	
����)

• unitatea� �
	���� ��� ���� � ����� ������
����������� ������ ��

�����������������������
�������
��������
�����������F
�

1(
�������
������

�� �
� ����� ������� ��� ��
������ �
�� ,"�"� ������������ ��
�� ����	

��)

1� �� D� 1��� 28� E� 1 
�(8
� G��� �
� 
�
���)

1� G��D� �� (( '� E� 1 
(�
� �4

• ångströmul�������������
����������
���������
����������
��

����
����
��

��������
�����
������"�,
����������������Å��
�������	
�

��� ���
���
�� ��� ��
��	
� ,"�"� ��� ����
��� ����)

1 Å = 10−10 m.
����	 �
�"�%� $18��;19//%�

����������� �
� ��
�
��� ������"

&
�"� '"�"� #����
������ ���
� ����"

Nr. Atom $��� Diametru
[kg] [10–9m]

1. H 1,66·10–27 0,106

2. C 1,99·10–26 0,150

3. Si 4,66·10–26 0,235

4. Ge 1,21·10–25 0,245
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Cel mai simplu model atomic este modelul sferei rigide, propus
de DALTON:��������
������������

��������������
���������������
��
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�� $��
��� ����� �
������� ��

�����
�� �
���
��%� �
� ��� ����� �������	
� ������
�� (fig���� '"8%"
&��	���� ��� 
������	
���� ����� de respingere� ��� �
����	�� ������

�
�
�� ��� ��������� ��� �� ����
��� �
����	��� ��oi devin atractive�� ���
����� ������� ������� ������ ��� ���������� �
����	�
� �
����� �
"�-�� ����
�

����.
���

� ������ �
� �����
�� ��� fig���� '"9.
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Modelul „cozonac cu stafide” (THOMSON) a fost unul dintre
primele modele atomice (propus de William THOMSON �
 lord KELVIN

��� 1< (� �
� ���
������ ��� ������ John Joseph THOMSON în 1903). El a
fost sugerat de experimentele asupra razelor catodice.

:����������������������������������������
����������
�����������

��������R�����
����
���������
�������������
����������������
������
�

�

���������
��Q+4���������

����������������	
����
����
����������
 pozitive
(fig. 3.9).
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��������� ����� �� ���	�� ��� tip elastic ( F
�

 = –k r
�

):

F
�

 = – 3
04

eQ

R
+

πε
r
�

,


����
������� ���
� ��������� ����� �����
��� ��� �� ����� ��� �
���)

r
�

 = A
�

sin(2πνt + ϕ0),

����� ������
���� ���
������ circular� uniform�4� ���
��	
�� �
� pe orice
diametru al traiectoriei va fi o �
������ 	�����
	���� ���	����.
&���
��	� ν a acestei �
����
������������������
��

���
����������
���

������
��������
��	������
���������������.���
�������������������
�	
�

�������������
���� ������ infirmat� ��� �����
�	

��� �.���
�������"

&
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&
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"
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�"� '"9"� *�������	�� ���	�
� ��


������	
���� �
����� ��
� ����


��� �
����	�� �
����� �
"

����	 ����/�	"���(�%� $192�;1</ %�

�
�
�
��� �������� �������� ��� #���
���


5����� ������� �
�
��� ��� 1< �� $��+���%� �


0+))+�1	"���(�%2	 ����	���3�%

$19(/;1< 8%�� �
�
�
��� 
��������$�������%"



�4 ��
������������ ���	��� ������ �� �����

��%�#"#
�#�!����
�#
����"#"�
,�"�$�����%.

În 1898 Ernest RUTHERFORD� �� ��������
�� ��� ����
��� ������

��
��������.��������
���������

������
���
����

�����+����������

�

cu mare energie $������
����������������
��	
���%, numite particule
α (sau �������� α).

:������ ���
������ ���
���
��� ��� ����� �����
��� �� RUTHERFORD

������������GEIGER��
�MARSDEN pentru a investiga structura atomului.
În 1909 ei au ����
���� ��� �.���
����� $��� ����� ����� ����
����� ��� �
�


�����
��
������+������1<1'%�����������������������������
�����α��
��
	�� ��� ���� ��� ����
���� ���numai 86 nm (fig. 3.10).
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6�� ����� ����
��
� �.���
�������
� ����� ������ �����������

�����
�	

)

a) particulele α�� �������������
������ �������
����
	�����������
�

��

���4

b) unele particule α sunt deviate cu unghiuri de 1°-2°;
c)��.
��������
�����α�$ �  2L���
����������( �����

%����������

��

���� ���� ����
��
���
����
� ���+�� < !"

*
����
�

��� �.���
������� �����
��� ������� �������
�� ��� �
����

'"11��������������
�����������������ii R (fluxul de particule α), �	���

��� ��� F, detectorul� ��� ����� ���� ���
�	

��� �������
���� �
� ������

��
��
��	

� �
� microscopul M� ����� ����
���� ���������� ��
��
��	

���

�������� �+��� �����
����� ��� ������ ���� ��� ����
�� ����
� θ� ��	�� ��
�
���	
�� ����
������
� 
ncident.
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Rezultatele unui experiment realizat de RUTHERFORD� �


�����������

� ��
� ����� 
��
����� ��� ������� ����������� ��� ����� ��� ����

�����
��)� ����
��� ��� �����
�	
�� θ�� �����ul mediu al� ��
��
��	

���

�����
����ΔN, procentul N

N

Δ
�������� ��� ������
����ΔN din �������

������ ��� ��
��
��	

���� �����
���� �
� ���������ΔN · sin4

2

θ .

,�� �����
�� ���� ���
�ΔN 
��
���� ��� ������ ���
��� ��� ���
me,

produsul ΔN · sin4

2

θ
� ���+���� ��� �� ����� ����.
��	
��� ��������"

&
�"� '"1 "� 7����������� ���
� ��
	�

��� ���� ��� ����
����� ����"

&
�"� '"11"� *
����
�

��� �.���
������

�����
�� ���=-K3M=&@=*��BM�BM=� �


A:=,*M5"

D

���
�	
�

�������
���

θ ΔN
N

N

Δ
[%] ΔN · sin4

2

θ

15° 132000 92,9 38,4

30° 7800 5,5 35,0

45° 1435 1,0 30,8

60° 477 0,34 29,8

75° 211 0,15 29,1

105° 69,5 0,050 27,5

120° 51,9 0,037 29,0

135° 43,0 0,030 31,2

150° 33,1 0,023 28,8

=����������� ���
� �.���
����� ��������� ��

=-K3M=&@=*��BM�BM=� �
�A:=,*M5
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Pentru a explica aceste rezultate ��	
������ RUTHERFORD a
elaborat (în 1911)��������������������
�������������
������
�

�����

����������������������
������������
����
�����������������
������+��

��� nucleu atomic pozitiv ��� ������ ����
�� ���
������ ��������

�� ���
��	
����� ���	�
 ��� �����	
� coulombi���.

:����� ������� ������ ��� 
������� ����
��� ������� �
����



��������
���������������
��modelul planetar al atomului �
�������������
��� ������� ��
� RUTHERFORD (fig. 3.12). *����
���� ��� ���������
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�� ��

������� $����� ���� �� �.����
�

������������� ��� �� ���	�
� �������
���%"

Nucleul se c���
����� �� �
� ����
��� �������� ��� �
����
��


����
���
���� ��������� ��� ����
��� ������
��� �	��
��� � Q+ = Ze �
� ���-
�����+���� �����
��� ��������� ����� �� �������
"� Cei Z� ��������
� ����
����
����	
�������������
������
+�������
���������
�����%�
�����
�����

��� '-/� ���
��� ������
�����
��
��� ���+������� ��������
"

�������	
��
����
�������������
��
�����������������
�������
����

��������
����������������������������
�������
������
������
�����������

��
�COULOMB. Deoarece nucl���� �
� ����������� ��� ����
�
� ������
�����
�������
���
�������	���
�������������
��
������������������	����������	
��

��� �+��� ���	���� ��� 
������	
���� �
����� ��������
� ����� ��� ����
�����"

Experimentul lui RUTHERFORD� �� ������� ��� ������ ��
�COULOMB

poate fi ���
����� �
� ��� �
����	��mici, de ordinul diametrului atomic.
&���%��� 
	
���, ����%��� �	
�������� �
� ����%��� ����
��� a unui

��������� ������ ��� �� ���
��� �
�������� ��� ����� r� ����� ����� ��� ����	

��

Ep = –
2

04

Ze

rπε
 = 2E


	
���
, Ecin =

2

08

Ze

rπε
 = –E


	
���
, E


	
���
 = –

2

08

Ze

rπε
.

�
� ����� ������������� ��� �
����� '"1'"

Acest model ������� ��� explice structura atomului �
� ���� ��
������ ��� rezultatele experimentale: Philipp Eduard Anton LENARD

(1903), Hantaro NAGAOKA (1904), lordul Ernest RUTHERFORD, Hans
Wilhelm GEIGER� �
� �������M�����MARSDEN (1910).

*��
� ������ ��� ���������� �.���
��������� �������� ��������

prezentat de RUTHERFORD� ��� ������ �.��
��� ������ �����
���	



���������)

• stabilitatea atomului,

• modul în care atomul emite sau absoarbe energie,

• ��������� ����
���� ��� �������� ���
��
�� ��� ������������etc.

A��������������������+������������������������������������"

#����������	
�����������������������
����
�����
������
������ �����
�

��� ������ ���l la ������� ����
���� �
� ��� ������� ����
����
�.
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�6 ��
������������ ���	��� ������ �� �����

�"�!��#�
%�
�!��-��

6�� ����
��� 
������	
��

��
�����atomi� �
� ������ (mai general:
��������� ����
�	��%��
���%� ���� �����
��� ��� ���
����� ��� �����
��nu
se poate face în orice cantitate.

0��
��� ��� �� ����
��� �������� $���
�	
�� ����������
��%� ��

��������� ��� �
� ���� ��� �
� ������
��� �
�� N�������?� ���� cuante de
energie.

,��
����� ��� �����
�� ��� ������ ����� ����
� ��� ������)� ����

����� �
������ $������� �
� ���
�	
�� �������������
��%� ���� �chim��

����
���������� întreg de cuante sau fotoni, conform ipotezei lui
EINSTEIN.

Energia� �
� impulsul unui foton depind liniar de ���������

���
�	
�
� �������

�� ��
�� ����	

��)

εfoton = hν, pfoton = h

c

ν
,

unde c este valoarea vitezei luminii în vid: c = 3.108 m·s–1, iar h este
�� ���������� ��������
��
��� �
�
�

� �����
���� ���
��� constanta lui
PLANCK4��� ���� �������
��
����
��
� ��� �
�momentul cinetic� ������� �

���
���� ���
���������� � ������ ��� ��������� energie O timp:

�� D� ���(�"1 
�'/
� CE�"

Valoarea �	��
��
������������� h este extrem de �
�����	�����
����
��

���������������� ����� ������
� ���������
��� �������� ��� �.emplu,� �
�
��� ��� ������t.

=���	
�� �
����� �����
�� �
� 
�������� ��������
� ����)

εfoton = cpfoton.

&���������������������
�����������
���������	����������
+�����
�

��� ������ ����� ��mit ���������
������. Un foton nu poate exista în
repaus.

*�����������������
�������� $������������ 
���	
�
%����
������



����� ��������� �������� ����	
�
)

m(�) =
2

2

(0)

1

m

c
− �

,

în cazul fotonului nu se poate vorbi decât despre ����������������

������
��.����
�����������
������	
����
�EINSTEIN��
�����������
������
�

���
� ����
����� �����


����� εfoton = mfotonc
2:

mfoton = 
2

h

c

ν .

A���� ��� ������� �� ��������
� ����� ����
������� ����"

Fotonul nu are ������������
����, dar are moment cinetic propriu
(intrinsec), numit spin.

������	0+)��)1	������

$199(;1</2%�� �
�
�
��� ������"

$�+)+//	 ���	��%
��� $19�(;1</8%

�
�
�
��� �����
���� �������� ��� #���
���
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�
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��������� �	
����

���(�!�����
��!�����+
�
�/�#")���
�%��#��

#�-���
%�
����

� #�
����� ������
�	�)�LEUCIP, DEMOCRIT, PLATON (500 - 350
î.Hr.): elaborarea �	��������� �
	���
�.

� Descoperirea ��%�����	�	�����	��������
���
�����%�����	�	�����	�

���
���� (DALTON, 1801).

� Descoperirea naturii discontinue a sarcinii electrice din
legile electrolizei (M. FARADAY, 1834).

� Descoperirea „razelor” catodice (experimentele lui
J. PLUCHER, W. CROOKES, H. HERTZ, P. LENARD, ���� 1850).

� Experimentele de deflexie a „razelor” catodice� �

descoperirea electronilor (1897, J. J. THOMSON).

� ,���
�
���� �����������
� ������� ��� �������
� �
� ����������

��������
� C"PC"PTHOMSON (1902)

� Modelul „saturnian” elaborat în 1904 de Hantaro NAGAOKA.

� Devierea particulelor alfa e�
���������
������+����
��.������

������
��� �
� ������
��� $1< ')� RUTHERFORD� ����
������ ��

����
����������������	�����������������
���; 1909: RUTHER-
FORD��
�RAYS�����
�������������������
�����������������nuclee
de heliu).

� *�����
�������.���
��������������
�ii electrice elementare
(R. MILLIKAN, 1909).

� M���������� �
� 
��
�
������ ��������
� ����
�� ��� �������

�	��
���� �	����
��
��� �������� ����
�� ��������

� ���
�����

��� ������ ����
�

� ���
�

�� ������������� �������� ��������� ���

��	
��������	�
��������
���)������ul planetar al lui RUTH-
ERFORD, 1911.

� ,���
�
��������	
�
��
��������������������
���
���b��
�����
��
��� �������
����θ al particulelor alfa pe un nucleu de aur:
RUTHERFORD (1912). Neajuns: parametrul de ciocnire ��

��
�� ������
��.

� ,���
�
��������	
�
��
�������������������
��������������
������

�
�����
������ �������
����θ�����
�
������
�
����.���
����

���)�RUTHERFORD (1913).

� >��
�
������ �.���
�������� �� ����	
�
� �����
����� $1<1'��GEI-
GER��
�MARSDEN), care a dus la determinarea razei nucleului.
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��nu��.��
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�
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Primul model cuantic al atomului a fost modelul lui Niels
Henrik David BOHR (1913); ��������������������������������
������

�
� 
��

� �
�������
�
� $3�
+, Be2+, ...).

BOHR a pornit de la modelul planet��� �
� �� 
�������������pos-
tulate� �
� �� ��%���� ��� ����
�������� �� ���������
� �
���
�4� ������� ���

��	
��������������������	�������������.���
���������
�������
����"

����	�
 ����	���
 ��
 �	�
 2�3�

M.
��������
� ������������������
�� ���������������nu emite� �
�nu
absoarbe������
��$�����������
������������
�����
���	����4�������������

���	
������ �����
�� �������
� ����� �	��
��
� în timp).
>����
��������

��������
�������	
�������������������ir�$�����	
��

������
�����
���������
���): E1, E2, E3, ..., En��"""�$����������� valorile
energiei sunt cuantificate).

��
 ������
 ����	���
 ��
 �	�
 2�3�

M.
�������
�
�
�������������

�������
��sau ����
�	��
� energie
(�������������
�	��%��
���) sub forma unei singure����������������
�
$�����%4� �������� ��� ����
������ ��
�� ��������� �������
� �
������ �����

���	
������ $��� �����
��Em%� ��� ����� ������ ���	
������ $��� �����
��En),
fenomen numit 
��������� ����
���.

Energia fotonului emis (Em > En) sau absorbit (Em < En%� ��

����� ���
� �����
	

� �����
��� ����)

εfoton = | Em – En |.

=������� �� ���������� ���
�	
�
� �������������
��� �����
���� ��

�����������������������
�������������

��������
������������������


�����
	
�� 
�� �
)

ν = foton

h

ε
 = m nE E

h

− .

�������	
�

,�� ����
����� ��� �
������� �����������
� ������� ������ ���	
�����

������
��������
���������
���mecanicii clasice�$��H���
���%�����������
��� �����
� ���� ���
��� ��� �
����� ��� ����� ���� ���� �� �����
	
�� �����
��"

#������ �� �������� ����
��� ���	
�������BOHR� �� 
�������� �� ������

����
����� ���
��� regula de cuantificare. Într-o ������ ���

������

����
� ����� ���BOHR�� �������� ������� ��� ������ ����	�� ������)

A��
��� momentului cinetic orbital� ��� �������
� ������ ���

����
� 
����
� ����� ��� ����	
�)

%+�)�	 ����� $1992;1<�(%�

�
�
�
��� ������� �������� ��� #���
���


5����� $1<((%�� �.��
��� ������� ��

�����
�
����� �����������
� �
���
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���)*	��������	0+)��)1
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�
�
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���� ����� ������ ��� �	��
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�� �
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����!� #����� �
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� ����
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� #���
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�
�
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����

L0 = n�, (3.4)

unde momentul cinetic are expresia: L0 = m0�r = rp, constanta � =
2

h

π
�����������������������
�PLANCK���	
����
������
���n��������������������

����$n = 1, 2, 3 ...), numit ����������
������������.
�������	
������
������������ $�������������
���������
���IZe%� �


���������$�������������
���������
���− e) este de n�������������
���"

#�������
����������
������������������
����
����������������r�
��� ������ ���
�� $��� 
������� ��������
� �
.%� ����������� ����	
�� $���
��

�
� �	������� ��� ������
�� dinamic al electronului pe orbit�):

2
0m

r

�  = 
2

2
04

Ze

rπε
. (3.5)

�������	
�

*�������	
������������������������
����������������������������

��� ������ ��������
� ��� ����� ��� �
�������
�� �����
�� ������
��� ����

�����������
�m cu expresia 
Mm

M m+
 = 

1

m
m

M
+

���
��������������;

aici M este masa nucleului (care, în cazul atomului de hidrogen, este
de 1837 de ori mai mare decât masa electronului).

Folosind regula de cuantificare,� �� deducem� �.����

��

���
�
���� �
�
��� ��������
��
��� �
�������
 într-o �
���� �
���	����:
energia� �����������
� ������� ������ �������� raza unei orbite circulare,
viteza� �����������
� ��� �� ���
��� �
��������� perioada� �
� ���������� ��

����	
�� �� �����������
� ��� �� ���
��� �
�������� $�
�"� '"12%"

,��
�������
	
��������
�
�����
���
���������������
�������
��

$'"2%� ���� �����)

2 2 2
0m r

r

v
 =

2
0

04

m Ze

πε
� ��
��

2
0L

r
 = 

2
0

04

m Ze

πε
.

F������� ����	
�
� ��� �����
�
����� �� ���������
� �
���
�� $'"/%�

��	
���� 
alorile cuantificate ale razelor orbitelor circulare:

rn = n2r0, (3.6)

unde r0 =
2

0
2

0

h

m Ze

ε
π

 =
2

0
2

0

4

m Ze

πε �
 = 

1252,9 10 m

Z

−⋅ ,

��
��� ������� ��������	�	���	���� cu ��
��tul ��������
� �����
��n.
A��
���)

rI =
2

0
2

0

h

m e

ε
π

 =
2

0
2

0

4

m e

πε �
 = 52,9 pm

se nume���������� ���� BOHR.

�������	
�

6������ ��
��� ������� ��������

�����


����$����.��������������

����
����
��������������
�	�����

��� ��
���� �
� �	��������� ����'


����
�� �� ��
����	�) au fost
neglijate.

Ulterior, SOMMERFELD���������

��� ������� ��� ����
������� �

efectelor relativiste� �����

�.��
��� ��
� �
��� �����
�	

��

�.���
�������"

6������
�����
����������SOM-
MERFELD, orbitele electronilor
sunt eliptice��
�����������
�����

��� precesie (fig. 3.14).
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�! ��
������������ ���	��� ������ �� �����

*������� ��� �
�������� ���
� ����� ��� �
������� ����� ����.
�

���

� 1  � ���� ��
��� 1�Å� $��
��
	
�
�� ��� 1�Å = 10-10 m).
Deoarece

E

	
���

 = – 
2

08

Ze

rπε ,

�������������
alorile cuantificate ale energiei totale a unui electron:

En = –Z2 0
2

E

n
, unde E0 =

4
0
2 2

08

m e

h ε
 = 

4
0
2 2 2

032

m e

π ε�
 = 13,6 eV. (3.7)

��� �����
�� ��� 
����
��� �����
�
� ������ ��� 
������� ���������� ������

��	�	���	���� cu� ��
��
��� ��������
� �����
��n.
Modelul lui BOHR�������
������.��
�� formula RYDBERG�������
��

������
��
�����������������
���
�RYDBERG R ��������
�
�������������
�


��� 
��
����� �� �
���������
, Wionizare.
,�� ��� ��
��
�� ����	
�� ��
�RYDBERG (3.2):

1

mnλ
 = Z2R

2 2

1 1

n m
⎛ ⎞−⎜ ⎟⎝ ⎠

,

cu m > n� �
�R = 1,097373·107 m−1.
S�������
�����������.����
�������
�����������BOHR. Conform

celui de al doilea postulat al lui BOHR��
�����	
�
�'"8��������������
�:

hνmn =
mn

hc

λ
 = Z2

4
0
2 2

08

m e

h ε 2 2

1 1

n m
⎛ ⎞−⎜ ⎟⎝ ⎠

.

Com���+��� ����	

���� ���
�

R = 
4

0
3 2

08

m e

h cε
 = 

4
0

3 3 2
032

m e

cπ ε�
 = 1,097373.107 m–1,

în acord cu rezultatele experimentale.
>���������
�
����������
�
�����������
�������
��������
������

����������������������������������������������������������������������

������
���������
�����
��
��������������
; pentru atomul de hidrogen,
energia de ionizare este:

Wi = Rhc =
4

0
2 2

08

m e

h ε
 = 2,176 · 10–18 = 13,6 eV.

&����
��� ����	
�� ��� �����
�
����� $'"/%� �
� �.����
�� �������

���
������ �
�������� $'"�%�� ��	
���� valorile cuantificate ale vitezei
�����������
� ��� ���
��� �
�������)

vn = 0

n

v
,  unde v0 = 

2

02

Ze

hε
 = 

2

04

Ze

π ε�
 = 6 m

2,19 10
s

⎛ ⎞⋅⎜ ⎟⎝ ⎠
Z.   (3.8)

P������ ��
��� ���
���Bohr, factorul relativist este:

β = 0

c

v
 = 

2

02

e

hcε
 = 

2

04

e

cπ ε�
 = 

1

237
 = 0,0073 �
�β2 = 53 · 10–6,

"�1:

:����	
� ��� 
����
��� �����
�
����

���� ����������� �
����

 ��������

����
�������
�����������������.�

����
�)

νn = 
2

nω
π

 = 0
3n

ν
, unde

ν0 = 
2 4

0
3 2

04

m Z e

h ε  = 
2 4

0
3 3 2

032

m Z e

π ε�
 =

= (6,59 · 1015 Hz)Z2,

iar valorile cuantificate ale pe-
rioadei �
����

 �����������
���

���
��� ����� ����� ��� �.����
�

Tn = n3T0, unde

T0 = 
3 2

0
2 4

0

4h

m Z e

ε
 = 

3 3 2
0

2 4
0

32

m Z e

ε ε�
 =

=
16

2

1,5 10 s

Z

−⋅
.
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�
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����� ���� ���
�
���� ��� ����� ������� �


������	�� ������������ ����� �����
�	

���
� ����
��"

��&��	
��

V����
������
�
�����
�
�����������
��
��������������
��
��������

�
�������
��$����%�� ������
�����
	���� ���
��� ���������� �����	���)
nu pot lua orice valori, ci numai valori discrete�� ����������� ��
����������������n�$��
���������
���). Vom����������������������

���
�
������cuantificate, n fiind numit ����������
������������.

Modelul lui BOHR al atomului hidrogenoid este un model
cuantic compatibil, ���������
�������.
��	
�����������
�	

����.���
�

�������� �������� ��� �.������� ��� ����
��	���� �
�

���� ���������� �
� ��

�����

��� ��� 
��
����.
M.
���������
�	

��.���
��������������������.����������
�����
�����

�
�

�����������������������������
����� �
�

���������������
��������������

���������$�����
��������������
����������

������
����	
���������
%�����

��������
��.��
���������������������
��
����������
�BOHR.
0�� ���� �������� mecanica� ����
��� (o teorie ���
������� ��

SCHRÖDINGER, HEISENBERG� �
� ���	
� ��	

)�� ����
����� ��� ����
�
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��	

� �� ��
�EINSTEIN�� �.��
��� ���
��������� �����
�� ������ ������


�	

����.���
�������������������� ������������
�������������������

�

����� ���
�������� ��� �
���"

4�1� ������!�"#
���!�56$���(

Teoria lui BOHR� �� ����� 
��
�
����� ��� ������� printr-un experi-
ment remarcabil, realizat de FRANCK��
�HERTZ în����
� 191/����������
��� ����
������� ��
�� ����� 1 � ��
"

:������.���
����������������������������������
�������������

$3�%� ��� ��������
� ��������	
� �
� studiul schimbu��
� ��� �����
�� �����
��������
� �
� ����
"

Experimentul a demonstrat, ����
�'	� ��
�� ��
	��� ����
� ����

����
�	��	���������energia electronilor atomici poate lua numai valori
discrete, ��
��� ����� �����
�
������ ���� ���� �� ���������BOHR în 1924.

Într-un tub de ��
����$

���� ����������
�%����
��������
����
���
������� ��� ����
���� �������� �
� �� dispun patru electrozi (fig. 3.16):

1. catodul C $��� ������
��� 
��
�����%;
2. grila G1� ����� �����������, prin intermediul unei tensiuni

reglabile U1 (în intervalul 0–5 V), electroni
� ��
�
� ��� �����,
3. grila G2 care, cu ajutorul tensiunii reglabile U2 (având valori cu-

prinse în intervalul 0–80 V) acceler�������������

����������������
���B1;
4. anodul A�������������������������

�������������
�����
��
��

��
��
� B2� �
� ��

��� tensiunea de frânare U3 ���
����� ������ :� �
� B2

$�
.���� ��� �� 
��������
���� ��� �.������  �2�>%.

R������ 3M�,M57M=B� $1< 1;1<8�%�

�
�
�
����������

�������� ��� #���
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� 5����� $1<'(%"
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�
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B����
� 0��H
��3M=KT� $��������� 1998;

1<82%� �
�
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� �
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�tensiuni întârzietoare U3 $���������������������

��� �
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���+��
����).
M.���
�������� ������� ��
�
�� ��������
���� ��� ������ ������ $��

��������� ����
��

�U1%� �
� �������� �������� 
�������� ����
��

� ��� �����

�������U2.�*���� ��� �����
��
�������� �
.���� �� ����
��

�U3� $ �2�>%�
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���
�, înregistrându-se minime pentru valori ale tensiunii de
accelerare U2 care sunt, în medie, multipli întregi de 4,9 V.
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Rolul tensiunii întârzietoare U2 = 0,5 V este toc��
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Astfel, a fost dovedit experimenta���������
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Desigur, conform postulatelor lui BOHR�� ����
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εf = hν = hc

λ
, deci λ = 

f

hc

ε
 = 

hc

eU
 = 253,7 nm,
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Experimentul imaginat de FRANCK� �
�HERTZ �� ����� ����
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K���
�� �
����� �� ��
� BOHR� ��� ��
� ������ �.��
��� ���
��������

����������� ������� ��� ����

� ��� ��
� ���	
� ��������
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�
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�
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În sistemele de microparticule, care sunt descrise de ��������

����
���, �.
�����	��� 
������ ��� ���
�����:
– unele care nu pot ocupa ������
� ������ �����
���� ���
��

fermioni; pentru aceste particule, caracterizate de un moment cinetic
propriu (spin) semiîntreg (1/2,

3/2)� �����
�� ��� �.
���� ���� ��	
�� ��
����������diferit de la un fermion la altul din sistemul cuantic;

;P�������� ����� ��� ���� ���
� oricât de multe� ��� ������
� �����
�����
��, numite bosoni; aceste particule, caracterizate de un mo-
ment cinetic propriu (spin) întreg (0, 1, 2),� ���� �
��� ��
��� �
� �����
���
�
��� �
�
��� ��������
��
��� identice.

F�����
�	���� ������
� ����� ����� ��
���.
Un sistem de fermioni (de exemplu electronii unui atom sau

protonii ������
�	��� dintr-un nucleu%�������
������
��construit�����������

�
����������
�
: �
����������
������������
�������
������
������
������

��	
��	������
����
����������
� de ceilal	
�����
��
��
� acest sistem.
Acest fapt a fost descoperit de Wolfgang PAULI� �
�� ��� ������

������� ������� ���principiul de excluziune al lui PAULI.
Bosonii, în schimb,� ���� �
��� ������ ��������
��
�
��� 
����
���

����
	+���� ��� �.������� ��	
������ ����
������� LASER coerente
monocromatice de foarte mare intensitate.
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O analogie ����� ����

���	
�����
�����	���
����� fermioni� �

bosoni ar putea��
�����������)����

���������
�����+��
���
����+��

���
�� ������ ���
��� ��	
���� ��� teanc gros� ��� ��
�� ��� �+��� ����
���
��������
���

��������
�������������������������oricâte foi una
peste alta, dar grosimea teancului virtual ��� ��� ����
�!
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Pent��� ��������
������ ����
���� �����
��� ���
�
���� ��� �����
��

�����
������
��������numere cuantice (care pot lua valori întregi sau
semiîntregi)�� ���� ���� ����� ��� �������� BOHR�� �������� �����
�� n
caracteriza energia� �
� momentul cinetic al electronului din atom,
�������� ����	

���� ���������� $'"8�� '"/%)

En = – Z2 0
2

E

n
�
 L0 = n�.

6���������������
���������
���������������
������
����4�������

�����
�������������
��������
�
������
�����
�����������
������������

�����
���� ����� �����
�� �����
���	
� ����
�
��� �le electronilor.
(�����������
������������ n������
�
���
����
���energiei4����


�.
�����
�����	�����
���
���������
����
�������
�����������
��������
��

�
� ����� ��	
����� ��� ������� ����
�
� ��
�BOHR (de exemplu, �����
�� ��
���
��������
�����������������
��n), valorile energiei sunt apropiate
de cele cunoscute din studiul modelului BOHR. :����� ����� ������
�

�����������������
�������������
������������
����
��
����n���������
�
������� �����������
� cu K, L, M�� """� �������������� 
����
���� ��
� n)
�������K va corespunde valorii n� D� 1�� ������� L va corespunde lui
n� D� (� �
� ������
� �������"

�������	
�

#����
���	
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�
��� ���� ������������ $��� �.������ �������%

����� ������� ��� ��������

� �
�� ������� �.���
������ ������� ���+�� ������

�����
���	
� ��� 
��� ������� ��� ���
��
�
������ ���������� ��� ��� chimie.
-���.��������������
����������������)����1981��germaniul����������
��������
�������A�������
�������
���.
����	����
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��������
��ekasiliciu4
���
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��� ����� ��� ����� 
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����� ����� ��������
���� ������
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�

���� ���� ��� ������ �����
� ��� ������� ���������"

�1+��++	 ������+,+	��%�����3

$19'/;1< 8%�� ��
�
��� ���"

K������� ���
��
�� ��� ������������� ���

���� ����� ��������� ��� �������

$��������%

Ekasiliciu (Es) Germaniu (Ge)

��	����
��� prezise ��	����
��� observate

$���� �
	���� 72 u 72,59 u

Densitatea 5,5 g·cm-3 5,5 g·cm-3

)������ 4 4

Punctul de topire înalt 937,4°C

Culoarea metalului �����
�� ��������� �����
�� ���chis

Formula oxidului EsO2 GeO2

Densitatea oxidului 4,7 g·cm-3 4,23 g·cm-3

Formula clorurii EsCl4 GeCl4

Densitatea clorurii 1,9 g·cm-3 1,84 g·cm-3

Punctul de fierbere
al clorurii < 100°C 84°C
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�������momentul cinetic orbital 0L
�

 al
electronului este cuantificat în alt mod decât a indicat BOHR)����
���

���������
�momentului cinetic orbital ��������� �������+��
����
�����
��� ����	
�)

L2
0 = �(� + 1)� 2, (3.9)

în care ������������
���	�
�
�� � poate lua valor
�������
��
����
�

��
������  � �
�n – 1 (în total n valori).

Electronii au energii apropiate între ele,� ���� �
���
���� �
� ��
����������
��������������
�
�����������������
����������������������


����
���� � = 0, 1, 2, 3... cu, respectiv, s, p, d, f ... .
M���� ����� ��� 
����� ��� �
������ ������� $K, L, M, ...) va avea n

��������
)����������������K�
���
������������������s�$���������������

����

���D� %������
�����������.��������������M�
���
������
���������
�

�������������� 
����
���� ���
�
��� ���� ��
� �: 0, 1, 2.
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��� �

N������
?���� �����
������������������
)� ��
	
���� ���������� ���orbitalii
s� ��� �
����
�� ����
��"

În general, teoria lui BOHR��������
����������������
�����������


����
����
� ���� ��������
� �����
�� ��
��
�����n.
6�� 
����
����� ���
� ��������
�� ��������

� ��� ���� ���
� ��� ����


��������
��������
����
��
���
����������
��	
�i Lz a ���������
��
���
�

���
��������
���	
���.�
�Oz $�.���
.�����
�����������
������ �
�
�, de
exemplu, printr-un câmp magnetic). Astfel, Lz���������������
�
����


�������� ����	
��Lz = m�, în care m� ���������������������
�����%'

��
�� orbital �
�����������
����
�������
����
��
�
��������������
�������

��������������� ��
�������	
�+������	
�

�{–�, …, –1, 0, 1, …�}, în
total 2� + 1 valori.

*���� �����	
� ��
�	��� ���chimie�� ��������

� ��� ����� �� ��������
�
��
��� ������������)�momentul cinetic de spin, S

�
.

�������	
�

Denumirea spin����

���������
�����
�
	
����(Ralph KRONIG,
1925) ��� ������� ����� ������� ����	
�
� ��������
���� ��� ������ ���
� �.�

��� �
����
��� 
���� ����������� �
�� ����
�������� �����


���4� ����

����
������ ��� ��
���� ����� �� �����
������ 
���
������ �� ����
�������"

,�
������������
������������������������
�����-30M57MFS��
�B@-*,A�K

$1<(2%� �
� ����
����� �.���
������� ��� ,KM=5� �
�BM=0:F3.

Conform mecanicii cuantice, analog momentului cinetic or-
bital�� ���
����momentului cinetic de spin, S

�
, nu poate lua decât

v����
� ����� ��� ����	
�)
2 2( 1)S s s= + � �

(3.10)

��)/�	*�	����	���%��

$1< /;1<<2%�� �
�
�
��� �������"

*
(

 
� D� 1� E� $1� I� 1%�(� D� (�(

*
�
� D�  � ���� U�"�

Pentru � = 1 (orbitalii de tip p%���������

�
���
�����
�����������
����������������	
�

*
(

 
� D� (�("

#��
��	
���������.��Oz poate lua valorile

, 0,−� � "

����&�	��&��	#���%����

$��+����� 1<  ;1<99%� �


(�1��)	
�����1	��#�(��"� $��������

1< (;1<89%�� �
�
�
��
� �������
"
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������������������
�������
��s��������
������
����������
���������

s = ½�� ����� ��� ������ ��� ��������

� ����� fermioni;� ������� 2 23

4
S = � .

#��
��	
�� ���������
� �
���
�� ��� ��
� pe axa Oz poate lua
numai valori� ����� ��� ����	
��Sz = ms�, unde �������� ��antic mag-

netic de spin ms poate lua numai valorile semiîntregi 1
2

+  sau 1
2

− �

��
��� �.���� ����� 
����
"

Conform principiului de excluziune al lui Pauli,� ������������
��������

��
��������
����������������
������
����������
��	
��� valori

diferite ale ���
��	
ei spinului pe axa Oz ( 1
2

+  sau 1
2

− %�� ����� ��

�������������
������
����������������+��������������

��u spinul „în

sus” (ms = 1
2

+ ) sau „în jos” (ms = 1
2

− ).

6���
�����'"1<"�����������������������
������
�
���������������
���

��� ������ �������� �����
���� ����
�
��� ������� 
����
��� ���
�
��� ���

���������� �����
ce.
La chimie� �	
� ��
�	�������������
���

� ����
�
� �
������� ������

����������"�F�������regulii	,������,8+�+ $�����

�������

�������

�
�����
���
���������������
%��electronii com��������������
���(K, L, M�

"""%� �
� ��������
��� $s, p, d, ...) în ordinea ������
	��� a valorilor
energiei, respectând principiul de excluziune al lui PAULI� �
� ������

��
�HUND� $�������� ��������
�������������� �����
�� ��� �
����.
�%"

5������� �����
�  Valorile posibile;  N������� 
����
��� A��
���� ��� ���� =���	
�� ��

� ����	

� �����������
��  posibile �� �����
�
�� cuantificare

n { }1,  2,  3,  ... nedefinit Energia
2

2 4
0

22
0

1

8

Z m e
E

n nh
= − ⋅

ε������ ����
��
K, L, M, ...

���������

l { }0,  1,  ...  - 1n n Momentul cinetic 2 21L ( )= +� � �
������ ����
��� 	�
�
�� s, p, d, f, ... orbital

m { },..., 1, 0,1,...− −� � 2 l + 1 ��	������� ��� �+�� ,�� �

L mz = ������� ����
�� momentului cinetic orbital
��%��
�c orbital

s 1

2

⎧
⎨
⎩

⎫
⎬
⎭

1 Momentul cinetic
2 2 23

( 1)
4

S s s= + =� �
������ ����
�� propriu (de spin)

��� ����

�
� − +

⎧
⎨
⎩

⎫
⎬
⎭

1

2

1

2
,

2 ��	������� ��� �+�� ,� a
S mz s= �

������ ����
�� momentului cinetic de spin
��%��
��� ��� ����

( )2 2 231 1 1
2 2 4

S = + =� � ,

1
2

S
z

= ± � .

A�������� �
���
�� ��� ��
�� ���� ���
���

����� ��� ����	
��
2 23

4
S = � .

#��
��	
���������.��Oz poate lua valorile

1
2
� sau 1

2
− � .
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6�� ����
������ ���
���� ������������ �� �����

���� ��� ����� ���� �
�

�
�"�'"1<���
��������
���
�"�'"( "�:����������
���������toare a valorilor
energiei se poate memora folosind figura imitând o tabl�������� din
fig.� '"( )� ��� �������������
������������������� ���������
��
������ ��

���
�������
������
������
���
����s, p, d, f��"""��
�����������
��������cu
numerele 1, 2, 3 ...; citirea se face pe fiecare linie de la stânga la
dreapta, iar liniile se parcurg de sus în jos. -����
	
V

&
�"� '"1<"� >����
��� ���
�
��� ���� ���������� �����
��� ������� ��
����� ���
� �����
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@� ��
������������ ���	��� ������ �� �����

*���� ���� ��
	
� ��� ��� chimie:
– pe fiecare orbital ����������
����������(�E�$(� + 1) electroni;
– pot exista cel mult 2 · n2

�����
����������
������������
��n.
*����
��� ���������

� ��������
���� ��� ��������
� ��� ���
���

������������ �� �����

����� ����� ��� ����� ��� ��� ������ �����
� ��� ��

����������� ���+
� �����
���exterioare� �
� ��
�� ���
� �����
��� interioare
�������������������������������������������
���
���������
���� (I,
II, III, ...)� ����� �����������)� (�� 9��8, 18, 18, 32, ...

,�� �����
�� ��� ���� exemple modul de a nota numerele� ��
�������"�5��
��������
�������������������
�����������>�����
��
�����

germaniul��
�siliciul, având numerele atomice (egale cu numerele de
electroni) 14��
� respectiv, 32. C���
����	
����������
�� va fi������
�
�
����� '"(1"

*����������������
���������
���� ������ $M� ������� �
�
�
�� �
�N
������� ������
�%� ��� �������patru electroni, ceea ce face ca aceste
e�������� ��� �
��� �����
���	
� ������)� ��� ������
� 
����	��� ��
�������

��� ����� ��� ��������� ��� ��������� ��������
���� ��� �����
���	


���
���������������"�,����
������
����������������������
���
�����

���������� ��� ��������
� ��
� ���+
� �

�����  4s� �
� ���
� �

����� 'd�� ��
������ ��� ���������� �������
��� �� �������� �

����
"

,���

��� �������� ���
��
�� ��� ���������������
� ������ �������

������� ��� ����������� ������� ����
��� $������� 
�����%� ��� ��������


��������
��� complete; de exemplu, radonul (Z = 86).
@����
�	
� ��� ��� ������� P $���������+��� 
����

� ��.
��� �

��������
������
����
��
�����n = 6) radonul� ��������
����	
������
��
���octet. Evident, radonul� ��� 
�� ���
� ���perioada a VI-a, grupa a
VIII-a (6s26p6).

;�1��%��)��#�
 

�	�
 �	
 '���
 �����������
 ��
���
  

În 1895, fizicianul german R�03M0A RÖNTGEN�� ����+��� �����

���� ��� ����� �����
���� �� ��������
�� $��
����+��� ������ ��� ����������

��� ����
���� ������%� ���
�	
i penetrante care au produs� ����������	�
���
� ��
����� ��� ����
���
������ ��� ���
�"

!��	��
 ��
����
  

*����
��� �������
� ��� ������� �������� ���
�	

� ��� ���� ����������

��� ����� ���
��� ��� �������� ��ze X, apoi raze RÖNTGEN.
W. FRIEDRICH, P. KNIPPING �
� A�.� >@5� LAUE� ��� ��	
����� ��

1<1(���
����	
����������W������	�������
����
��������
������������+���

��� ������ ����� ������� ���� ���������ie:� ���
�	

��� W� ����� ��������

����
�	��%��
�����������
�
�����������
��
�
����+��������������
�	
�


�����

������� ����
���� ������ 1 � ��� �
� 1� ��"

*�����������
������������
�����������
�COMPTON, în acord cu
ipoteza lui EINSTEIN�� ���
�	

��� W� ��
� ���� ���
������ �
 natura
������������4���������������������
��������ele reprez
��� un flux de
fotoni mai energici decât fotonii� ���
�	
ilor� 

�
�
��� �
� �����

�����"

6p 6

5d 10

4f 14

6s 2

5p 6

4d 10

5s 2

4p 6

3d 10

4s 2

3p 6

3s 2

2p 6

2s 2

1s 2

86Rn

4p 2

3d 10

4s 2

3p 6

3s 2

2p 6

2s 2

1s 2

32Ge

0+)��)1	�����*	�C%"��%

$19/2;1<('%�� �
�
�
��� �������

�������� ��� #���
���
� 5����

������� �
�
��� ��� 1< 1"

3p 2

3s 2

2p 6

2s 2

1s 2

18Si

&
�"� '"(1"
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 ��
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 �	��
 �	&<����
 ���
 ��
 	&��

=������ W� ��� ����
�
� ��� ����� ����� ��� ��	
�� ��
� �
�i decât
razele ultraviolete se numesc raze X moi�� ��� �+��� ����� ��� ����
�


��� ����� ����������
��
�
� $���
� ����������
� �����
��%� ��� ������

raze X dure.

�	�
��
 ����	�
 ��
���
  

=��
�	

���W������������������
�����
�����������
� ����
������

��������
� �������� ��er�
�� ������� ���
� 	
���������
��"

Dispozitivul în care se produc razele X – numit tub COOLIDGE

– �����������������
��������������������������
�
��având un catod (care
emite electroni), un anod�$�������������������������

���������
��
���
��� �1�A>��+������1  �A>%��
����anticatod�$��	
���������
����������

���� ��������

� ��������	
%� $�
�"� '"((%"

M

������
������������
� �����
�������������
�������anticatod�
������� ��� �
� �
�
� ��� 
��� �������� �����W� $��
%"

M.
���� �
� ������ ��������� ��� ����� W)� Soarele, supernovele� �

��
��� cometele.

�����'������
 ��
����
  
 �	��
����&���	�
 ����	�����

,���

��� ��������� ��������W� $�
�"� '"('%�� ���� ���������� ��:
– la tensiuni mici spectrul este continuu, nu depinde în nici un

fel de natura anticatodului, iar�����
������������nu poate fi inferioar�

unei anumite valori λmin care depinde de tensiunea de accelerare;
– la tensiuni mai mari, peste spectrul continuu se suprapune

un spectru de linii care depinde��������������
��������
�������������
����� �������� ���
�	
�� ��� �������� ��������� 0� �����
����
���.

�	�
 ��
 �=�����
 ������	�
 ��
����
  

Spectrul continuu� ������ �����
��� ���
�	
�
� ��
��� ��� ��������



����� ��� ������ ��� ���
������ �
� ����� ��
� �
���� �����
�� ��������� ���

��

$��� ��
��� ����
��� ����������%� �����
�� �������������
��� ������	
����

��� ��������� vectorului ������������ $�
�"� '"(/%.
6�������
���� ��������

� ����� �������� ��� ������ 
������	
������

��	
�� ���electronii� �
���
� ���� ����	
�� ���� ���
�����
�� ����
�� �
� ������

������������������
��������	
�
��������
�������nucleele �
�������
��

��	���
� ��
����
��"

=��
�	
�������������������������������� X de frânare����������
��������

����
	+��������
���������������������
��������
��������������

������ ��� �
�� �����
�
	
"

#������ �� �.��
��� �
�
��� 
����
����� �� ����
�
���� ��� ����� ���

���������
� ���
�	
�
� ��� ��+������ �����
�� ��� ������ apel la ipoteza lui
EINSTEIN�������������

������
��������
�	
�
��������������
��"�M����
�

��.
����������
������
�
�����������
������
����������
�
���������
���

��������	
� ��� ����
�����U:

ef

hc
h E eUε = ν = ≤ =

λ
.

&
�"� '"(("� #�
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����
�

�� ������

�������������������W)������
���F@@0�*BM"

C��)� �
����
�

��� ��� �����R"� &=�M*=�F3�

#"� S5�##�5B� �
�A"� 
��� 0:-M

��� �����
��� �
����	
�� ��������W"

&
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�	
�
� W
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&
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�� ������	
����� ��� ��������
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�
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�� 	����	�� ����
	� ��

���	��
�� 
���������
� �� ��
	������

����� ��� �� !
���� 
�����
�"�	#

����� �����	�� $%&'(�&�

)��
���$%&'(�&����	
�� ��� ������	�

���	*�
����
� ���	
���
	� ��	� 
�
�� +	��

�� ��
������������ ���	��� ������ �� �����

R	�
������ λ ≥ hc

eU

2
2 2

1 1 1
( )mn

mm

Z R
n m

⎛ ⎞= ν = − σ −⎜ ⎟λ ⎝ ⎠
� ,

$�����	����$����
����
���
���������Z��
���������	�������������������

����
�
�� ��� 	�	�������� 	'�	������ 

��� ���	�	��� ����� �	� ��������

��
�����������nucleului de electronii din straturile inferioare, σ� 
	
�
�	��	����

	�
��������	�	������
	��	�	������	'�	���	�������	���


��	���	� ���� �	� ����� în parte [ ]( )1, 1σ∈ − , *,n m∈�  cu m n> .
De fapt, MOSELEY����	
���	����	'�	���	����������	���
���	���	

�����	�������������������
�
����������	���
�	
��	�������������������	�

3� ������	��
���	� ��	��	� ������� �
� �
���
�� ������:

( )a Z bν = − , unde a� ���b sunt constante pozitive.

����������	
 ���	�
�
�

• 4����� ��������	� �� ���	���� X a fost radiografierea� ����
�
�

�����5������������
�
��������������e X 

�����
�����	�$���������	���

�	� ���	���	� ��&��	�� �
�	�� �����	�� �	� 
�� ����� ����&������ 
�
� �	� 
�

	�������
��	
�	�������&������	�����
�
��
����(în special ale oaselor�
���	� ��
���� $���������	���

��� ���	�	�3�� ���&�� ���1��

• Deoarece, conform legii lui MOSELEY�� �
�&����	� �	� 
���

��
	����	���	��������	��3�������	��
���	��	������	��
���
���������6�


�
��
�� 
�	���
�
�� �������	�� 3� ������	��
���	� permite identificarea
elementelor anticatodului��7�	�
����	�����	
�	��	��
��
�������������	

��� ����
���� �	���
� ����	������� mici ale atomilor în prob�� ���������.
8
���
�� ������� ��	��
� ��� 
����� �����	� 	�	�	��	�	� ����

����	�	� �

��
�� 
���������������	�
����	����� Acum se� ����
	
��������	��	� ���	
3� ���	����	� �
� ����
�����
�� ��� �������� 
�	���elor se face automat.

• În cristalografie, d�������� �
�&������� �	� 
���������� �����"

�����	� �
� �������	� ��
����	���� ���	�������	� ���� ���
���	�� ���������	� 3

�	����� investigarea structurii cristaline.� 5��������� BRAGG� �	����	

�� �!�"#! � $�%%��!���&��
��

�+,,-/+0+1��� ��������� 	�&�	��

��

������� ���������	
�����
��� 	
���
�	�����


�����	��������
	
��������

�����e i��
��������������� cu tensiunea
de accelerare a electronilor, în acord cu rezultatele experimentale.

Spectrul de linii ���������� �� ������
������
) ���� �� �
� ���
	

�	������
������������������	�������	����������������������������	�����

��������� ��� ��������� �� ���
�	��� ���������
	
��� ��� ������ ����
��

���������������������
�������������������
�
���	���������������������

�
�	�
	
���������
�	
��������
���K. ���
�
����������������	�	����	�������

����������
�������	
	��
���������
���
����� ����������
��� � ��������

�������� ��� �
��� �������� �
!� "��
�� ��� fotoni, conform celui de al
doilea postulat al lui BOHR.

Prin analogie cu formula lui RYDBERG (3.3)��"��������	�����������

�
�������� "����	�
	�����
� ��	������
����
����
!��

�	����� legea lui
MOSELEY:
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������
������ �
����	�
� �
����� ����
�� folosind� ����	
a 2d nsinθ λ= ,
unde d� ����� �
����	�� �
����� ����� ������ 
��
��� ���� ���
� ���
�



��� ������ ��
����
��� ���������� n = 1, 2, 3, ... �
 unghiul θ
π

=
− Φ
2

(fig. 3.26).

• @����
��	
��
��������������������W������defectoscopia)��
�����
�����
��������
�
��
�
��������
������

���������

���	
�����������������


����
����� $�����
%� $�
�"� '"(8%.
• 6��1<2'���
�������C"�R:K,@5��
��
�
�
�����&"�F=�FS��������
�
�

structura acidului dezoxiribonucleic� $:*5%� �����
��� ���
�	

���W"
• Dispozitivele cu r��
�	

� W� ����
�� controlul bagajelor în

aeroporturi.
• 6�� ���
��� 
������ ���
�	

��� W� ��������� ��� ������ ������

�

������

����
���
������������������������	��
�����
������
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����
�
�����
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��� �
���� $�
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�
�
��%, pentru a observa imaginile date de razele X� �����
�� ��

folosim detectori)�����
�sau filme fotografice fotostimulabile, ecrane
cu cristale fluorescente, detectori� ��� ��
��
��	
�, detectori cu
semiconductoare etc.
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���W���������
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������� �����
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� ��
������ ���+��� ������������	

 periculoase.
A����
����� ��
��
���� ��� 
������	
���� ������� ��� ����������,

prin efect COMPTON, a electronilor de recul rapizi, cu mare putere de
ionizare.
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Amintim doar laserii cu cristal de rubin $�
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�"�'"' %, cu semiconductoare
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Fasciculul laser este extrem de periculos, astfel încât:
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– lezarea corneei;
– �
���������� 	�������
� ��������
�
l;
– opacifierea cristalinului;
– dezlipirea retinei.
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– lezarea pielii;
– inducerea unor tumori maligne;
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Fasciculul laser este coerent
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Fasciculul laser este monocromatic
0��	
� �� ��
���� ���
��� �
� �������	
� ��� ����������	
� ���
��

��������
4������
�	
� �������������� ������	
����
����
���������� ������

�������
������0:,M=�����������������������
����������+�������������

��� ��� �
� ���������� ��
���"

Fasciculul laser este intens
F������	
����
���
����������
���������������
��������������
���

��� ������ ��� ���
���
������ �������� ��� ��� ���� ��
���
��� ��� 1  �R�

������� ��� ������
� �
����	�� ��� �������4� ��	
��	
� ��� �������� ��������


$1P�R%� ����� ���	� ��
�� ��� ���� ��� 	��� ���� ���� decât a becului.

#������������������1���
(
�������
��
�����������������������

��� 1 �R� $��� ������ ��� ����� ��� ��


� �
����� ����
�����%� ����� ��

����.
���

� ( R"

#�������������	
�)���


���
������,������������������1���
(

��� ���
��
� ����
�  �1 R�� ��
��� ��� (  � ��� ��
���
� ��	
�"

���&@��C
!	
���>�@�
 ������
 �������B

����
 �=������&��

Un fascicul laser va fi difuzat (;1/�:D�+��) la trecerea���
������

��� ��� ���� ����� ���	
��� �� �������
�� ����
����� $��� �
�"� '"'/� ����

������������� �� ����	
�� ��� ���
��� ����
���%"� #���	
� �������� ��� ���� ��

����� �	
� ���� ��	
�� ���+��"

&����
��� 
����� �
�� �.���
������� �����
���� ����	
� �

���	
�

��A��,8+�� �
� ��A)�E+�	 ����):.
Un exper
����� ������������ ���������� ������� ��� ���
�	
�� �����

����� )+�+��	/�)��+<��:"�&���	
���� ����
������ ������ ������ �������������

�������	�������
����� ����������
��������.
���

�� !��
������
	
�����

������� ��� ��� ������ ���
����
�� ������4� ���
	
� ����� �������� ��� �����

�
���	
�
� ����
� 
��
������ $���	
�+��� ����
��� ��� 
��
���	�� ��� � !%"

@����
�	
� ����
��
���� ���
���
������ ����
"

������@����
 ���������

*����
��������
���	
��������	����������

�����������������
��	



����
���������
������, în industrie, în ��������, în 
�����������
���, în

��
��� ��� ����.

#����
������
��	

��� �����
������������
�
�������
��������+����
�

��� ��� ��� ��
� ����� ��� 

�	�� �������� ��� �
� ��� �
�� ��� �.�����

�����
��	

��� ��
�� �
���� ���
��"

-��� �
����� ��
����� ���
��	

� ���� �����
���� �� ����� holografia
$�����
	
� ��	
������ �
� �
�
���� ���
� ���������� ��� �
�"� '"'2%"

&
�"� '"'/"� K�������� ���
� ����
���� �����

��
������ ����	
�� ����
����"

�F���	 �Á���� $1<  ;1<8<%�

�
�
�
�������
���� �������� ��� #���
���


5����� ������� �
�
��� $1<81%"

T���� ���������



���
����� ��� ��

������ ��� �����
�	�

����
��� ��������
��

3��������� ��

��
����� ��� ������

&
�"� '"'2"� @�	
������ �
� �
�
���

���
� ���������"



!5������� �	
����

#�
�� ������������� N����
� ��
���?� $����������� ��� ��
���%� ��� �

�������������
�	�����������
���������������������������
������
�������


���������	��� ��� ��������� ��	
����� �����
������� �
� 
������	
�� ������

������$�����������
������������������
�������
���
��%"�0������������	
��

��
�� 
���
������ ��� ���
��� ������ �� ���������
�� ��� �������
��
�� ����

��
���� �
� ������ 
���
���� ��
�
����
������ �� ��
������
�� ����� ��� 
�


����� �
���
�� �
�� ���
	

� �
���
��"

3�������
���������
�
����������1</8�����������
�
�
���������
��

*X���PGÁBOR� $1<  ;1<8<%�� ����� �� ��	
���� ������� �������� ����
��

5����� $1<81%"� :����
� ����	
� �����
�� holograme pe multe produse
comerciale sau acte de identitate.

În construc���, laserul este folosit pentru aliniere (poduri,
tunele). Un exemplu spectaculos este canalul de sub Marea Mânecii.
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$coagularea se face practic instantaneu).
În industrie, laserii se folosesc pentru ,�����)�)	��/��A�8�)��,
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În divertisment, laserii se folosesc pentru crearea de imagini
speciale.
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1. Fenomenul de descompunere a luminii albe în culorile
componente cu ajutorul unei prisme optice sau a unei ��	������
�
����	
�� ��� ��������dispersie.
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7. Pe baza liniilor spectrale ale hidrogenului observate în vizibil ( Hα , Hβ , H γ , Hδ ) BALMER a elaborat,
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8. În 1990, RYDBERG a generalizat formula lui BALMER� ��� �	���
����	� 
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�	�����	� ��	�9����&	�
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��	� ��������� 9����&	������

2
2 2

1 1 1
,

mn

Z R
n mλ

⎛ ⎞= −⎜ ⎟⎝ ⎠
unde R este constanta lui RYDBERG.
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9. Seriile spectrale ale atomilor hidrogenoizi sunt situate în ultraviolet (seria LYMAN), în vizibil (seria
BALME:��� $�� ��������
� �
	��ile PASCHEN, BRACKETT, PFUNDT� ���HUMPHREYS).
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14. Modelele atomice propuse de DALTON (al sferei rigide)� ���THOMSON� ������
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15. În anul 1911, RUTHERFORD a elaborat modelul planetar al atomului pe baza rezultatelor experimentului
efectuat d	� 	�� $�� +0;0�� �	� ���������	� �� 
�	�� ����	� �	� �
�� �
� ������
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�������������������
��������

��������������������
���

�
�� ��
��
���� ��������
�������� ��������
� �

��� ����� ��� ����.
���

� 19/ � ��� ��
�mai mare� ���+������

�����������
"�*����
���������
���������
�N��������?����������
������������
�����������������e „aproape gol”.
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19" *��
� �� ����� �����
��	

� 
���������� ��� ������������ ��������

� �������
�� ��� ���������	�� ��� ������

�.���
����������������� ����
�� ��� ��
�RUTHERFORD nu� ������ ��� �.��
��)� stabilitatea atomului, modul
în care atomii emit sau absorb energie, ��������� �
omilor în tabelul periodic al elementelor.
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19. Schimbul discontinuu���������
���
���������
��
����
���������������������������PLANCK���������1<  �

��
�� 
������� ����������� ��� ��������� ����
�� ����
��� ��� �.��
��� �
���
��	
�� ���������� �� ���
�	
�
� ����
��"
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20. Cuantele de energie hε = ν = ω� , unde 
π2

h=� , h fiind constanta lui PLANCK: 316,624 10  J sh −= ⋅ ⋅ �

��� ��
���	
����� ��������� �+��
��� �
�
��� ��� ��� ���������� ��������
� ��� WW������ ���+��� ������� fizicii
cuantice.
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21. Teoria cuantelor de energie� �� ����� ���
������� ��� ������EINSTEIN în anul 1905, prin ipoteza fotonilor�

��������� ������� �� �.��
��� efectul fotoelectric� �
� efectul COMPTON. Fotonii� ����� ����
����	
� ��� �����

EINSTEIN �	��������� ��� ������, de energie hε = ν � �
� 
������
h h

p
c

ν= =
λ

�� ����	

� ����� �

���	
���

caracterul dual, ondulatoriu-corpuscular� ��� ���
�	
�
"
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22.  Modelul atomic al lui BOHR����������������������������������������������������������������������

�
��e �����������������
�
���� a momentului cinetic, reprezentând primul model cantitativ�����������
�

��� ����� ����� ����������� ��������� �
�neajunsurile modelului lui RUTHERFORD.
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23. Primul postulat al lui BOHR: 1
	�����	�
���+��
�������� 4�������
���
�����
���	���� ������
�����
����

������������
��������%���E1, E2, …, En, � 4�������������
���������
�	��
������%��!�#�
��������������
�

�������
� ����� �����
�
����"
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24. Al doilea postulat al lui BOHR: 1
	�����	�
��
��������
�'	��
�����
���	������������%�e En 4����
���
���

�
���	������������%���&
�

 prin emisia sau �
�	�
�������������
���������%�� �������������
m nE E

h

−
ν = "

:������� �������� �� �������
� �
������ ������ ���	
������ ��� ����� ��� �������� 
��������� ����
���.
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25. Pentru a selecta ���
��������	
������������������
������������

��BOHR a introdus o ���������������
�
����
�� ���������
� �
���
�)� ��������� �
���
�� ��� �����������
� ��� �
������� ��� ��� ���
����� ���	
������ ����

�����
�
���� ��� ����	
��m0vr = n�, unde n� ����� ��� ������ ��������� ���
�� ������ �����
�� ��
��
���.
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������
	
��������
�
�����
���
����������
�������������
��� �� �����������
� �����	
��� ���������
�����

n-a orbite: 2
0nrr = , unde 2

0

2
0

0

4

Zem
r

�πε=  este raza primei orbite a lui BOHR (pentru hidrogen,

0 0,529r = Å).
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27. Pentru valorile cuantificate ale energiei totale� �� �����������
� ��� ��	
�� 
����
��)�
2
02

n

E
ZEn −= , unde

2
0

0 2 2 2
032

m e
E =

π ε�
�� ��
��� 
����
��� ���rgiei scad cu ��������� ��������
� �����
��n.
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28. Energia de ionizare a atomului de hidrogen este 13,6 eViE = ��
�������
�������	�������������������
�


��� ����� �����
�� ��� �� ��
������� ��� ��������� ������ ��� ������ ������������� ( )1=n � ������� �� ������ ��

����������� ������"
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29. Modelul atomic al lui BOHR nu poate explica: intensitatea liniilor spectrale���
�������������������
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�����
���� �
���
���� ����� �� ������	�� ����
����� �

���	
���� �.���
������� �
� ����� ���������
� ����
�
��� ���

a
	���	�������������������
�	���$���������������������������
����������
��%����"�K��������������������


��� �
� �.��
�������
� �+��
�� ��� ������ ������� ����
���� ����� ���
����� ����
�� ��
�7@3="
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30. Datele spectroscopice� ����
���� ������� �������
���������� ��
�BOHR�� ��� �.������� ����
��	���� �
�

���

���������� ��
��� ��� ������ �����

��� ��� 
��
����� ���"

Pag. 69

'1" F���
��������.���
��������������
�	��	���������������
���
�7�3=������������
�������.���
���������


FRANCK��
�HERTZ (1914), care a doved
���������

�����������$3�%���������

������������
��discrete"
F���
����
���nespectroscopice� ����� 
�������	����
��
�
���� ��� �
�
���� �

��������������������� ����

��

������ �
�������� ����
� ��� 
������������� �������� �����������
��"
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32. Comportarea sistemelor de particule identice� $��
��� �� ����
�������� ����� ��� �������
� �����
���	
%�� nu
������ �
� �.��
����� ���
��������� ��� ����
�� ��
� BOHR�� ����� ��� ����� �
��
��	
�� ����� bosoni� �
� fermioni"
M�������

��

�������
��
���������������
��+�����
�������
����	
����������
�������$��
��
�
�������.����
���

��� ��
� #:-0�%�� ��� �+��� �����

� $��� �.������� �����

%� ���� �
� ��
�+�� ������	
� ��� ������
� �����"
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33. Fermionii sunt particule care au spinul semiîntreg ( 1
2 , 3

2 ) pe când bosonii��������������
��	
������
�
întreg (0, 1, 2).
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������������ ���	��� ������ �� �����

34. În limbaj cuantic������������
������������������������
���������������
�
�����������������������������

�����
��) �������������
����
��
����� (cu valori naturale nenule: 1, 2, '� """%�� ����������
�
���energia,
�������� �����
�� ���
���� � � $��� 
����
� ��������� ����
���� ������  � �
� n – 1%�� ����� �����
�
��� ���
���

momentului cinetic orbital, �������������
��������
�����
��� m (cu valori întregi cuprinse între -���

�%������������
�
�����	�����������+��,�����	���
���������
�� orbital�$��������
���momentului magnetic
orbital%� �
� �������� �����
��������
�� ��� ��
��ms (cu valorile semiîntregi - 1

2 � �
�
1

2 %�� ����� �����
�
��

��	������� ��� �+�� ,�� �� �	���
����� ����
��� ��	���� (de spin%� ��� �����������
� $���
���� ������
�� ����

�����
�
����� ����������� ����
��� ��� ���� s = 1
2 ).
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35. Conform principiului de excluziune al lui PAULI, orbi����� ��
��
����
� ��������
�� ��� ������������ ��

��������
� 	
�+������������������
���������
�$fermioni) nu������
���������
���������
����
������������
������������������
�����������
�����������"�=������������.���������������.
�������������(�

(
���������


��� ������
� ������ �����
��n.
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36. Razele X au fost descoperite de RÖNTGEN� ��� ����� 19<2� �����
+��� ����������	�� ����� ��
������ ��

���
��	�������� ��� 
����� ����� ��� ������ ��� �����
����� ����� �����
� ��� ����������� ��� ����� �����
���� ���

����
��
� ������"� 6�� �����
������ �����W��.
�������catod care emite electroni, un anod care �����������
��������

� ��
�
� ��� ������ �
� ���anticatod care emite razele X� �+��� ����� ���������� ��� ��������



��������	
"
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'8" ,������������������������W�sunt de ��������������������
����
��������
�
�����������
��
�
����+������

���� ���������	�� ��
����	��
� (sub 10 nm).
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'9" =��
�	

���W� ��� ���� ��	
��� �
�� ��
�� frânarea electronilor ��������	
 (��������� 0� ��� ����
��� continuu),
fie prin ionizarea atomilor anticatodului������������������

���������	
���
+������������� 4������
����

�������������
������������
�����������������������
�$.�����*%��
�producerea�����������
	

�$�����succed
procesele de ionizare) pentru rearanjarea electronilor pe nivelele atomice (cu emisia de fotoni X cu
un spectru de linii: ��������� 0� �����
����
���).
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'<" &���
��	���� ���
�	

����W� ��������
��
��� ��� ���� ������
��� �
�� legea lui MOSELEY ( )a Z bν = − �� ����

������ ��� �����
��� �������� �� ����
��	�
� ���
�	
�
� ������� �
�
��� ��� �������� ����
��Z.
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40. În cristalografie�� ���
�	

��� W� ����
�� 
�
���
������ structurii cristalelor pe baza legii lui BRAGG:
2 sind nθ = λ .

Pag. 78, 79

41. Alte ���
��	

��������
�	

����W)�radiografierea organismelor vii, defectoscopia industrial�, identificarea
unor elemente chimice��
����������������
������
�����	�
�
������	������, controlul nedistructiv al unor
piese masive etc.

Pag. 78, 79
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����

/(" *����	
� razelor X se poate face cu ������ �
� filme fotografice, ecrane fluorescente, ��
��
	��� ��

����
�����e sau cu materiale semiconductoare.
Pag. 79

/'" #�����	
� organismului uman împotriva efectelor de ionizare ale razelor X se face prin utilizarea
ecranelor, a hainelor��
�echipamentelor protectoare����������
���
��reducerea la minimum a timpului
de expunere.
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44. LASERUL este un dispozitiv cuantic pentru generarea��
 amplificarea����
�	
�
��������������
�����������

��
�� ��
�
�� ��
������� �� ���
�	
�
"
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45. Amplificarea����
�	
�
�����
����
�

����LASER se face prin���������
�����
����������������
������	
����

���
� foton cu energia 2 1E Eε = ω = −�  cu un atom excitat având nivelele energetice E1� �
�E24� ��
�

����.�
������ �������
� �������� doi fotoni ������	
 între ei (cu �������� ���������� �
� ����� ���
������ 4�

����%"�*�������������
	

���������������������������
������
�
����
���������������
�����������
��
�����

��� �
������ a fotonilor, rezultând amplificarea� ���
�	
�
� ��������"
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/�" #������ �� �
� ���
�
�� amplificarea� ���
�	
�
� ��
�
�
� ��
�������� ���
��� �����
�� ��� ����
���� i�
���
�� ��
������	
��� ��
��� �������� ��� �
������ ����
��� �.�
�����N2� �������
���
� ���

� �����
�� ��� �
��mai mare
��� ������� ��� �������� ��� �
������ ����
��� ���.�
�����N1 (�	�������� N2 a nivelului LASER superior E2
�����
�� ��� �
��mai mare� ���+�� ������	
��N1 a nivelului LASER inferior E1�� ��
���N2 – N1 > 0,� ���
� ��
�����������N2 < N1 $���������
���
��	
�
�BOLTZMANN).
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/8" F���
	
��N2 – N1 > 0������������
�
����V�,�����
����� pragul LASER���
�����
����(
�
����
��� ��������

��� �	�������� ��� ���%�� ��
��� 
�
���
�� ��� ������	
��������� ��������� ������� �� �
��� ���� ����
�
�����

���
�	
�
�$pu��������
�������
��mai mare decât �
�����
���������
�	
� prin diferite procese). Mecanismul
prin care mediul LASER���
�����������
������������������
���
�
���
�����������	
�������������pompaj.
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/9" #�������������	
�����
�������������������	��������������g������
���
���������
�����
��"�#�������������

��� ��
�
������ ��

������ ���
��� ���������, un ansamblu de �	��� 	%������ ��������� �������� ��� ��������

���
���
� LASER, pentru a produce �����+��� ����
�
�� �� �����
���� ������
��� ���

� ����� ���� 
�
���
�� ��

������	
�� prin pompaj, pentru a participa la ������� �
�����
�� �4�� ���������, deci la amplificarea
���
�	
�
"�@� ����	
���� �
�� �����
� �����
� ����� ��� ��
���� ��� ����� ��� ��
� ������ ���
��
� ����� ������
��� ��

�.���
��� ������
�+���puterea LASER� ��� �������� ��
��� ����
������ LASER� ��
�
���� ��� ���������� ���
��	

"
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49. Caracteristicile���
��
������������
�	
�
�LASER sunt: ������	��������� monocromaticitatea, �
���	
����
�����
������� ����� �
� ����
������ ��� �����
�� ���
����� ������� �
�
������ �����
���	
� ����� ��� ���
��	

� 
��������e
în toate domeniile.
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50. Principalele tipuri de laseri� �
������������� ��������
�
��� ale acestora sunt: laserul cu semiconductori
(λ = 1,53 μm) utilizat în �����
��	

������
��, laserul cu heliu-neon He-Ne (l = 0,63 μm) utilizat în holografie
�
����������
 de precizie, laserul ����
������	��
�������	����( 1,06 mλ = μ ) utilizat în industrie��
����
��	


����
���, laserul cu dioxid de carbon CO2 ( 10,6 mλ = μ ) utilizat în industrie��
�������
�
�� etc.

Pag. 80, 82
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��Z� ��� �����������
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����� ����� �����
�� ��� �������� THOMSON�� �������	
� ��������� �
����� 
�������� ����
�

� ���
�

�� �
� 
������

�������
�� ����� �
�������� ������
�atom este d"�:��
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�� �����
��)�Z = 1, d = 0,106 nm.
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���������������� ���,"�"� ����)� [ ]ρ
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= = −C
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C m3

3. Deoarece sarcina p��
�

�� �� �������
� �����Q+ = Ze

= 1,6.10-19
� F�� 
��� 
������� ���� ����� V

d
=

π 3

6
�� �������� ρ

π
= =+Q

V

Ze

d

6
3 "� #������ ���
��	
�� �����
��)� ρ =

= 2,57.1011 Cm−3.

2. F���
����	
� ��� ������� ��� �
������� ��� �
� �����
�� ��� �������� ��
�THOMSON. Reprez����	
� ����
�
��������	������
����	���+���������������������
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����
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>�������� ��.
��� �� ���	�
� ����� Fmax = 8,2.10−8 N (pentru
r = RH = 0,053 nm). Graficul este reprezentat în fig. 1.
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Aplicând legea MOSELEY, ��	
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����� �������� ν = ⋅ −
3
4

1Rc Z( ) 4� �������������� ����
��� ����� �������� ��� �
�"� ("

4.�F���
����	
����������������������������
�����
������"�#������������
��

���
�����
�� �
��������� �����
�� �
���
��� �� �����������
� ���� 
�������� (�18�� �C"

*�����
��	
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����� �����������
� �
 raza traiectoriei sale circulare.
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cin2

e

E

m
=v , de unde � = 2,19·106 ms−1. Deoarece

E E
e

r
k

e

rcin pot= − = + =
2

0
0

2

8 2πε
����������r k

e

E
= 0

2

2 cin

, deci: r = ⋅
⋅

⋅ ⋅
= ⋅

−

−
−9 10

2 56 10

2 2 176 10
5 29 109

38

18
11,

,
, m = 52,9 pm.

5. Considera	
� �����������BOHR s-ar putea extinde la atomul de heliu.
#��������	
� ��� ��������

� ������
� ����� ��� �
���� ��� ������
� ���
��� �
��������� ��� �
����	�� ��.
��

���
�
��� ����� ��� ������ $��� ��������� ���
� �
������� ��� ���
�����
�
%� �
� ��� �������� ����� �
..
,��
�	
� �.����

��� ����� ������
���)� �����
�� �����	
���� ��� 
������	
���� �������
����� ������� ��

�����
�
������ ����
	
�� ��� ���
�
���� �� ���
��
"

��
��>���C

M����
�� �����	
���� ��� 
������	
���� �������
���� ��� ���
��� 	
�+��� ������ ��� 
������	
��
��

���������������
� �
� ���ctron-electron: E
e

r

e

r

e

rpot = −
⎛

⎝
⎜

⎞

⎠
⎟ + = −2

2

4 4 2

7

8

2

0

2

0

2

0πε πε πε( )
"�F���
	
����������
�
����� ��

���
�)� �m0vr = n�"� F���
	
�� ��� ����
�
����� �� ���
��
� ����)

2 2 2
0

2 2 2
0 0 0

2 7

4 4 4 16

m e e e

r r r r
= − =

πε πε ⋅ πε

2v
.

�>�@��
�������
�������������m����������������������

��������
�����

��
������������������+���������	�

������

�)

( ) 0 0

0

0

0

r
F , r R

F r r
, r R

⎧− < <⎪= ⎨
⎪ ≥⎩

�

� �

unde F0 �
�R0� ����� ���������� ���
�

�"� #���������� ��� ����� 
����
��� legile mecanicii clasice, postulatele lui
BOHR� �
� �	������� ��� ����
�������� �� �	���
����� ����
��� 	�
�
��"� *�����
��	
�� ������� ����
��� ������� �le
microparticulei:

�%� ����������
������ ����
���� 

����� �
� �����
���
�������
����
� ���������+��� �
�����
� ���
��� ����
��4

�%� 

���������
������� ���
����� �
� ����
��	����� ����	
�� ��� �
���������
��� ����
��4

c) spectrul energetic, energia nec��������
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:��
��	
�������
��)�m = 1,00 · 10−30 kg; R0 = 4,77 · 10−10 m; ��= 1,06 · 10−34 J · s; �F0 = 8,00 · 10−42 N · J · s.
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*
�� �.����
�� ���	�
� ��� ������ ������� ��������	�� �����
�
� �����	
���� ��� �
����	�� $�
�"� '%)

E
F r C r R

F R C r Rpot =
+ < <

+ ≥

⎧
⎨
⎩

0 0

0 0 0

0,

,
.

F���
	
�� ��� ����
�
����� ��� ���
�����
�� �
�������� $������ r < R0) va fi: 
2

0

m
F

r
=v

,� 
��� ����
	ia de

cuantificare ne va da: ,m r n n= ∈� �v .

M����
�� ������� 
�� �
��� �.����
�)�

2

0 0

3

2 2

m
E F r C F r C= + + = +v

.
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Alegem C = – F0R0, astfel încât Epot(R0) = C+ F0R0 = 0.

=������)
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2 2

m
E F r R

⎛ ⎞= + −⎜ ⎟⎝ ⎠
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⎛

⎝
⎜

⎞
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⎟ = ⋅−�
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1
3

2
3 0 5310( , . m) n

2
3 ;

1
3

1 1
3 360

2

m
2,00.10

sn

F
n n

m
⎛ ⎞ ⎛ ⎞= = ⋅⎜ ⎟ ⎜ ⎟⎝ ⎠ ⎝ ⎠

�
v ;

E
F

m
n F R nn =

⎛

⎝
⎜

⎞

⎠
⎟ − = ⋅ − = ⋅ −−3

2
610 6 37 5 60

2

0 0
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( . ( ( , )J) ) eV) (n

1
3 .

Deoarece rn < R0 �������� ���n < 27.
>
���������
����������
������
�����
��	���������	
������
�������
��������
����

����
��� ����)

1
316 -1(3,77 10 s )n

n
n

n
r

−ω = = ⋅ ⋅v
;

1
3162

(1,66 10 s)n
n

n

r
T n

v
−π= = ⋅ ⋅ � �


1
3161

(0,60 10 Hz)n
n

n
T

−ν = = ⋅ ⋅ .

Pentru spectrul energetic, vezi fig. 4. Lucrul de extrac	
�� ����)
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e 27 1 4,80 10 J 300 eVL E E −= − = ⋅ = .
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⎜

⎞

⎠
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0
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1
3

2
3

2
3( ) , în care n = 1,2,...,25 iar m = n +1, n+2,...,26.
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R. N
�����
	



 = 2 O 3 O 5 = 30; Nlinii = 3.

2.� F���
����	
��������� ��������� ��� �������
� ��� �
������"

Cal����	
� ��������� �
����� ���	�� ��� 
������	
���� �������
���� �
� ���	�� ��� �����	
�� ��

������� �
����

������� �
� ��������"

R. 2,27.1039

&
�"� '"

&
�"� '"



'�������� �	
����

3.� F���
����	
� �������� ��������� ��� �������
� ��� �
������"� #������ �� ����
��� ���
�����
�� �
��������

�����
�� �
���
��� �� �����������
� ���� 
�������� (�18�� �C� $1� ����� D� 1 
;19

%"

*�����
��	
� �����
�� ������� �
� �����
�� �����	
���� �� �
�������
� ��� �������� �
���	
�"

R. Etot = − 2,176 aJ, Epot = − 4,352 aJ

4.� #��������	
� ��� ����

� ����� �����
�
� ��� ��������THOMSON� �
� ��� ����
������ 
����
��� �� ����
�



���
�

�� ����� ������
� ������� ��	
� ����

"�*
�������� �������
� ��� �
������� $ZH = 1) este dH = 0,106 nm.
6�������������
	

�� ����
�
	
��� ����	
�� �������
��������d�������
�������
�������������������
���Z din

tabelul periodic al elementelor.
*���+�����
���� �����
�����
��mai mare diametrul atomului de oxigen (ZO = 8) decât cel al atomului

de hidrogen?

R. d
Ze

d ZH=
⎛

⎝
⎜

⎞

⎠
⎟ =

6
1 3

1 3

πρ
; dO = 2dH.

5.� F���
���+��� ��� ��
� 
��
� 
������	
������� ��� �� ���	�� ��� tipul
�

�

F Ce
e

r

r

r
r= −

⎛

⎝
⎜

⎞

⎠
⎟−β α

πε

2

0
24

, 
��
��	
� �

������� ����
��� ������� �� ������
��� �
����	�� r0� ��� ����� ���	�� ��� ��������"

R.�,����������F Ce r
1 = −β

�
�F
e

r2

2

0
24

=
α
πε

"�,������������ f1= ln F1��
�f2= ln F2"�,��������
�������������


����
�� f1(r)� �
 f2(r), apoi� ��� ������
��� 
�������� ��
� r� ������� ����� ����� ����� ����
��� ��� 
������������"
:
����������������f1(r)���������������4����������
��������������
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 F2(r)��������
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6. Considera	
���������BOHR al atomului de hidrogen.
F���� ����� 
���������
�
��� �����������i cinetic orbital al electronului?

R. 1,06.10−34 Js

7.� =���� ���
�� $ν = 435 THz) a unui fascicul LASER are o putere de 1 mW.
F+	
� �����
� ������ ��� ��
������ ��� �
���� ��
������ ���	
���� �����
������� �� ����
������
Q

R. 3,47.1015

8.�F���
��������������BOHR al atomului de hidrogen.
Care este expresia constantei lui RYDBERG, în ipoteza nucleului fix?
F��� ������
�
��� 
�������� ������
� ���������� ����� ��� 	
��� ��������� ������� ��� �������� ��� ����� �
.Q

R. În ipoteza nucleului fix, R
m e

h c

m e

c
= =0

4

3
0
2

0
4

3 3
0
28 64ε π ε�

.
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⎠
⎟

=
+
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⎝
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⎠
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3
0
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0
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3 3
0
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�
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9.� F���
����	
� ��� ����
�� ��
�BOHR s-ar putea extinde la studiul atomului de heliu.
#��������	
� ��� ��������

� ������
� ����� ��� �
���� ��� ������
� ���
��� �
��������� ��� �
����	�� ��.
��

���
�
��� ����� ��� ������ $��� ��������� ���
� �
������� ��� ���
�����
�
%� �
� ��� �������� ����� �
."
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<���
��������������	�	�9�����
��������	���
���	���	'��	
���energiei totale�������
�
�� $���
����	��	�r.
7���� ������ ��� ��		���� �	&
��� �	� �
���������	��� �	�	�������� �������	� �
���������	� ��	 razei� ��� energiei.

R.�5��� ���������

2
0

2
0
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m e
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=
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 se poate deduce E Ecin pot= −

1

4
� ��� E E

e

r
= = −

3

4
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2

0
pot πε
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<���
���� ��� �	������
0m r n= �v �� �	�
����

r
h

m e
n

m e
nn = =

16
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0
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0
2

2ε
π

πε �
��� E

m e

h n

m e

nn = − ⋅ = − ⋅
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2048

1 147
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4

2
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0
4
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0
2 2ε π ε�
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10.� )���
����� ����tele ����������� ��� ����� ��� ��	� ������������ liniilor spectrale ale seriilor (=>78�

?7(>@:��47%)A@8��?:7)B@CC��4<D85C����AD>4A:@=%.
R.

Seria n λmin ( ,= 91127 2nm) n λmax ( , )
( )

=
+
+

91127
1

2 1

2 2

nm
n n

n

LYMAN 1 91,127 121,503

BALMER 2 364,508 656,114

PASCHEN 3 820,143 1875,61

BRACKETT 4 1458,03 4050,09

PFUNDT 5 2278,18 7455,85

HUMPHREYS 6 3280,57 12365,2

Seria n νmin

( )( , )

( )
=

+
+

2 1 3 292

12 2

n

n n

PHz
νmax

,
=

3 292
2

PHz

n
LYMAN 1 2,469 3,292

BALMER 2 0,457 0,823

PASCHEN 3 0,160 0,366

BRACKETT 4 0,074 0,205

PFUNDT 5 0,040 0,132

HUMPHREYS 6 0,024 0,0914

����� ��� ���	�
������

�� %	� ���
��	������	�
�� ����	���� ��� ����
�
��� ���������� �	� 	'�	��	��	�	� �
��RUTHERFORD (1911). În
acest model sunt considerate valabile legile mecanicii clasice.

1.� :	
���	��� ���������� 
�������	�� �����	� ��� �
� ��
�� ���
�� �������� ����� ...):
„În modelu�� ��	��
	�� 
�� ���
������ ��� 	
����� �

�� ��� 
�

��� ... electron - nucleu.”

2.�!������	����
��	
�
����'��������������	�
	�����	����������	�	������&�	�������������
�	����$�������	

	�	������ �����	� $��������	� ���	�	������ 

��� �������	� ��
���	� �	&�� �	� ���
	����	� �� 
������������	�����	�

%���	��� �	�
�����	� �� ��
�� �����	� ��	
�	� �	&�� �	� ��nservare.

3. E�������� 	'��	
��� 	�	�&�	�� �����	� �� ����
�
�� $�� ��	
�� ���	��� ��	��� ��� ���	��� ���	
�
�������	

�������	�� ���	��	� ���� ��� �� 
�
� ���
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a. E
e

rtot = −
2

0 04πε ; b. E
e

rtot = −
2

0 08πε ; c. E
e

rtot = −
2

0 0
24πε ; d. E

e

rtot =
2

0 08πε
.

4.� ���
��	
� ����� ���
�
��	�� ���� ������
������"

�� Atomii� ��� �
������� �
������ 
��
���� ��� ����� ������� ����
��� ������ �.�
����� $F%"� :����
� ����
� ��
�

���
�	
�� �������������
��� �
�� ��
�� ��������� ������� ����� ������ �.�
����� $7%�� �
�� ��
�� ��
��
���� ��� ������

�������������$:%"�M����
�����
��������
�����
�	
���������������
�����
��� ��� �����
	
�� ����������
���$F%��


$:%� ����� ��� 1 �(P�>���
������ ���+�� �����
�� ���
� ������ �
�� ���
�	
�� �������������
��� ��
��� ��� �����
	
�

������ ����
��� $F%� �
� $7%"

F���
����	
� ��� ������� ��� �
������� ������ �
� �����
�� ����������� �����
�
���� 
�����us de BOHR.

1. F������	
������
�����
�������������
�	
�
��������������
�����
�����
���������������
�����
��������

$7%� ��� ������� ������������� $:%"

2.� ,���
�
	
� �������� �����
�� ��
��
���� ��� ����

� $7%"

3.� *�����
��	
� ��������� �������� ���
������ �
�������� ���� ��������
���� ���������������� ����
���� $7%� �


$:%"

,�� ��������� 
�������� �����
�
� ��������� 
��
���

� �������
� ��� �
����en: 13,6 eV.

�0 #������ �� �������� ���
�
��	���� ��������
� ��������� ����
�� ��� �������
�� 5"PBOHR $	
�+��� ������ ��

������� �.���
�������� ��� ����� ����� �
��� ��� �
����
	
�%� �� 
�������� ����� ���������� �
� �� ���� �� ������� ��

�����
�
����������������
��
���
�"�#����������������BOHR a construit un model al atomului de hidrogen.

1.� =����
�	
� ����	��� ��������� �������+��� ��	
��
��� �
���� $�������� ��
�� ...):
�7�� �	������ �
	���� ����
�����
 � ����%��� 
	
���� ��� �	�
�� ���� ����
� 	� �������� ... ��� ���	�� � ���'

������
�� ��� �������� 4�
��%� � � ����
� ������ ����
��� ... .”
2.�,��
�	
����������
��������	

����������������������������
���
�������
�������������
������
��$BOHR)

al atomului de hidrogen: (a) 
2 2

0
2

04

m e

r r
=

πε
v

; (b) rp n
h

=
2π

.

3.����
��	
�����	
���
���������������R��
�������������
�
���
1 1 1

2 2λ
= −

⎛
⎝
⎜

⎞
⎠
⎟R

n m
�����������������������
���

���

���� ���������� ���� �������
� ��� �
������� �
� �����
�� ��� 
onizare Wi� �� ���
� ����� ��� �
������� ������ ��

������� �������������� ����
�+��� �
����� ���������������� 
��
����
� �������)

a. Rh = cWi; b. Rc = hWi; c. hcWi = R; d. Wi = Rhc.

4.�#�����������
�������������
�������� ������ ��� ������ ���������������� ���
�	
�� �������������
�����

����
���� ��� ����� 1(1�'� ��Q� C���
�
��	
� ��
�� ������"

Energia de ionizare a atomului de hidrogen este 2,176·10−18 J, constanta lui Planck are valoarea
6,63·10−34 J·s, valoarea vitezei luminii în vid este 3·108 m/s.

�4 Termenii seriei spectrale LYMAN� �� �������
� ��� �
������� ���� �
� �������	
� ��� ��������� ���������


�������� ���
�
��)�
~ν

λ
= = −

⎛
⎝
⎜

⎞
⎠
⎟

1
1

1
2R

m
, (în care R� ����� �� ���������� �� ����
� 
������� ����� ������ ��

1,097373·107 m–1, iar m� ����� ��� ������ ��������� ���
�����
������ ���+�� (%"

1. =����
�	
� ����	��� ��������� �������+��� ��	
��
��� �
���� $�������� ��
�� ...):
�����
����� ��� ������� �����
��������� ��
�
����� ...�  � ���� ����
����� ��� �
�	�
���� �����
��������

��
�
����� ... .”



'! ��
������������ ���	��� ������ �� �����

2. ,��
�	
� �����
���� ���������
�R.

3. Raportul dintre cea mai mare lu��
������������
�����
��LYMAN��
�������
��
�������
����������

�
�� �������� ���
�� ����� $
��
��	
� �
����� ���������������� 
alorii corecte):

a. 1,25; b. 1,33; c. 1,50; d. 2,00.
4. Câte linii ale seriei LYMAN ��� ����� ��� ��������� 

�
�
�� $����
�
��� ��� ����� ���� ���
�	

���� �
�

��������� 

�
�
�� ���
����� 
�����
������ /  ����[�λ < 750 nm)?

�8 Termenii seriei BALMER������
��������	
����������������������
������������
�
���$��������m��������

������ ��������� ���
�����
������ ���+�� (%)

2

1 1
0,25

m
⎛ ⎞ν = = −⎜ ⎟λ ⎝ ⎠

	 ·1,097373·107 m–1.

1. Rescri�	
� ����	��� ��������� �������+��� ��	
��
��� �
���� $�������� ��
�� ...):
�*�����������
���� �������������������������������
�����������
�	��	� ������������
����
���������
�

��� ����������� ����� 
�
� ��� ����������� 4�� ����	%��� ��� ��������� �����
�� ���
� ���%������ ... � ������ ���	��

������
�� ��� ������ ... între ele de zone întunecate.”
2. ,��
�	
� �����
�������
�

� ������� ���

~ν .
3. =���������
�����������
����������
������������
�����
��BALMER��
�������
��
�������
����������

�
�� �������� ���
�� ����� $
��
��	
� �
����� ���������������� 
����

� �������%)

a. 1,25; b. 1,33; c. 1,80; d. 1,50;
4. Câte linii ale seriei BALMER s�� ����� ��� ��������� 

�
�
�� $/  ����[�λ < 750 nm)?

�; K�����

����
����

��������������������
�����
������������
��������	
����������������������
��������

���
�
��)�
~ν

λ
= = −

⎛
⎝
⎜

⎞
⎠
⎟

1 1 1
2 2n m

·1,097373·107 m–1, unde m� �
�n sunt numere naturale (m=n+1, n+2, ...).

1. =����
�	
� ����	��� ��������� �������+��� ��	
��
��� �
���� $�������� ��
�� ...):
„Termenii seriei BALMER� ��� 	
���� ���
��� �� �%��� ��� ... �
�m mai mare strict decât ... .”

2. ,��
�	
� ����	
�� �
����� �������� ��� �����
~ν � �
� ����
��	��ν.

3. Cea mai mare lu��
������������
����������
������
������������������������������
���������������

�������� n� ����� ����� ��� ����	
�� $
��
��	
� �
����� ���������������� ����	
�
� �������%)

 a.
n n

n

2 2

2

1

2 1
91 13

( )

( )
,

+
+

nm;  b. 
n n

n

2 21

2 1
10 97

( )

( )
,

+
+

nm; c.
n n

n

2 21

2 1
91 13

( )

( )
,

+
+

nm; d. 
n n

n

2 2

2

1

2 1
10 97

( )

( )
,

+
+

nm;

6>�F������	
� ������
��
��� ����
������������
�� ���
��BALMER� ���������
������ ����
����������

�
�� ���
��LYMAN.

�A Fiecare atom dintr-un colectiv de atomi de hidrogen poate fi descris de modelul cuantificat al lui
BOHR �
� �������������� �
�� ���������� �������������� �
�� �������
��.�
�������������������
����
��
������� ����



��� �����
�� ������
������ �

��� '"

Un grup d�� ���

� �������� �����

��� �����
���� ����� ����� ��
�
� ��� ���������� ��� ����.�
����� ���

����
���� �.�
��	
"� =����������� ����� �����
��� ��� �������� �������)

Numele elevului: Ana Barbu Corina Dorin Elena

1,51 1,51 1,89 1,89 3,40

M����
�� �����
���� ��
�
� $�>% 3,40 3,40 3,40 10,2 10,2

13,6 10,2 10,2 12,1 12,1



''������� �	
����

a. ,��
�	
�����	
���
����������
�������
������
�
�����������
	
�������������
������

�������
�������	
�����

���� �������
�� �������� ����
� ��� ��� ��
���� ��������� ��� ��
�BOHR.

b.� #���
��	
� ����
�
��	
�� �
�
��� �� �onstantei lui PLANCK� ��	
����
����� � =
h

2π
�� ���� ���� ��
���� �
�

����	
�� ��� �����
�
����� 
��������� ���BOHR.

c.� ���
��	
� ��
������ ���������� �� ���������
� ��
�PLANCK� ��� ,
������� �������	
����� ��� ��
��	
� $,"�"%"

d. *����
	
� ���

��� ���������� �
�� ����� ���� ������ �
�

��� ���������� ����� ���� �
� �����
���� ����
�+��

���
�	
�� �������������
��� ��
��� ��� �
��������� �
�� 
��
���"

e.�,��
�	
��������������
�
���������.��
�������������������$��������
�
����������
�

��������%���

���
�	
���� �������������
��� ��
��� ��� ����

� ��� �
������� �
�� 
��
���"

f.� ���
��	
� ���
��� ����� �� ��	
���� ����
� ���������� �������"

M����
�� ��������� 
��
���

� �������
� ��� �
������� ����� 1'��� �>"

��������� 

�� 1. „legat”. 2. „��%��� �	���������� ����%���”; „��%��� �	���������� ����������”; „��%��� �	���������

�	���
����� ����
��”. 3. b (E
e

rtot = −
2

0 08πε ). 4. 5�� �.��
��� ����
�
������ ��� �
��� �� �������
"� 5�� ����� ��

���������	����������
�	
����������������������������������������������
������
�	
�����+�����������.�
���



����"�5������
��������������������������
��	��������
�	

�����������������
�����
����������������

��.�
��	
"

�� 1. Energia fotonului emis este 1,632.10−18 J = 10,2 eV. 2. 5������� �����
����
��
���� ��� ����

� $7%

����� ("�3. Raportul razelor traiectoriilor circulare este 4.

�0 1. „������
���”; „principal”. 2. „8	����������������
������	�
�
������������������
�	�����!”, „8	������

�������
������e a momentului cinetic.” 3. d. (Wi = Rhc). 4. „da”. Justificare: 
hc

W
121 3

1
1

22. nm i= −
⎛
⎝
⎜

⎞
⎠
⎟ 4�������


�� ������ ��� ��
��� ������ �.�
����"

�4 1. „�����
	���� ��� ������”; „�
�	�
��
�”. 2. „R ��� �����
�� �	��
��
�� ���� RYDBERG”. 3. b. (4/
3=1,33). 4. „niciuna”.

�8 1. „fantei”; „separate”. 2. „~ν ��� �����
�� ������ ��� ����”. 3. c. (9/5=1,80). 4. 4 (patru).

�; 1. „Termenii seriei 9������ ��� 	
���� ���
��� �� �%��� ��� :� �
� m mai mare strict decât 2”.
2. c~ν  = ν. 3. c. 4. Lyman

maxλ < Balmer
minλ .

�A a. Energia fotonului emis (Em > En) sau absorbit (Em < En%� ��� ����� ���
� �����
	

� �����
��� ����

ε foton m nE E= − . b. „� ��������
���	���
��� ����
�������
	������ 4�� �
����� ��������
���!” c.�-�
��������

������������������
�� este J·s. d. LYMAN��
�BALMER. e. ~ν
λm R

m1 2

1
1

1
= = −

⎛
⎝
⎜

⎞
⎠
⎟, m = 2,3; ~ν

λk R
k2 2

1 1

4

1
= = −

⎛
⎝
⎜

⎞
⎠
⎟ ,

k = 3. f. Dorin: 1,89 eV; 12,1 eV; 10,2 eV.
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������	 VAN DER WAALS,
ionice, covalente �� metalice

"����	�
 ���(������

Cristalele ideale
 ��
 �
 ����
����
 �	�����
��
 �	��
������
 �������

���
 ������
 
��	
 ��
 �
		���
 ������	�	
 �	������
 �����	�	��
 �	
 ���
���

���
 
��	
 �������
�
	��
 ��
��
 ��
 ��
 	��
�
 ����
 �	����
 
������	�	
 �����

���	�
��
�	������	�
��

������
	��	
������
��������
�����
�����
�	
�����

����
 �����	
���	�
 �	
 �������
  !
23).
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���������
 ����	
 ��
 �	������
 �	
������	�
 ���
�	���

cmblakrn
����

++= �
���	#
������	�
	��	
��
���
���	
��	
��
�	�	�	��
n, k, l, m

sunt numere întregi; cba
���

��  , 
 ����
 ��	�
 �	
����
 �	
���������
 
��	
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�	��$	�$�

	����
	�	�	�����
�����
%� &�
'��(�����	
�����	
�
	���
�	
����

�	
���	�$�#

) ,( cb
��

=α , ) ,( ac
��

=β 
 ��
 ) ,( ba
��

=γ .
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 ��
 ������
 ���(������
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Sistemul de ��������� 	
���
 ��	
�� ��� ������
�

cristalizare �
����� ��� 
����
�� celulei elementare

CUBIC a = b = c ������
 ����������& P

α = β = γ = 90° cu volum centrat I


�
 �	�	
 
	�����	 F

TRIGONAL a = b = c ������
 ����������& P
α = β = γ≠ 90°
α = β = γ < 120°

TETRAGONAL a = b ≠ c ������
 ����������& P

α = β = γ = 90° cu volum centrat I

HEXAGONAL a = b ≠ c si����
 ����������& P
α = β = 90°, γ = 120°

ORTOROMBIC a ≠ b ≠ c ≠ a ������
 ����������& P

α = β = γ = 90° cu baze centrate C


�
 �	�	
 
	�����	 F

cu volum centrat I

MONOCLINIC a ≠ b ≠ c ≠ a ������
 ����������& P

α = β = 90°≠ γ cu baze centrate C

TRICLINIC a ≠ b ≠ c ≠ a ������
 ����������& P
α ≠ β ≠ γ ≠ α α ≠ 90°,
β ≠ 90°, γ ≠ 90°

/
 
	����
 	�	�	�����
 
��	��
 ��
 �	���	
 ��
 ������
 �����
 ���0��

�	���
 �	
 
	���	�	
 �	
��	�
 �	
 ���	��	
	��������.
.	�����
����
���+��������
�������
��
�
	��	
����
���
�	
�������	

��������	�

1	
 	�	�����
 
	���	�
 
�+�
	
 �����	
 ��
 �	���	

18 1 atom
8

× = �

�����
 �
 
	����
 ����������
�	���	�
 
�+�
	
 
�
 �	�	
 
	�����	
 ���
 
	���	�


�+�
	

�
�����

	�����
 �	
 �	���

1 18 6 4 atomi
8 2

× + × = , respectiv

18 1 2 atomi
8

× + = , deci acestea nu sunt celule primitive.

�
	��	
 �	�	�	
 ������	
 �	�	�	
BRAVAIS) sunt singurele posibile
cu un singur tip de atomi. Cu mai multe tipu��
 �	
 �����
���
 	�����

�	�	�	
 �+�����	
 ����
 ����	�������	�	�
 �	�	�	���
 �����	�
 �	
 	�	�����


��������
�	
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�	
�����
�2� ��&
	��	
������
����
����	�������	�	�

�
 ����
 �	�	�	
 
�+�
	
 �����	�

��������
 ��
 ��)������
 *+"�,,-

Investigarea structurii cristal��	
 �	
 ��
	
 ��������
 ��������
�	��	���
�	�	
����
�
�����������
X
�	

������	�
3�
�
	��

�$�
�	
�+�	���
�����	
 �	
 �����
��	
 �	����
 ���(�����	
θn
 ���	
 �	
 �	�����#

2d sin θ = nλ
unde: n
	��	
�������
�����
��	��
n = 1, 2, 3, ...; d
	��	
��������
�����	
����
����	
vecine ale unei familii de plane cristaline paralele; unghiul
θ
 	��	
 ���(���
 �	
 
�����	����
 Φ
 	��	
 ���(���
 �����	
 ���	
���

���
�
������
��
��	��
��
���	
���
���
�
������
����$���
����	
	�	
	����0��

�	�����#


2

Φ−π=θ  (fig. 4.2).
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�	����	
	��	
����+���
�����
��
�
λ � d. Deoarece d
��	
������
�	
�������
���
��������
�	
�����	����
�	$����

�
���������	

��	

�	����
 ���	������	�
 ����
�����
 
��������	
 ��	+��	
 ��
 ��+�
 �������
 �	

����
 de acest ordin de �����	�
 ���
�
 ��	+��	�
 �������	����
 ��
 ��	

��������
X.
7�����	�
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�
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����
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�	�����
 [ ] [ ]kV

124
nmmin U

=λ �
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���	����
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 �������
 �	������
 �	
 �

	�	���	
���
����
 �	
  9
 :;�

-	����
�
��	
�$�
���	����	�
��	�
�������
�	
����	
�����	�	

��	

��	

����
�������	
�	�	�	�
�	
�����	�

�����	�	
�	
���	�	�
�����	
indici
MILLER.

1�
�
��
����
��	
	
����
�������	
A( aNr aA
��

= ), B( bNr bB

��
= ) ��

�� cNr cC
��

= &�
 �	

�����	��
 ���	��	�	
���	�	���
 ����	��
Na, Nb
 ��
Nc�

����
�	
���	�$�
(hkl)
�����	���
�	
���	�	
����	��
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indicii MILLER ai acestui plan vor fi (342).
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interzise.
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n n

n2
et

E E
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= − = −μ
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 μ
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 mobilitatea ������������
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 E

�

 este intensitatea

câmpului electric din semiconductor. Indicii p �	
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����������

�	
 ���
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 ��$�����
 �golurile din BV), iar indicii n
 �	
 �	�	��
 ��
����������
 �	
 ���
���
 �	������
 �electronii liberi din BC).
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 I depinde de
densitatea de curent j
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 =
A
 j

�
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 ��
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U E d= ⋅

��
,

legea lui OHM
U

I
R

= 
 �	
 ����	
 �
��	
 ��+
 �����
��
���
���
�#

1
j E E= σ =

ρ

� ��
 sau 

1
E j j= ρ =

σ

� � �
.
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E E j E j j
V t

Δ
= σ = = ⋅ = = ρ

Δ Δ ρ σ
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 densitatea de curent
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 viteza de transport
�������
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 drift) �����
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pv , j en= −
� �
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� � �
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, ρ este rezistivitatea):

p n( )e p nσ = μ + μ .

Conductivitatea semiconductoarelor intrinseci va fi:

σ μ μ= +eni p n( )�
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Δ Δ Δ= = = =
Δ Δ Δ
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Δ
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În concluzie, la echilibrul termodinamic, prin '�����
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�� 	"�
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nu va trece curent.
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5. Discul de siliciu este acoperit cu un strat izolator de oxid
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1. Un fir conductor de cupru are rezistivitatea ρ = 1,55·10–8 ΩL��
 
��
	�������
 	�	
��������
 ���

+����
 �	
 
����
��	
 n = 8,43 · 1028
3

1

m

 ��
 ������	�
 �
 A
  
 ��
 .	
 ����
�
 ��
 
��	�	�	
 �
	����
 
����
���

�	�����	�
U
 A
 !�! !
;�
���
�����#

�&
��+������	�
 ������������
 �	
 ���
���
 �-.&�

b) viteza de drift a PS;
c) durata τ în care un PS st��+��	
 ������	�
 � a conductorului.

������
: a) n

1

ne
μ =

ρ
,

2
-3

n

m mm/s
4,8 10  4,8 

V s V/m
μ = ⋅ =

⋅
; b) n

U
E= μ = μ
�

�
v ,

6
n

m m
0,48 10  0,48 

s s
− μ= ⋅ =v ; c) 

n

τ = �

v
, τ = 2,1 · 104 s � 5,8 h.

2. ����
�	�����
�
���	������	��	�����	
�
��	�
����	
	��	
�	��	$	�����
 ��
����
 
���0���&�
1	�	��������

��������
 �	����
 �����
��
 ���
���
 �	
 ���
������	
 �I, U&
 ��
 �����>����
 ���
 ����
  
 �
	����&�
 ��
�
 ������	�

�	$���	��	�
 ���	����	
 
�
 �����
 ��
 
�
 �����
 	�te R = 1 kΩ, iar t.e.m. a sursei este E
 A
 %
 ;�
 �	$���	���
���	������
 �
 ����	�
 ����	
 ��
 �	���>����
 �	
 ������	
 ��	
 �	$���	���
 ����	� Rd
 ��
 ���
���
 �	
 ���
������	R

���	
	��	
�
(	��
	
(����	���
�
����	��
�	���$���
�����

�
	�	�	��	
��	��	
�	

��
���
������
��	����

�����
 ��	���
 �	
 �	�����	&R

������
:
Conform caracteristicii idealizate a diodei: ��
�
 I > 0 tensiunea este U = U0 = 1 V (U0 este

tensiunea de deschidere);
 ��
�
U < 0, atunci I = 0.

Aplicând legea lui KIRCHHOFF, se poate scrie: 
1E

I U
R R

= − �
�
	����
	
����	
 �	��	$����
�
��	�����

������
��
�	����
�������� sau ������
����������������
�
�	�	����������
3�

�$��
��	$	�����
�
	����
��	����
���	
 ���
 ���	��������
 ��
 %
��
 ��
 ���
 �	�������
 ��
 %
;�
�
���
�� �
� �
��������
 al montajului se v�
 ����
 ��
���	��	
���

���
�	�����
��
����	�

�
��	����
�	
���
����
���
�����

�	
���

���
�������	
�	�������
��
���	��������#

U = 1 V, I
A
?
���
�������
�	������	��
�	$���	���
����	�
��
���
���
�	
���
������	
	��	
Rd 333
U

I
= = Ω .

Schema echiv��	���
 	��	# .

3. ������	���
���
���

��
�����
���
���+�	��
���	�������
���
����
���
generatorul

�
��
�����

��	
�����$	�$�
�
�	�����	
���	�������
�	
�����
�	��	$	�����
��
����
4�
��
dioda
��
rezistorul
���0�
�	�
(��+��	�

'����$0��
�	����
�����
�
���
�����
���	�����
�	��	$	�����
�����

�	�	��	���
�	
����
�
���	��������

��	������

����
 
��
����
 ���	
 	��	
 ������	�
������
 �
 tensiunii la bornele rezistorului?

,���
  �



����������	
����
��� ���������� ��� �����
�����

�
�����: ��	
��������������
������
�	���	�����	���

�������������

��

��� �	
���
��� � ��	�� 
�	���	��� ��	���

������ ��� ���
����� ��(����

U = 4 V, intensitatea este 3 mA.
Aplicând legea lui OHM��
���	������
�������(������
�	���	�����

�����

�*� UR, max =R · I = 3 V.
Pentru valori mai mici ale tensiunii generatorului, dreapt�� ��

�����	��������
��	���
�������	�
��������	���
	��������(���
��
�F�(������G

��������
����
������
����������������
��������	����"�-"��"�B�	��
�	���	��

��	���

����������	��������������$)��!����(��������	��	
����������	
��

%� ���$�-E������� �	� �	
����������	
���H�IE�������-%���&�� �	
�	��
�
�����

�����
	"�J���������	
�	��
����������������	����
��	����"�-"��"�4
	
�3�����
��

�	� ���
�� �	� ��������������
�������	.

4. Caracteristica intensitate tensiune a unei diode este reprezenta
�

�	� ���"� 0"� ?�����	�� ���
����� ��� ��� �������� ��
����	���*

a) tensiunea de deschidere U0 a diodei;
b) �����
�	��� �
�
��� R0� �� ��
���� !����	�
��� �	� �������� ��	�
� ��

�����
����
���������	����
�
�����	
���U����I) când prin ea trece un curent
cu intensitatea I0 = 30 mA;

c) �����
�	�����	����������
���������	�
����	
��������������
���

�� 
�	���	��� U� ���	� ��������

din

1 d ( )

d

I U

R U
= ;

d) �������� �����
����
���� I = I(U) a diodei;
e) schema circuitului echivalent al diodei (folosind numai

elemente ideale de circuit: ����	� ����
	�� ���������� ��� ��������
��������	�� ����������� ������).

�	������

a) U0 = 1V; b) R0 = 166,7 Ω; c) Rd = 133,3 Ω;

d)
0,  pentru 1 V

1 V
,  pentru 1 V

133,3

U

I U
U

<⎧
⎪= −⎨ ≥⎪ Ω⎩

;

�&� .�,���� ��,�����	
�� ��
�*� "

��������	 ����
��

1. Printr-un fir conductor de cupru cu conductivitatea σ = 6,45 · 107
1

mΩ⋅
���������������	���
��	��������

S = 2 · 10-7 m2 trece un curent electric cu intensitatea I� K� -�E� 7"� B��������*

�&� �������� �
����� ����� ����
	����� ������� �	��� ����
�
	� ��� �
	������ 

�&� ������������ �	��� ����
�
	� ��� �
	������"

�	������ a) 203,1 10  N 31 zNF −= ⋅ = ; b) 10
2

m GN
3,4 10  34 

s kg
a = ⋅ = .

2��"� -"

�&

�&

�&

2��"� 0"

��L�7M



��� �����������
��� ����

� ������ �� �����

2. C
	�������� �	� ���� �
	���

�� ��� aluminiu cu rezistivitatea ρ = 2,5 · 10-8 Ω · m, densitatea

d = 2,7 3

g

cm
� ��� ��	������ � = 1 m. N
��	�� ���������
����� �� aluminiului este M = 27 g

mol
� ��� ��� �������

�

�����7�� �
	
������� ��� �
	������� ��� �	� ����
�
	, ���������*

�&� �
����
�
��� ����
�
	��
�� ��� �
	������� ��� �����	�ului;

b) timpul mediu tc���	
����
�����
�	����������������������
�
	��
������
	�����������
	�����	�	
������

�������� ����
���	�;

c) �	������ 
��	����� prin efect JOULE� �	�
����� ����
������ �������� ����
���	�� �	��	�
�
������ 
�����pJ.

�	������ a)
2

3
n

m
4,2 10  

V sA

M

e dN
−μ = = ⋅

ρ ⋅
, b) 1402

4,7 10  s 47 fsn e
c

m
t

e
−μ= = ⋅ = ,

c)
2

7
2 3 3

W MW
4 10  40 

m s m sJ

U
p = = ⋅ =

ρ ⋅ ⋅�
.

3. Intensitatea câmpului electric din interiorul unui conductor de cupru !����
	��	
����������
�
	��
�

����
	�������n = 5,8 · 1028
3

1

m
) prin care s-a stabilit��	�����	
�����
�����
���
	���������������

V
0,10 

m
E =
�

.

C
	���

����� ��������� �� ��� ��	�� ��
��
� 
������� ��� �	������
�� �	�Δt = 90 s cu ΔT = 15 K.

Cunoscând densitatea cuprului d = 8,93 3

g

cm
� ��� �������� ���������� �� ����
���� c = 390 

J

kg K⋅
�

���������� 
������ ������ tc� ��	
��� �
��� ��
�	���� ���������� ���� ����
�
	��
�� ��� �
	������"

�	������
0

2
2

2 e
c

m d c T
t

ne E t

Δ=
Δ

� .

4. La temperatura T = 300 K, conductivitatea germaniului (presupus intrinsec) are valoarea

σ = 2,13 Ω–1 · m–1
"�B�	
���	���
����
���������
�

���
����������	��!pentru golurile din BV, μp = 0,18

2m

V s⋅
��� ��	
��� ����
�
	��� ��	� OB�� μn = 0,38 

2m

V s⋅
)�� ���������*

�&� �
	��	
������ �	
��	����� ni (np = ne =ni) a PS;

b) ���
�
��� ��	
��� ��
���� ��� ����
� �� ����
�
	��
�� �� viteza de drift a golurilor.

�	������ a) 
( )

19
i 3

p n

1
2,4 10  

m
n

e

σ= = ⋅
μ + μ

; b) n

p

2,1=v
v

.

5. Un cristal de germaniu este impurificat cu atomi acceptori de indiu (
������	��)� �	���
�
�������

�	��

����� �	� ���N0 = 3 · 109
� �

������J�"�5��
��	���
�� 
������
����� �������� 

�
�� ������
��������� �
�


�
	���
�� ��� ���� �
�� ��� ��	������� ��� �����,�� ��� �.�� �
	��	
������ �	
��	����� ��
� ni = 2,3 · 1019
3

1

m
.

J������������
�����M = 72,6
g

mol
� �����	��
�
���d = 5,33 

3

g

cm
"�B����������
	��	
�������
�����
�

��	�O�� p.

�	������
19

i 3
0

1
3,8 10

m
Ad N

p n
M N −= + = ⋅ .
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�����
������� ���� ��
��� 
��� ����!�� �"

�!���������#�
����!��#�����
���
�����$��"

�
�%#�!�
��!���
��
������!�������������"	�

�����#��	��	��
 �	���	�	�

Fizica nucleului este ramura� �
�
�

� ����� ��!�
��"� structura,
��#��
��" 
���&
�������#��"�
����!���!�!
���#�
�
�
������ 
!�
����!������

&
� �#�!�� '�� ����� �������� ��� �������"� ��� �
���� ����#��#�
�.
(!�"��!������"�!�
������
���������!
�Ernest RUTHERFORD �!

��
��� 
���#��#�"��������"�����#�!�!
���!�
�" nucleu	�����
����
!�


�#����� �
�
� &
� '��"����"� �!� ����
�"� ������
�"� �#�
�
�"
� '�� ����� ����

�#��������"� �����
�� �#��"� ����� ��#�!�!
�� ������#�

� ��� ���"� în jurul
nucleului
� �#��� '�� ����� �#�� �
� �#���
�� 
� �

��� ��� ���
� ����

� ��� #�


��
��are decât dimensiunea nucleului.
Structura �!���!�!
� ��#�
�� �!� �� �#��� ����"� ��� ��� '����!��

Experimentele efectuate nu erau suficient de relevante, deoarece nu
existau particule-��#
���
���!�
�
������������
��������!����"trunde în
interiorul nucleului.

Pe baza #%����� 

�#�� �����
�������
� în 1911, RUTHERFORD a
����!�!���"��!���!�����%!
���"��!��
��"�����
�!���cu ����
�"��#�
�
�"

(ega�"� �!� ���#����� ����
�

� ����������� e)� &
� ���"� �!��� ��
� ����

���$�������������#�
�#���������#�
���
���#!"��

����#�
	)�������!�
�

������� ����
�!�� protoni.
Deoarece BECQUEREL ��"����� '�� ���*� �"� �!������� �#�� ��
��

������#�

��-a presupus, în mod eronat,��"��!���ul are�'���#��#��� "

������#�
�&
�protoni, fiin��'��#�+!��������� 
�������#�
�������" asigure
neutralitatea atomului.

(��������!
��!���!����#�!�!
������#���������!�!�����"�ar fi
�#����� �
�� �,� ��#�#�
� &
� �� ������#�

� �� 
� �� ������#�
 aflându-se în
jurul acestui nucleu.� -����� �����
�������
� ������� ��� �#��#������

��#�
�#�� '�� �$���������
�
� �!� �!�� ��� '��#
��"� ������"� 
�#���"�

CHADWICK a descoperit, în 1932, #����"�����
�!�"��!�����������
�

����"��!���������#�#�!�!

������"�"�����
�"�������
�"
��!�
�"�neutron.
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IVANENKO� &
�HEISENBERG� �!�����!�!�� �"��!���!�� ����� ���"�!
��numai
�
�� ��#�#�
� &
� ��!��#�
; ������"� 
�#���"� ����� �#��
�����"� ����%
�"� &


���"�

� �$��� ��� ���
��� �#���!�� ��#�#�#���!��#�
�� ��� �!���!�!
�

.�#�#�

�&
���!��#�

���������"�!
�����!���!���!���
�
���!����

�����
�� ��� nucleoni�� /!���#�

� �!� ����� �#����� ���#�
���
� ���� ��

��#��%���� ��
�� ������� ��� '��"������ ������
�"0� ��#�#�

� �!� ����
�"

�#�
�
�"
� 
��� ��!��#�

� �!� �!��� '��"��� 
� ������
��

1"� �����
�� ��� ������!�� �����
#�0 IVANENKO� &
� HEISENBERG au
��"���� �"� �!���!�� ��#�!�!
� ��� ��#�� ����� �#����� �
�� &����� ��#�#�
� &


&�������!��#�

�iar ��
�&�����������#�
������#�%
����"�'��'����
&�asigur"
neutralitatea atomului.

2�� ������ �
���� ��� �!�#�&���


� ���� ����!�!�� �"� �!���#�

� ��

�#��#��"��������
�!���elementare, a���"�"�#��� unor corpuri rigide,
cu diferite forme��(��
�!�
��$�"� �������#���
���� ���!��!�

� ��#�!�!


&
� ��#�

� �!�����"� �#��
���� 
� particule elementare)� !����
#�
� �#�

������ �"� &
� �!���#�

� �!� #� ���������, deci nu sunt nici ei particule
elementare.

.����!�������
����!�"�!������
�!���#����������"�!
����!���!���!

X,� ��� �#�#��&�� de cele mai multe ori� �#�� 
�� XA
Z , unde:

• Z este ��	��ul atomic; ������
��"��!�"�!�������#�#�
�������!

��#�!���#����!��"�#�
�Z este egal cu �!�"�!������lectroni �
��'����
&!�

������#�
�
����
���������� cu �!�"�!�����#��
����
��Tabelul periodic
al elementelor);

• A ������!�"�ul 
��	
��; ������
��"��!�"�!��total de nucleoni.
Notând cu N� �!�"rul de neutroni se poate scrie:

����������

De exemplu, nuc��!�������#������������������#�%
����
�'��
���

����#����"�
14
7 N , protonul se poate scrie 1

1 p  sau 1
1H ����#��������#�#�!�

������
��"� �!���!�� ��#�!�!
� ��� 3
��#���	
� 
��� �eutronul ��� �#����"

1
0 n .

Particulele alfa (α) sunt nuclee de heliu
�����#����"�
4
2 He �&
���

��
� �!����� 3��
#�
�

Determinarea maselor nucleonilor s-a realizat prin diferite tipuri
de �����
������� .����!� ��#�#�

� ���� ��!�
��� �
&������ acestora în
câmpuri electrice sau magnetice, iar pentru neutroni s-au utilizat
procesele de ciocnire.

1"���
��!%�
�
����"����"���#�#�!����������
�#�����
�!�"����%
�"


��!��#�!��aflat �����
�������������������#��"�'����!����#�#�
�!�������

��#�� &
� #� ���"� ����
�!�"� ������
�� �"�"����"� ��� ����!�� &
� �"�"� ����
�"

������
�"
��������������!�����!��'����
��� "
����#�
�"����%�
�
������ 
!�


�!������
�	��!�
�"�antineutrino)�'�����
�
����������#��������������

�!�"���4�������!��������#�
���
���*��
�!��	��"�!�����'��������� 
��!�

��#��
u al particulei.�5����#�
���!���
�"����#� ��#���!������
���#�#�!��&


��!��#�!��������
��"������&
�����
�!�"����������#�����"�
�'���#!"���"�


�������
�"0��#�
�
�"���!���!��")���3
�%�������"�

�����������
����3
�%!�

!�#������
�!����!�
������#�
�π ��!��
#�
.

�������� ���
	
��� ���6,����,	


�
�
�
��� �!��

��������	��	
�	��� ���6�����4	


�
�
�
��� �!���
���

����
��
� 
��	
��� 
��	���� ����

����"��!����7���������������
���

����!�� �� 
�#�#�!�!

12

6C � &
� ���

���#�rea:
u = 1,66053886 ⋅ 10–27 kg.

8���� ��#�#�!�!

� ����
���"� '�

!�
�" 
� 1�9�
� ���� ���#����0

pm = 1,6726 · 10–27 kg;

����
���"� '�� !�
�" 
� ��� ���"

��#�
��, p 1,007276466 um = .

�����
���������!������#�#�!�!



����
���"� '��������#��#� 

�����

2
0p 938,272 MeVm c = .



���������� �	�
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În casete��� ��"�!����� sunt date valorile maselor nucleonilor.
Deoarece masa electronului este 9,1094 · 10–31

�:�
� ���!��"��"�����

electronului este de 1836 de ori mai m
�" decât masa protonului� &

��� ���9 de ori mai m
�"� ���$������� ��!��#�!�!
�

Elementele chimice re����
��"�!���������������#�
��!������&


�!�"����#�
�
������!��!�����������"��
���
��. P�#��
��" 
����3
�
��


�

��� ������� ��� ������#�

� ���
���
�

� �!��� �����
�� 
����
��
� ���� !����

��#��
��" 
��� �
�
��� �	
�
� 
��	����� �
����
� ���������) sunt diferite.
Pentru a deosebi nucleele acestor atomi, introducem #��# 
!����#!"0

�#�� �!�
 nuclid� ����
�� �!�����"� �!� !�� �!�"�� ��� ��#�#�
� Z� &
� ��

��!��#�
� N bine precizat (de exemplu: 12
6C, 14

7N, 235
92 U ).

5���!�� 
���� �!�����������!���#�
������
���
 
�#���!��
�

����&�
�

�#�� �
� ����
�
�� 
� '�0

• Izotopi����!��
�
��!������&
��!�"����#�
��Z, dar cu numere
de neutroni N��
��
����
��!�
 
�����������SODDY în 1913; de exemplu
1
1H �3
��#���!�� !&#�	
�

2
1H (hidrogenul greu sau deuteriul), 3

1H
(hidrogenul supergreu sau tritiul).

• Izotoni� �� �!��
�
� �!� �����&
� �!�"�� ��� ��!��#�
� N, dar cu
numere atomice Z diferite; de exemplu 3

1 H, 4
2 He .

• Izobari����!��
�
��!������&
��!�"��������"�A, dar cu numere
atomice Z diferi��
� �!�
 
� ������� ��� STEWART în 1918; de exemplu
59
26 Fe, 59

27Co, 59
28 Ni .

• Izomeri����!��
�
��!������&
�Z�&
��!������&
�N, dar cu anumite
��#��
��" 
��
�
����
���
���������
��
�����"
��#���
�durata medie��!�"

����� ��� ������#��"� '�� ���� �!��id sau timpul de� �
� "� ���
!


��#��
��" 
���������
��� ����); de exemplu: 80
35 Br  are doi izomeri cu

durate ��� �
� "� ���

� �
���
��� ���� �
�!��� &
� ,
,� #��	�

��$��%�&��'�	����
 �	�������

Diametrul unui nucleu este �!� ����!� #��
��� ��� �"�
�� mai
mic decât diametrul atomului� �#����!��"�#�� De exemplu:

– protonul are diametrul de aproximativ 1,5 · 10–15 m = 1,5 fm,
de aproximativ 40 000 de ori mai mic decât diametrul atomului de
hidrogen (care este de aproximativ 10–10 m);

– nucleul uraniului are diametrul mediu de 18 fm, de aproxi-
mativ 30 000 de ori mai mic decât diametrul atomului de uraniu.

Modelând nucleele cu sfere compacte, �������
������#������"


putem exprima raza R a !�!
� �!��
�� '�� �!�� 
�� ��� �!�"�!�� �"!� ��

���"���
������ 
�����#�
���
�"�

1
3

0R R A= , unde R0 = 1,45 · 10–15 m.

;#��#��� ������
� ���� 


� R0� ������
��"� ����� ��#�#�!�!
� ��!� �

��!��#�!�!
�

8������!��#�!�!

�����
���"�'�

!�
�" 
� 1�9�
� ���� ���#����0

nm = 1,6749 · 10–27 kg;

����
���"� '�� !�
�" 
� ��� ���"

��#�
��


n 1,008665 um = .

�����
���������!������!��#�!�!



����
���"� '��������#��#� 

�����

2
0n 939,565 MeVm c = .

�������  !�"��Å
����#$� ����,����,	


� �
�
�
��� �!����
� !�!�� �
����

'�����
��#�

� ������#��#�
�
�

5���
�
�����#�
�"�&
��!�����"

�!��#����#�#�
������'����!���#!"

!�
�" 
�����"�!�"�����
�
��������

�!���'��������1�9��&
��!����#�#�
��

�
�����'�������
����	0

ångström:

1 Å = 10–10 m = 0,1 nm

fermi:

1 fermi = 10–15 m = 1 fm



��% �����������	�
� ����
	� �
���� �� �����

(���
������ �!%���� �
� �!������� �����!�!�"� �#������"	� �#���� �


����!���"� �!� �#��!��� �����
#��"0
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3 3

3 0

 u 3u kg
1,3 10

4 4 m
3

m A

V RR
ρ = = = = ⋅

π π
�

Densitatea unor obiecte cosmice numite stele neutronice este
�!��
��"�între 0,8 · 1016 kg · m–3

&
�7 · �6
18 kg · m–3


���
�"���������&


#��
�� ��� �"�
��� �!� ����
������ �����
�
� �!�������

��(��"�'�
 �	������

Masa de repaus a unui nucleu M (Z, A	��#���� �
� ����!���"� '�

�!�� 
�� ��� ����� atomului Matom �������
���"� �����
������� ��
�

������#��#�
��������"	� &
� �������� ������#�!�!
�me� ��� �"��
� ���#���

����� �
� · �6
–31 kg) ��
�� ���� 
�0

electroni
atom leg�����2

1
( , ) ( , ) – eM Z A M Z A Zm W

c
= + 


!���� �����
�� ��� ���"�!�"� �� ������#�
�#�� '�� ��#� are expresia
7

electroni 3
leg����� 15,73 eVW Z= �&
��e poa�������
+��'����
�"����#�
�� 
�
���
�"

atom( , ) ( , ) – eM Z A M Z A Zm= �

Pentru calculul mai precis al maselor nucl����
���
��"�#��#��!�"

���
�
�"����!�"� '�����*����;����-�
���
�3� <=/�WEIZSÄCKER.
(�&
� �
�"
� �
����� �� �
����� ������� ��#�
��� &
� ����� �!������

����� 
��#�����"� '�� �������
��� �!�����"�

��)�
 #������
 ���������
 �
 �	���	�	�

1���
��� ������
�"� Q a nucleului este �#�
�
�"
� �

��� ���"� ��

�!�"�!�������#�#�
�Z: Q = Z qproton, unde sarcina protonului qproton

este� ����"� �!� �
����
� ���	���
��, e = 1,6 ⋅ 10–19 C.
De exemplu, sarcina nucleului de uraniu (Z = 92) este

1,47 · 10–17 C.

������	
��

/!������� �!��� ��������
����� &
� ��� ����� ��#��
��" 

� ��� ���!�"

�!���
�"0

– spinul nuclear ������
��"� �#����!�� �
���
�� ��#��
!� ��

�!���!�!
� &
� ����� #� �"�
��� �!���
�
���". N!�"�!�� care cuantific"

��
�!���!����������!��&����!�"���!���
� de spin
�����#����"��! I &


���
���� ��� �!�"�!�� �!���#�
�#�� �#��#��� 
)� ��� ������!0

	���&!� �	�$�� ���6����*,	
� �
�
�
��

����
���� ��� #�
�
��� 
���
��"
� ��!����� ��

����
!�!
�/#%��� �����	��>� �#����!
�

��
�!�� �����#�� �!������ ���,7	�

<#�!�!��!�!
��!���!�������!

�7��*�#��
�������"�
�����
��
�

���$�� �#�!�!�� ��#�!�!
� ����

����
���1"����
���
�"���!���!�

���#�����"��!��
�����!���������


��#�!������
�#�����"��!��
�����!�

��� �66� �� ��$�� �!��
���� !�!


����������#�%��	?�8����
���������

'��#�+#��"��������
��!���@�#��"A

���$�� ��
�"��B� 
�� 
� '��"� �"� '�

C�
�������
��"��#��!�
��!�����


�#������
� ��� ������! stelele
neutronice.



��'������� �	�
��
�

– momentul magnetic nuclear μ� � ��������
����"� �#��#������

�!���!�!
� '�� �$��� ������
�� &
� ����� ������ ��� ��
�!�� �!������ De
exemplu, moment magnetic al nuclidul 14

7 N  este nul; ������"

#%����� 
�����!�������������descoperirea structurii protono-neutronice
a nucleelor (IVANENKO� &
�HEISENBERG).

$� �������
%�
 ����!��

�
�!� �! !�
���"���

#��*� ������
�!� �� ��

���"���

Stabilitatea nucleelor este explic��"� ���
���
�����%���� ��������

�����
��� &
� �� ���� 
�
��
����� �#� �����!������� ���� �
��������
�	� &
�����

������
��� ���� �
�� ���!��
�	�

8#�������� ���!��!�

� �!������� ����� �����"� ��� �!�#�&�����

�#�!�!
� '�� ����� 
������ 
#����"� �!���#�

� ��
�� �#� �� �!�������

$���
 ���+���
 �	������

-#� �������
������ 
!����
������!���#�
�����!����������������
��

�
��� &
� �!� �$����� ��������
��
�
� 
��#������0

�� �!��� �#� �� ���
��
����, foarte puternice (de ������ #� �!�"� ��

ori mai mari decât cele electrice� &
� ��� �6
38 de ori mai mari dec$�

�#� ���� ��� ����
�� 
�);
– �!����"��#������
�"������ 
!�������#�
���
���6

–15 m = 1 fm);
– �!� ��������� ��� ���!�� 
�0� !�� �!���#�� ���� �!� 
������ 
#����"

���$�� �!� !�� �!�"�� �
�
���� ��� �!���#�
� �� ���
�

� ��
� ��
� ���#�
� 
)

– sunt independente de sarcina nucleonilor
���
�"��!���������&


�����!���#�#�
� &
���!��#�
� ������ �������%
���"���#�#�!�� &
���!��#�!�

��� �#�� ������#���� !�!�� '�� ���!�� �� ����� �
���
� 
�����
��).
/��!��� �#� ��#���������� 
�� '�������!��#�
��� '����!���"� �
����


%
���'� �����"��!�"�����#���
����structurii nucleonilor0�����#��
���"

�"��!���#�

��!����#��� 
��
� particule numite quarci, care a!�����
�


������
��� ���� 
#����� �
3

e±  sau 
2

3

e± ), d��� ����� �!� ��� �#�� #%�����


��
�
�!��
� �
� �!��
� '����!�"
� �#��$�d nucleoni sau mezoni.

Nuclidul I [�] Nuclidul I [�]

6
3 Li 1 15

7 N 1

2

7
3 Li 3

2

14
7 N 0

D�����#��"�
� ���
��#��

��#�#����!��#�

����!��#�!������#����������#���

'����!����#�#�
�!��������#��&
�!n
antineutrino:

1 1 –
0 1 en p e→ + + ν� ,

��!� '����!����#�#��&
�!�����#�

�

–:

��

�

�

�
π+→ �� ;

�� ��#�#�!�� ��� �#���� ������#���

'����!�� ��!��#�
� !�� �#�
��#�� &


!�� ��!��
�#0

1 1
1 0 ep n e+→ + + ν 


��!�'����!����!��#��&
�!�����#�

�

+
0

+π+→ np 1
0

1
1 .

Carl-Friedrich VON WEIZSÄCKER
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A. C�������!��������!�� 
������#� elor nucleare permite stabilirea
unui model simplu, numit modelul ���������� 
�� �����
, elaborat de
Niels BOHR în 1936. ;#��#��� �����!
� �#���
� �!%� �� 
!���� �#� ��#�

�!������
 nucleonii se dispun '���#��"�����
�"�!�")���#�������!���#�



���
���
�
� 
������ 
#����"� �!����
�� ���
�� �#� �� ��� ����� 
�	 �!��
� �!

���
�

���
���
����#�
� 
, nucleonii��
�����
!�����������"��!����!����
�

�#���
�� 
�de stratul periferic (analog moleculelor���������"�!
����#

�
�"�!�"� ��� �
�3
�, care sunt comprimate de moleculele din stratul
superficial).

Pe baza modelului� �
�"�!�

� ��� �
�3
�� ��� �#��� explica f#���

���#��������
�"���!�#���!������������� 
�'��"��"���
��"��!�����!����

�� �"�#�� �#��" nu este sf��
�"	, posibilitatea unui nucleu de a se
fragmenta ��#�������!��!�"�������#����
#��
����������!���!���
�
!���

��#����"�&
���
�!���"	
����#����������������
�" 

������
�
��!������


�������� �� ��� �!�"�!�� ��� ���"� a razei unui nucleu� ����
� ������

��"�!���"	.
8#���!���
�"�!�

�����
�3
���!��#��������
���toate fenomenele

observate, în particular nu poate explica de ce anumite nuclee sunt
mult mai stabili decât altele.

5��������"�
� ���� #%������� �"� �!��
�

� �����!� ����� �!�"�!�� ��

��#�#�
� Z ia valorile 2; 8; 20)E7�)E*6)E�7)E�74� ��!� �!�"�!�� ��

��!��#�
�N = A – Z ia ���#�
���7)E�)E76)E7�)E*6)E�7)E�74)E��,��!����!��

��
� ���%
�
� ���$�� ��
��� 
� �!��
�
)� ������� �!����� ��� �!�����numere
magice.

��
��"� &
��!��
�
 deosebit de stabili, pentru care atât N� �$�� &


Z sunt nu��������
��)����&�
���!��#����!�
 
��!��
�
�dublu magici.

B. 1"� ��� ��
��
� �#���!�� �!���
�� ��� ��#�!�!
� �!� ��
� �!� 


������#�
: conform principiului de excluziune al lui PAULI, electronii
se aranje��" pe niveluri de energie cu valori din ce în ce mai mari
(un� �
���� �

��� #�!���� ��� ���
�!�� �#
� ������#�
� �!� ��
�

� #�!&
	;
atomii care au numere atomice Z��
��&
�!��7
��
���
��7���#����!��$��

!�#���"�!�
�������#�
����#������	��!�����
����%
�
����$����
��� 
���#�
�

.�
������#�
���!��������#���
� 
�$����������"��!���onii (atât protonii
�$�� &
� neutronii) au
� ��� &
� ������#�


 spinul ½ (supunându-se
� '�

�#����
� "
�principiului de excluziune al lui PAULI), a fost construit
	�
����� ���������� �����
��.

Conform acestui model, atât protonii c$��&
���!��#�

�����&��",
în acord cu principiul de excluziune al lui PAULI, ����
���!�
��������
��

�����"�#���
� ��#�#�
��� &

� �������
�
� ��!��#�
��. P�� !�� ��!�
�� �
���

����#���"�
��#����#
��!���#�

��!�#�
����������
�
�#��#�!�". Nivelurile
energetice se grupe��"� '�� �"�!�
)� �����!� �
������ �"�!�"� ��
��"� !�

�!�"�����
����� �!���#�
�

����
������ ��������"�

� !�!
� �!���!� ��

!���������
#��
�

��!������!���!���
��
��

8#���� ��� !�!
� �!���!�

8#���!�� �
�"�!�

� ��� �
�3
��



��)������� �	�
��
�

Spre deosebire de cazul electronilor din atom, �����������"� '�

câmpul coulombian al nucleului (cu �
����
�� ����
�"), nucleonii ��
�"�����'����!���$�������#� ���!�����
��#�����. De ace��
��!������

��� #�!����� ���
��� ���� �"�!�
�#�� '�� ����� ��� ��!����"� �������
�

�!���#�

 (în  !����� 
�� �������
�"� ��#�#�
��� &
� ��!��#�
��	 au alte
valori, acestea fiind chiar numerele magice.

>����� �#���� ����
�"� ���
��"�"�#�� mai multe� ��#��
��" 
 ale
nucleelor: spinul nuclear, momentul magnetic nuclear, forma &
 stabili-
tatea anumitor nuclizi.

.����!�������
�
����
��������"����"�!���� �$ 
����!��
�
�dublu
magici.

În decembrie 2006 a fost sintetizat izotopul elementului
Unniloctium sau Hassium, cu Z FE�6��&
�A = 270, c����������������%
�

��� ���%
�0� ��� ��� ���
��������"
� '�� ���
�
� �!�"� 77� �� ��!���"� ����

�����!� ����������� �����!���
���	)� ��� ����!�!��� �"� &
� ������ �!��
�

����� �!%�!����
��

C. Un alt model nuclear care 
��'���#��
��������#�������������


������ 
!�
�#�� nucleare, '�����$��� �"� !�
�
��� �#������� �
��!����

�����
#�
� ����� modelul colectiv (sau generalizat) al nucleului.
În acest moment, modelul colectiv (generalizat) al nucleului

����
�"� ���
��"�"�#�� ��+#�
������ ���#�����#�0� �
�
!���� ���#����"� &


��
�!���"	
� nivelurile ��� �����
�� ���� �!��
�
�#�� �!� �!����� ����� ��

��#�#�
� &
� ��� ��!��#�

� ��"�
��� ���
����
� ��
�!�� �!�����
� �#�������

������
��
� �#���� �!�����#��

$�(�
 #��-��������
 �	�������
 ���&���

5�����!�"���
��"�245����
�#�#�
����%
�
�&
��6����
�#�#�
�
����%
�


����
#���
�
	�� 9�#�#�
�� ��# 
!��� 
���#�!�"� ��� SODDY� '�� ����	� ����

#� ��#��
������ �������"� �� �!�����#�� ��
��"� ��������� ����� �!� ���6


�#�#�
����%
�
�����#�!�
�����
!�	��B�����"��'��"��"�7�������������

�!� �!��
� !�� 
�#�#�� ���%
�� ���� ������!0� fluorul, sodiul, aluminiul,
aurul).

9�#�#�

� �#�� �
� ��#�!&
� ���
�
�
��
� '�� ��#�!�
� ��� ���������� ��!

�����!� !�
�
������ '�� �����
�")� ��� �!�#��� ������ �666� ��� 
�#�#�


���
�
�
��
�

Pentru a aprecia obiectiv stabilitatea unui nuclid, vom intro-
duce câteva��"�
�
��
�
���������"���racterizeze din punct de vedere
energetic nucleele.

1"� �!%�
�
��� ��
� '��$
� �"
� '�� ��#��� �!� ���� 
�� �!
� EINSTEIN

�
����������&
������
��!��
��
��#����
�!��
������
���������!����!�!


�!���!� ����� ���"� ��� ���� 
�0
2

0N 0NE M c= .

��"*�+���"� ��,�����-��� �".��

/�/�� �/&+�/� ��� �/�0�/+� �0/

����"�0

;#��
���$��� �"� ����
������ ρ
����� �#������"
� ��� �#���� ���
�0

m
V =

ρ 


��
�"

34  u

3

A
R

π =
ρ ,

��� !���� ���!��"

1
1

3
3

0

3  u

4

A
R R A

⎛ ⎞= =⎜ ⎟πρ⎝ ⎠
,

unde

1

3
15

0

3u
1,45 10  m

4
R −⎛ ⎞= = ⋅⎜ ⎟πρ⎝ ⎠

.

Nr. Nuclid Z N

1. 4
2 He 2 2

2. 16
8O 8 8

3. 40
20 Ca 20 20

4. 48
20 Ca 20 28

5. 48
28 Ni 28 20

6. 100
50Sn 50 50

7. 208
82 Pb 82 126



��1 �����������	�
� ����
	� �
���� �� �����

Aici 0NM � ������
��"� ����� ��� ����!�� �� �!���!�!

� ����� ����

�����"� ��� ����� ��� ����!�� �� ��#�!�!
� ��
�� ���� 
�

0N 0, atom 0e( , ) ( , ) –M Z A M Z A Zm=

('�� ����� ��� ����
+��� �����
�� ��� ���"�!�"� �� ������#�
�#�� '�� ��#�).
Definim energia 
�� ��!������
����������, Eleg, ��� �

��� ����"

�!�lucrul mecanic necesar desfacerii unui nucleu izolat aflat în repaus
în ���������� ��	��������� ����
��� #�� 
��
��� 
�� 
��	���
� ��� ���
��:

2
leg 0p 0n 0N[ ( – ) – ] .E Zm A Z m M c= +

N!������� �!� �!�"�� ����� ��� �!���#�
� �#�� ����� #� �����
�

��� ���"�!�"� ����
� �"�"� ��� �������� �"� '������� &
� #� ����� ���%
�
�����

(�� ������ ���
�
�� �"�
���� �!�
�"� ����!��� 
�� ��!������ 	�
��� ��

���������B
����#��$��������
��������"�!�"����!���!�!
�����!�"�!����

�!���#�

� A:

legE
B

A
= �

Energia de repaus a hidrogenului u&#�����
�"�����#�#�!�!
	�are
valoarea m0pc2 = 938,272 MeV� &
����������"��!������
����� ���"�!�"

���
�� ��� �!���#�
� B.
;#��
 
�� ��� ���%
�
����� �� �!���!�!
0� leg 0E > 
� ��
�"� nucleul se

poate fragmenta �!��
� ���"� 
� ��� ��������"� �����
�� �
n exterior.
Când nucleul este instabil leg( 0)E < , el se va fragmenta���#����

�!�"�!���
�����
���!�����!���
��!��, ��������$�������
�!���#�����!�����

�����
��������"�!�"��!%��#��"���������
���
���
�"�&
���
%��$���astfel
o mare cantitate de energie.

;���!�$���&
����������$�������
�������
��������"�!�"�����!���#�

B�'���!�� 
������!�"�!��������"�A
�#% 
����#��!�%"����������aspectul
din figura� *��� =%����� 
� �"� �!������� �������
� ���%
��� �!� #� �����
�

��� ���"�!�"� ��� �!���#�� ��� ���#�
���
�� �,5 MeV.
.����!� ����!�!�� �����
�
� ��� ���"�!�"� �� !�!
� �!���!� '�� �#�!�

����
� ��#�#�!�!
� mp� &
� ����
� �!���!�!
� Mnucleu� ��� �#�� 
���#�!��


�������
�
��������#�!�!
����3
��#����&
��������#�!�!
��#����!��"�#�

�������
��%
�"���
�������rografie�������"	
��������celor Z electroni

reducându-se (���
�
�� 
?): 2
leg 0H 0n 0,atom( – ) –E Zm A Z m M c⎡ ⎤= +⎣ ⎦ .

5���
�
����!�����"������
� 
���#�!���#��"�
����!�
�"�d�������

�� 	
�� Δ, care se ���
��&��� ��
�� ���� 
�: Δ = M0N – [Zm0p +
+ (A – Z)m0n] sau, aproximativ, 0N� �M A� &
��������
�"�'��!�
�" 


��#�
��� ������"� �M0N este masa de repaus a nuclidului).
��
���� � ������!�!
� ��� ���"� ����� ���#���"� �#� ��#�� �!������

����
�'���#����!���#��"�

��!���!�!

��!�������
%�������!��
������
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5�� �
�
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��� ��

����
�"� '������������#��#��


8�<0

1 MeV = 106 · 1,6 · 10–19 J = 
= 1,6 · 10–13

EG�

8�������������
�"�'��!�
�" 
���

���"� ��#�
��


u = 1,66053886 ⋅ 10–27 kg

&
� ���  
��� ������ �"

21 u 932,7611 MeVc⋅ =

(viteza luminii în vid are
valoarea:

c = 299 792 458 m · s–1).

�*���2"-��3� 5�� ����� �!��"�

� '�

�!�� 
��������#�
����!�#��!���&


������#�
�� 

����"�!��
����'��$��

����� ���#�
� �! 
�� �
���
���

-
��� *��� (������� �� �����
�
� ��

���"�!�"� ��� �!���#�� '�� �!�� 
�� ��

�!�"�!�� ��� ���"�



��4������� �	�
��
�

�������!������
��������"�!�"����!���!�!
� >�����"�#%����� 
� a condus
la descoperirea energiei nucleare
���������"�
������#���������
�"��
�%
�"

la sursele clasice de energie, �3
������"�este r����
�����
�!�#��"������!

���
!�&
��#�!�� 
�, prin posibilitatea �#����
�"�

����
#���
�����"��!

!
�"��'��"��"�&
�!�
�
������combusti%
�
�#���#�
�
���#�!�����������#�
��

��� ����"� ��������").
(�����!�� ��� ���"� Δ ����� �#�
�
�� �����!� ����������� !&#���� &


�����
�� �����!� ����������� �!� �6 < Z < 72, apoi redevenind pozitiv.
8�
��������
��!�������
�
������
��������"�!�"���!��
�����
�!le

oarecare (a) într-un nucleu�����

�������"��!��!��!�������
���������

��������

��!���!�!
��������'������!��&
�'����������!
��!���������"	�'�

����
�!��� �#��
�����"� ��	� &
� �!���!�� ����� �"�$��� �!�"� ���������

����
�!��
� ��	� ���
����
��!�"�!��������"��������
�!��
� ��	� ���%!
�� �"

�
����
��
�����$������!���!�!
��#��
�����). >�����"����
�
 
��nu����%!
�

�"� �#��!�"� ��� 
����� �"� ����
�!��� ��	� preexista în nucleu!
Considerând, de exemplu, nucleul de deuteriu 2

1H  (izotopul
greu al hidrogenului) #%����"���"�����!�
�
�� ��!������
����������,
����!�
�
����!������
����������������������&
�����!�
�
����!������


������������ ��� ������ sunt egale între ele:

2 2 2 2
leg 1 leg leg 0H 0n 0D( H) ( ) ( ) –E E p E n m c m c M c= = = +

���05� ;���!�� 

� �!� �+!�#�!�� �����#�� �
�� ��%���,� ���#����

�!���
�"� �� �����ei expresii.
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��%��������������

 ��� �
%�.����������

��%��������

��,��+����
 �	������

$

�
�����������
����!�������
�!����!�������'���
&��������#�#�
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� �#�
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� 3��
#�

� ��!���#�

� �#�#�
	� ��
��� ��

�!������� 
����%
��.
B��
� 

��� �!������� �#�� ��"���:
– prin dezintegrarea nucleelor radioactive,
– prin ciocnirea unor particule nucleare accelerate cu nucleele,
– în urma unor ���� 

� �!�������

Radioactivitatea este proprietatea nucleelor unor elemente de
a se dezintegra sponta�� ��
�� ��
�
�� !��
� ���
� 

� �#��!��!����� ��!

������#������
��; aceste elemente se numesc radioactive.
$

��
������
��
� �
���
��� ����� ��#��
�� !�#�� �!%���� �� ��

��
��"� '�� ���!�"� �B�
� C
� .#
� D3	, este� �!�
�"� ������� �����!� �� #

��#��%
� ��� radioactivitatea arti����
��
� ��������
��
�"� �!%���� ��#�

��#�!��� ��� #����� �
���
��� �"
� ��!%�
�
��� �"� radioactivitatea este
un fenomen natural).
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� ����
	� �
���� �� �����

(!�"� ����#���
���� sa� ��� �"���� H���
� BECQUEREL (1896), în
urma studiului unor minereuri de uraniu, J. ELSTER &
� H. GEITEL

consta�"� �����
������� ��"������ ���#��� 
��"� '�� �
��� �� 
�����
�" 
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� ��
��� ��� �"���� ������� �!%���� �� �����	�

�����
�� ���� �!��
���� �����!���� '�� ������"� ���
#��"� �!� ��"���

�"� ��#��
��" 
��� ���
� 

�#�� ��
��� �!� ��� �#�
�
�"� ���"� �!%���� ���

���
#���
��:
– �!��� �!�!��� ��� ��������!�
� &
� ����
!�
� �
�
����


– �!��� �������� '�� �$��!�
� ������
��� &
� ������
��� 
������,
– se ���"� '�� �!%���� �� �!� �#��#�
 
�� �3
�
�"� �
���
�"�

;#���!�
�����#����"���
�
��������
� 

����%!
���"��
��#���#��
�����

@
�����"I
���#�!��"
��#���
���"�'��@�
��!�I���#�!�!

����!�������!��"

�"����#���!��������
#���
�
������!������#���#��
����������#�!�!

��


�� @�$�%!���!
I� �����!
�� ����
� !����
#�
� ���� �!�
�� nucleu.
1�!�
!�����
� 

�#����
�������!%���� �������
#���
����������!���

��
�� �����
�� ���� ��� ���
���� ���� �����#��� '�� �$��!�
� ������
��� &


������
���������"�����"����
� 

�� emise de nucleele radioactive sunt
de trei feluri� ��
� β� &
� γ	
 �!�
��� ������� �!�"� ��
����� �
����� ���

����%��!�!
� �����

$

�
������� sunt nuclee de heliu, &
��!�!��"�#��������#��
��" 
0

– ������!��������
���
��������!������

�'�������8�<�&
 6 MeV),
– parcurg în aer �
���� �� �!��
���� '����� 3 cm &
 10 cm,
– ����� ��
�� �#
 �� foarte �!% 
�
� ��� aur,
– �#���
�#��
������!������������!%���� "��! grosimea de 0,1 mm,
– au o mare putere de ionizare,
– �!��� '���"&�
��� ��� ��������� ��
�� �!%���� ",
– pot produce (la ciocnirea cu alte nuclee)� ���� 

� �!�������

$

�
������ β sunt electroni (β–) sau pozitroni (β+)
� ��


����������� ���$�� ���
� 

��� �� ���� ��� �66� ��� #�
� ����
� 

��� β� �!

�����
�������8�<����"%����$ 
�������
�'�����
���!�7������'����!�
�
!


��$��� '��"� #��
�"� �!����� ��� 
#�
�����

$

�
�iile γ� �!��� ����� ��
� ����������
� ���"%"�$��� ������� �!

��#�
�
�����!��������
�������!��!������
��������$��!�
�������
�����!

������
��
� ���
� �!� �!� ����
�"� ������
�"��B��
� 

���γ� �!��� ��� ���!�"

������#������
�"
���$����!��
������!��"��
�"�����
������
������	�

%�
����/�����
 ��0�
 1ααααα2

Dezintegrarea �� ����� ��
�
�� ��#����"� ��� �!����� ��� 3��
!� ��

�"���� !����� �!����� �����0
4 4
2 2

A A–
Z Z –X Y.→ α +

1!��� �!�#��! 
� �
�����6���� 
�#�#�
����!���
� &
���
��!���� �!��

��� 
�#�#�
� ���
�
�
��
�� –radioactivi.
Din punct de vedere clasic, emisia particulelor ����� ���%!
��"

�������
�����
���������!���!
���
������
�'���
��!��
R

αv
 (în care R�����

������!���!�!
�&
� αv  este viteza particulei � în interiorul nucleului).
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�
��� !���
�
��"�
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� �������� �����
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������ ���
�����"�

� �����
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�

Acest timp, pentru energiile Eα cuprinse în intervalul 3��� 8�<

&
� �����!� ������� !�!���� ���� �!�����#�� �����
� ���� de circa
10–22–10–20 s.� 5�� ����
����
� �
��!�� ��� '�+!�"�" 
��� ���
��"� '�� �
�
��

�#����� ����

� ��� ��� ���
�
� ��� �
��#���!��"� �$�"� ��� �
�
����� ��� ��


(10–7–1017 s)����������
���
������"���
��"�„ceva” ce ��$����"���
�
�

����
�!���#���; este vorba de o  �
������
���������
�" ���#�
�"��#� ��#�

�!������ ��� ����� 
�
� 
������
� ��� �!� ���"� ��� �� 
!��� �
�
�"� ��#����

�
�"	� &
� �#� ��#�� �#!�#�%
���� ���
� ���%�
� ���� �!� ���"� ��� �� 
!��

����
� �����
�� 
��
�
�").
(�&
� �
�� �!���� ��� ������� ����
�� ��
���� �� ������
� %��
���� ��

�#��� 
��� 
�����
��� �#���� ��
�
�� ��� ����
�!����, din punct de vedere
cuantic particulele �� �#�� �������� ������"� %��
��"� �!� #� ��#%�%
�
����

��
��������!���
��
�"
�fenomenul numindu-se @efect tunel”,��!�"

�!������"�GAMOW� &

� 
����������
� CONDOR� &
EGURNEY (1928).
�
� �!�����!�!�
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�� �!���� ��� ������� ����
�
� �����
�

����
�!��
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���"�în afara��!���!�!
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�����
����!���
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���microparticulelor �!������
�
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��� ����
�!���#�� ����
��
� ��� !������ �� ��������!�!
� �!��
� #��!���

�#�
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� ��� �����#�� �
��#����
�!��.
Efectul a fost numit efect tunel
� �����!� �"� �����
�� ����
�!��


alfa localizate în afara nucleului ������!
�� cu energia ei în interiorul
nucleului: particula ����#��#��"����&
��!� a���
��"�
��#�%��&"�„prin”
%��
��"
���
������%"����$�� �"� �
� ��
�
��#� �����
�� �!��
������"� ����

�"� '
� ����
�"� ��� �����"� „peste”� %��
��"�
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 -���
 1βββββ2
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���������� %���� ����� ��#���!�� ��� ������#������ ��#����"� �

�!�����#�� 
����%
��� '�� �!����� 
�#%���� ��� ��� ��#��%���� ��� �!���!�


�
 
���prin ΔZ = ±1��-#� ��������#���%
���������
����������%�����!��

�������� �����
��� ��
be.
<��
� 
�� �!�"�!�!
� ��#�
�� Z cu ±1 se poate produce în trei

moduri:
1) ca rezultat al emisiei unui electron (β–):

–1 1
A A
Z ZX Y+→ β + + ν� )

2) ca rezultat al emisiei unui pozitron (β+):

1 –1
A A
Z ZX Y+→ β + + ν

3) ca rezultat al captur"�

� !�!
� electron apropiat de �!���!

������� ���#���� ��� �!��&��� ����!�"� ������#�
�"
� ;���	0

–1 –1 ,A A
Z ZX Y+ β → + ν

unde νν M
&
 sunt particulele neutrino� &
� antineutrino.
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>��������#������#��������#���!��
����" sunt favorabile energetic.
Procesul de �
���������������������������!��������
������ 
uni


������#������
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������!���!�&
�������#�

��"�!�
�#����#�
���&
��#���"

'�� ����!��� !�!
� ������#�� ��� �"���� �!���!)� �#�!�� ������� ��"���� ��

������#�!������!��������!���!	������#�!�������������#�

��������"�!�
��

�!���
#����� .�
�� rearanjarea �����#�� ������#�
� ����� ���
� 

� X care,
prin efect fotoelectric, pot produce electroni AUGER; detectarea acestor
electroni (Lise MEITNER, 1923)���&
��#��!�
��������
� �������#perirea
capturii electronice (ALVAREZ, 1937).
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Dezintegrarea β a ridicat probleme delicate legate de emisia
electronilor/�#�
��#�
�#���
���!���!����&
��
�nu������
��"�'���!���!!	
&
����������!���#���#��
�!!����������#���
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��#�������!���
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�ar rezulta o

valoare ������
���"� �� energiei electronului emis: Y

X e
cin

m Q
E

m m
=

+
,

unde 2
X Y e( )Q m m m c= − − 
� 
��� N� &
� O� ������
��"� �!������� 
���
�

����).
1�!�

��� !����
#���� ���*4	� �!� ��"���� �"� '�� ���
�����"�
��� β
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„�!�� 
ei cuantice” ���!��", fapt ce a impus reanalizarea unui con-
cept fundamental al fizicii.

Tot procesul de dezintegrare β ��
��!�����!�#�&��������
���� �


�#� ��#�� nucleare slabe, studiul lor generând introducerea unor
concepte noi în f
�
����#����"
� ����� �!�!�� �#�� '�������� '�� ��#�

��

�#������ ��� !�
�
����� �� �!�!�#�� �#� ��#�� �
�� ���!�".
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În acest moment (2007)
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������ 
!�
��� electromagnetice,
nucleare slabe�&
��!�������tari sunt unificate
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�PAULI

(1932	����"�!��
�#������"�'����#���!��β se emite din��!���!�&
�#����"

����
�!�"�'������������
�!��
�β
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���!��������������������
� &


cu spinul semiîntreg,� �!�
�"� !����
#�� neutrino.
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���������#�!�ui emis) ����������
������"��!������
�

��� ���
��������� �� ��#���!�!
� β� �����!���"� �
�� �
����� �� �����#�� ��

����!�� ���� ����
�!���#�� 
���
����	
� ���!��"� �"������ ������
� ����
�!��

���%!
���"��
��extrem de��
�" (la început s-a considerat c"��������

����!���������#������
�!�������
��!�")���!�����&�
���"����#������
�����

���!�"
� ���� ����� �
�"� �����!� �� �!���� �
� �"�!���"	.
-

���"�'�����7�fusese�����#���
����!��#�!�
�����
�!����#��!���"

���PAULI �&
��#��
�����"�@3# !����������
�A	�a fost numit"����FERMI,
în 1933, „neutrino” (diminutiv italian de la neutron).

Ipoteza lui PAULI
���������"�
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�����@�����I����
��

����#�����������
��
��
����#���!����
#����������"��"�"������������!�����

�� �����
�� ��#�� ���� (un sfert de secol mai târziu) au dem#������

��
���� ������"������
neutrinilor &
�neutrinilor (REINES, COWAN, 1956):

1 1
1 0e p n +ν + → + β� �

Astfel s-a ajuns la concluzia – �#����� 
��#�����"� �� �"

���
����������β��!�
���
�"��!���!��'���#���
��������
�ci doar nucleonii
individuali, fiind un proces „localizat”.

Procesele de dezintegrare β pot fi corect descrise doar în cadrul
teoriei cuantice relativiste a câmpurilor (E������
��
	��
���
�����)
prin analogie cu procesul de emisie de� �#�#�
� ��� �"���� ��#�
� ��!

�!����
�'������!���"��#�
��#�!��&
�������#�!�������
�!���!&#���
��!�
��

����#�
	� ��� �#�����"� �3
��� '�� �omentul emisiei lor din nucleu:

1 1 0
0 1 1– en p ,→ + β + ν�

1 1 0
1 0 1 ep n .→ + β + ν
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.���
�!��� ����� '��# �&��� ��
�
�� unui electron este an-
tineutrino
� 
��� ���� ����� '��# �&��� ��
�
�� !�!
� pozitron (sau anti-
electron) este neutrino, urmare���!�#�����
�����#���������������!�"

�!�� �!���
�"�

.���
�!����� ��!��
�#� &
� ���
neutrino care apar în radio-
activitatea β se numesc, respectiv, neutrino electronic� &
� an-
tineutrino electronic, deoarece sunt diferite de ����� ����
�!��

����"�"�#��� (care apar în ���
�����"�
�� mezonilor pi� &
� tau).
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� �!���#�ilor
�#���"��!��������quarci.

Quarcii sunt, de fapt, sursele
câmpului nuclear, ale câmpului
electromagnetic� &
� �����'	�����
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� ��&
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!����gravita����
��).
Cuantele câmpului slab numite
bosoni vectoriali masivi 
�(
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�#�� ��� P�<	� &


��
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�
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��!��"0

r � 10–15 m.
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�� γ ����� #� ���
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�� ������#������
�"� cu lungimea� ��

!��"��
�" (sub 1Å), deci cu energie mare. Energia cuantelor γ���
��

����!�����������!��
��"� '�����0,010 MeV� ���
�"��6�:�<	�&
�*�8�<�
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�$��� �!���!�� ����� ������
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Î�� !���� !��
� ���
�����"�
� %��� (deoarece un neutron s-a
transformat într-un proton), nucleul rezultat (rezidual)��#�����"�$��

'����#� ������ ���
���")� ��
������� ��"�

� �!����������� ��� ��� ����� ��
�

��
�
�� !��
� �!����� γ��C�� ������!� ����� ���������� '�� �
��� *�7�
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����/�����
 ��,������3�

B��
#���
�
������ ����� '�� ���� "�!����#���� statistic
� �&�� �!���

��"����SCHWEIDLER care a dedus în 1905 ��!�
�
������!�������

��
�*
���� din considerente statistice:

–
0 0( ) exp(– )tN t N e N tλ= = λ 


unde N(t) ������
��"� �!�"�!�� �!�����#�� ���
#���
��� existente la
momentul t, N0� ������
��" �!�"�!�� 
�
 
��� �la momentul t0 = 0) al
nucleelor radioactive, iar λ ��� �!��&��� constanta de dezintegrare
sau �����
�����

��
����� (&
�������
��"���#%�%
�
������������
��������

�� !�!
� �!���!� '�� !�
������ ��� �
��	. În S.I. �#�������� ���
#���
�"� se
�"�#��" în s–1.

Deoarece unii nuclizi se pot dezintegra în mai multe moduri
(numite canale), probabilitatea de dezintegrare în unitatea de timp
(pe toate canalele	� ������
��"� �!��� ��#%�%
�
�" 
�#�� ��� ���
��������

'�� !�
������ ��� �
��� ��� �
������ ������ '�� �����0

1 2 ... nλ = λ + λ + + λ �

Invers!���#�������
����
#���
���������
��"���	����	�
���
����
��

al unui nucleu radioactiv: 
1τ =
λ

)��#��#������

����
�����"�

����
#�

���
��
� �!�"� ������ 
�������� ��� �
��� �!�"�!�� �!�����#�� ���
#���
��

������ ��� e ori (unde e este baza logaritmilor ���!���

� �!�"�� �����

��������
� ���#�
���
�� ����� �! 2,71828...).
1"� '�����"�� �"� ���!���� ������ ���
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� ���
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��.
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Δt)� ����#�!�������#�#� 
#���
����� ������
��"� �#���
���#%abilitatea de
dezintegrare a unui nucleu în unitatea de timp, λ: N N t−Δ = λ Δ .
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� ����$��� ��� �
�
�"� �Δt →� 6	
� #% 
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1 d
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N

N t t
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( )

N t

N t

′
= − λ 
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–
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Deoarece
d

d

N N
N

t
− = λ =

τ
, tangenta la grafic într-un punct oarecare

(având panta 
d

0
d

N

t
< ) taie axa timpului la un interval egal cu durata

medie� ��� �
� "� τ (egal" cu inversul constantei radioactive λ).
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Pentru o reprezentare mai intuitiv"
� �"� ����"�� ��� ���� 
�
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ln 22

x
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 Uraniu 238: 4,5 miliarde de ani.
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I. Prin emisia unei particule
α din nucleul X� 
�� ��&����� !�

�!���!� ��� �������!�!
� Y situat
în Tabelul periodic al elemen-
telor cu 
��� locuri mai la
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��β–) ����"�����!���!��X,
��� �#�����"� !�� �!���!� ��

�������!�!
� Y� ����� ��� �
�!���"

��� �#�!�� �	�
�
�� ��	����

elementului X din Tabelul peri-
odic al elementelor� &
� ���


���
#�� �!�"�� ��� ���"� �A	� �!

�!���!�� �"�
���� �X):
�!��
�!��

A
Z X � ��� ������!�"� '�

�!��
�!��
�S�

�
-�

Prin emisia β+
����#% 
�������

����!��Y situat pe locul imediat
anterior elementului X din
Tabelul periodic al elementelor
&
���$���
���
#���!�"��������"

�A	� �!� �!���!�� �"�
���� �X):

�!��
�!��
A
Z X � ��� ������!�"� '�

�!��
�!��
���

�
-�

1��#%����"��"���
����
�
��β+

s�� #% 
�� �!����� izobare� ��!

�����&
� �!�"�� ��� �!���#�
	�



��)������� �	�
��
�

.��."�$�������"�����!������!��������
#���
��������
���!�����'�

���

� ��
������ �

��
�����) în care nucleele radioactive trec dintr-o
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�!��� α sau β.
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14N(n, p)14C  se produce izotopul radioactiv 14C
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CA BA B C Xλλ λ⎯⎯→ ⎯⎯→ ⎯⎯→ ⎯⎯→�

unde A este nuclidul ������� (începutul seriei radioactive), B, C, ...
sunt nuclizii fii, iar X este produsul final, un nuclid stabil (ultimul
termen al seriei).
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stare de echilibru secular.
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!��"�#������ �#���0�, n, 4 n + 1,
4 n + 2, 4 n + 3. Dintre acestea, '�
���!�"� ��
��"� doar trei serii: a
Thoriului (4 n), a Uraniului
(4 n + 2), a Actiniului (4 n + 3).
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Seria Simbolul T1/2 [ani] A(n), A ∈ � �������!�

�
���� ���%
�

toriului 232
90Th 1,39 · 1010 A = 4 n 208

82 Pb

neptuniului 237
93 Np 2,25 · 106 A = 4 n + 1 209

83Bi

uraniului 238
92 U 4,56 · 109 A = 4 n + 2 206

82 Pb

actiniului 235
92 U 8,52 · 108 A = 4 n + 3 207

82 Pb

Studiul �
����������

��
�����
������
����
��� 
����������
�serii
(sau familii) radioactive natu-
rale� &
� �� !��
� serii radioactive
artificiale.

Pe baza legilor de deplasare
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cu un multiplu de patru (deoa-
rece particula alfa are A = 4, iar
particulele beta au A = 0). B��
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�� nuclidului final
stabil, bismutul 209

83Bi ) sunt
artificiali.



��1 �����������	�
� ����
	� �
���� �� �����

)� ���������!���
��%������

�!� ����
�!
#!*#������

%�������
��%����� ��

�!� �����
%�.�"�����

�������+�	���
 ��,��+���
 �	������
 �	
 '	-'���+�

2��������������
� 
�
��������
���
���
����!%���� ������
���!�%


%��#�	���������
������ 
#����"��!��!%���� �, producând anumite efecte:
– ionizarea,
– efectul fotoelectric intern &
� extern,
– efectul COMPTON,
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În urma acestor fenomene, fotonii gama ��������"�!
�������
� 
�

�"�"����� ����
�!�!�� 
��
����; ca urmare, intensitatea fluxului inci-
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X  fluxul scade de 4 ori
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. S���"�#��"�'��röntgen
(cu simbolul R).

În sistemul röntgenologic (folosit pentru evaluarea efectelor
biologice ale razelor X�&
�γ de energie sub 3 MeV), 1 R������!�
�����

��� �#�"� ����� ������"� ��
�� 
#�
����� '����!�� cm3 de aer în con�
 



�#������ ���#�
���
�� 7
6�E⋅ 109
� �����3
� ��� 
#�
��#�#����� 
.

Echivalent, 1 R ������"�într-un gram de aer 1,61 ⋅ 1012
�����3


��� 
#�
��#�#����� 
: 1R = 2,58 · 10–4 C

kg
.

����� �
��

��� (D�� ����� �����
�� �����"� ��� ���
� 
�� 
#�
����"

!�
�" 
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�
!	�� D = 
W

m
� &
� ����"�#��"� în gray (simbol: Gy): 1Gy = 1

J

kg
.

Dozele abs#�%
����������!��!�����"����������&
��������%
#�#�
��

�� ��� ������! doza de �� PY� ��� ���
� 
�� α� '����!��  ��!�� ����� ��


���
�!�#as" decât doza de���PY�������
� 
��β
 deoarece particula α
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�"� ������
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β
 pierde� ��
� �!��"� ��ergie de-a lungul traiectoriei.
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0–0,25 Gy0� �!� ��� '����
������"� �
�
!�� ������ %
#�#�
�� ��!

���
���
� 
���
���sau ��� ������� �!��
��
�
� ����#�
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�
� �����!� i;

0,25–1 Gy: apare�#������ 
��������� "�&
���� '����
������"�#

!&#��" leucopenie (��"������ �!�"�!�!
� leucocitelor din sânge);

1–2,5 Gy0� ������ ��� �#�"
� �#�
�
�"�
� ���� �
��!�� 
�
� ����

�!
��)�������
������
��"�"�#�
�'���#�����!������!������������
����

��� �
�!� 
�� �#����";

2,5–5 Gy0� �#����
� ���� ��!���� �"�"�" 

� ���
�� ���
#���,
spitalizarea este obligatorie; da�"��#����� 5 Gy este pr
�
�"��
����#

���"
� ��� ����� �����"� '�� *6Q� �
�� ���!�
;

peste 5 Gy: �#������ ����� ���#���� 
���
��%
�"�

D��
���#�

� ���� !�#�� ����
�!��� 
#�
�����

'�� ������� �!� ��� "�

������	
��

O unitate ��� �"�!�"� �����!

�#����%�#�%
�"��������!���
�����

�#�#�
�"� '�� �������	� ��� �!���

rad� ����!�
��� ���#�
�"� �� ex-
presiei Röntgen Absorbed
Dose): 1 rad = 0,01 Gy.
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#� ���"� �"�
��� �
�
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� �!�
�"� ����� 
�������� (B) sau echivalentul
dozei.
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� ���"� ��� ���� 
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����η�3


unde η�����������
�
�����������
�")�����"�#��"�'����m (de la Röntgen
equivalent man), care coresp!���������
�
����6
6��G��%�#�%
�"����!�

������ ��� (spre deosebire de rad
� ����� ��� �����"� ��� �#��� ��� ���
� 
�

�%�#�%
�"� ��� #�
��� �!%���� "	.
2�� #��� ���!��"� ��� �#�#��&�� termenul de echivalentul dozei


�"�
��� ����� ����"�#��"� '�� sievert, Sv;

��1��F� �

J
kg

F� �66� ����

Factorul η� 
�������������#�!��'�������#���!�
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�������������#�!���������

������� .����!� ���
� 

��� γ, X, β η� F� �� &
� �����!� ���
� 
�� α η� F� 76.

Dozele biologice sunt aditive; de aceea, efectele iradierii s�
�!�!����".

Echivalentul dozei constituie un indicator al riscului la
expunere a unui anum
��  ��!�
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��� �!��&��� �#������
�"�����
�"� �Bmax = 1 mSv/an).
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�!� �+!�#�!�� !�!
� ������� �!�
�� dozimetru.
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������� �����
��� �!��� !�� �����%�!� ��� ���#����� ����� ��

��#�!���$��������3
�%"����!��!���!�!
��!���!���#�
��spontan sau în
urma �����
�������� ����� �!� !�� ���� �!���!
� �!� #� ����
�!�"� �������#�


��!��#�
� ��#�#�
� ����
�!�"� α etc.) sau cu un foton.
B��� 

��� �!������� ��� �#�� ����
�
��� �!�"� tipul particulei

incidente, energia particulei incidente
��!�"�	��
���	���
����
����


�!�"���	����� 
��	
��� 
�� ���������� ����� etc.
�������� ��� ���� 

� �!������0� fisiunea spont
��� &
� ���	��
��,

fuziunea, ��
������� ���������
��� ���� ������!
� �#�#���
���������

��!���#�!�!
	��B��� 

����!��������!��#���!%��� 
!������������������
��.
.�
��� ���� 
�� �!�����"� �� �#��� #%������"� '�� ����� ��� �"���

RUTHERFORD '����������!���� "0�
14 4 17 1
7 2 8 1N O H�+ → + �� 5���������
�#

���� 
�� �!�����"� ��� �#���� ���
�� �!%� !��� �
�� !��"toarele forme:
a bX Y

a X Y b

A AA A
Z Z Z Za + X Y + b→  sau ( )a bX Y

X a b Y

A AA A
Z Z Z ZX a, b Y .
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def
Y b X a

cin cin cin cin cin= � � 	 � � 
Q E E E E

&
� ��� �#���� ����!��� �!� �+!�#�!��maselor de repaus ale nucleelor:
2

a X b YQ (m m m m )c= + − − ,

sau folosind masele atomice (deoarece masele electronilor se reduc),

sau utilizând energii��� 
�� ��!������ 	�
��� ��� ��������
A

W
B

leg= ���

����
�
��� 
�#�� ��� ���� 
�0

b b Y Y a a X XQ A B A B A B A B= + − −

6�����
���7� ���"� ��
����� ����
�
��� 

� ��� ���� 
�� ��� ���"

��#�#�
� ��!� ��!��#�

� Bp/n = 0.

Se numesc r	������ 	��	�	
�	���	 cele pentru care Q� U� 6� ���

��
%�����"� �����
�	� Se numesc r	������ 	���	�	
�	���	 cele pentru
care Q� [� 6� ������
�"� �����
�� �����!� �� �
� ��#�!��	�

Energia de prag� ����� �����
�� �
���
�"� �
�
�"� �������"

��#�!���

� !��
� ���� 

� ���#energetice. Situându-ne în S.C.M.
(sistemul cent������ 
�� 	
��	� '�� ����� �"�
�
��� �!��� �#����� �!� \	

#% 
���� prag cin,a cin,Xmin* * *E Q (E E )= = + , deoarece numai în S.C.M. (în

care * * * *
a X b Y0p p p p+ = = +� � � �

) putem avea cin,b cin,Y 0* *E E+ = . (��"�  
���

X ������"�în repaus, energia de prag în S.L. (sistemul laboratorului)

se po��������!��
�'�����!���������
�
��
��!����� 
�0�
SL a X
prag

X

m m
E Q

m

+= .

��	������� �����	�

Un reactor nuclear este o i������ 
�

�#�����"�'��������������
����"��#���#���
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� ��� #� ��3
�"� �#��!�"� ��� ENRICO

FERMI.
Deoarece în ��
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� 
�� �������� ��
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%�����"� ��!��#�
� ������ �#�� �
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�#�

����
�
� �"� �
�� �!���!�
���0

[Nn term> ≥ 1.

M
�
������������������
�������
�
�"

��� �����
��� �
�
#��%
�� �������"� �����!

����� 
���#����� 
��'����� ���!�"�!����

��!��#�
� ������ 
� ����� ��
� ����� ���$�

�!�"�!����!��#�
�#���%�#�%
 
�������
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��%
���	��Exemplu: pentru U235
92 	
�


������� este de aproximativ 2 kg.
Elementele principale ale unui re-

actor sunt: 1. materialul fisionabil; 2.
moderatorul; 3. reflectorul; 4. �����	��

�� ������; 5. �����	��� 
�� �������� #�
���������.
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�� ����� ��#���!�� ��#����� ��!� 
��!�� ���� �"���

��!��#�

� ����
�!��� α, protoni, deuteroni, fotoni γ) de diviziune a
nucleului atomic� '�� �#!"� ��!� ��
� �!���� ���������� ��� ����

�#�����%
��)��#�!������
�
�
!�����������
��� .�
������� 
������
�
!��

�!�����"���
�!���"����#�������
���"�'�����������"����HAHN, STRASSMAN

&
�MEITNER prin bombardarea izotopului 235 al uraniului cu ne!��#�


��� 
� �����
�
	0�
1 235 236 144 89 1
0 92 92 56 36 0U U Ba Kr 3n n∗+ → → + + �

>������� ����� #� ���� 
�� ��#�������
�")� �����
�� ��
%����"� '����#

�
��!�"� ���� 
�� ����� ��� ���#�
���
�� 766� 8�<� ���� �
�
!��� &
� ��"� ��

%���� ����
�"�

� ���������#�� �!�������

D�#�
���
�
!�

����#������%#���"����FRENKEL, BOHR�&
�WHEALER.
1!%� �� 
!���� !�!
� ��!�� ��� ��!��#�
� ���
�
� ��!� 
�������
��
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�
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�
� ��#�!�

�
�
!�������!��
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�
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�!���
!�!
0
233 235 239
92 92 92U U U, , . Nucleele

având ��U���6��#���
�
#���&
���#������-
�
!������#����"���!���
!�!
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Reactoarele nucleare ��� �#�

����
�
����!�"���
��!������
���

�

De exemplu, sunt reactoare
omogene &
 eterogene, reactoare
energetice sau de cercetare.
Unele reactoare sunt regenera-
tive
� ��
�"� ��#�!�� �#�%!��
%
�

�!������

>��
�� 

� �����
��� ���

�����#����#�0

1.� '��#�!
�����#�%!��
%
�
�#�

�#�
�
� '�� ��#���!�� �����"�

� ��

�����
�� ������
�")

2. producerea izotopilor
radioactivi artificiali pentru uz
medical, industrial sau de
cercetare;

3. producerea unui fascicul
de neutroni de intensitate mare
pentru studiul ciocnirilor
nucleare;

4. Producerea elementului
fisionabil plutoniu (folosit dr���

�#�%!��
%
�� &
� ����#�
�

�!�����	�

Exemplu:�;���������!�����#�

������
�"�������;�����#�"��!���
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;>/(C��Canadian Deuterium−
Uranium	� &
� ���� #� �!����
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�
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�� ��
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��


��#
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�

Combustibilul este uraniul
natural���!%��#����!�#������
��

����
#�
�����!���
!
�������#� 
�

6
�Q� U235
92 , ce pot fi utilizate

timp de 2−3 ani) iar mode-
ratorul este apa grea (D2O).
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�� ����� ���� 
�� �!�����"� ��� �
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a) liniare; b) ciclice.
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a) nere-
lativiste; b) relativiste.
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 a) pentru electroni;
b) pentru protoni.
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.

(!�"� ����� ��� ����!�
� ����
�!����� ����������� ��� ����
�
�"� '�0

– fotoni� ��!� ����� ��� ����!�� �!�"	


– leptoni� �����
�!��� !&#���0� ������#�� &
� �#�
��#�
��
!#�
� ��!�

��
�o),
– mezoni� �����
�!��� �!� ���"� 
�������
��"0� �
#�
� &
� :�#�
	


– barioni (particule grele: nucleonii	� &
� hiperoni (particule
supergrele: lambda, sigma, omega).
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� ���������� �� �� ����
�!���#�� '��"������ ����� ����
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���������".
Quarcii (Yuval NEEMAN�&
�8!���Y�GELL-MANN, 1969) au sarcini

electrice ��
�����
�� 2
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Spinul consti����
 �
 �����������
 ����������
 � particulelor ele-
mentare-
 ����
 ��!�"�	���
 �	���� (��
 ��
 ��#���/��
 	�
 �������	�


acroscopice),
��
������/��
��
��

�
���
�������
�������
�����
�
��

<
 �/�
 ��

 ���
 ��������
 ������	
 <
 �������
 ��
 
�/�����
 ��
 �������
 �

�������	��
��
.���	
��������
����
������������
���������
��
��
�������

��
��
�����
 �������
 �	
 
���, s: ( 1)S s s= +
�

� .
���������	�
 �����	��
 ��
 �
 ���
 ������
 ���
 ��emplu pe
 ��������

	����	��
 ��
 ��
�
 
�#�����
 �
�#���
 ����
 /�
 �	�
 ������������
 ����

�����
����	
 ��
���	��
 �������

�#�����
 ��
 ����
ms.
�������	�	�
 �	�
������
 ��
 �
����-
 ����
"�	���	�
 	��
s-
 ��
����


���
 ����#���� 
 fermionii (pentru care s
 ����
 ��
������#�
 /�
 bosonii
(pentru care s este întreg).

Sistemele de particule identice sunt descrise, în me������

��������-
 ��
 ����������
 ������� 
 fermionii
 ����
 ������/�
 �� statistica
FERMI-DIRAC /�
 ����	��
 ��
 ���������	
 ��
 ���	������
 �	
 	��
 �37=2

(explicând
 ���������
���	��	��
 /�
 ���
�	��), în timp ce bosonii
 ����

������/�
 ��
 statistica BOSE-EINSTEIN
 /�
 ��
 ��t afla ������
 ��

�	��
 ��

�����/�
�����
����#�����
(explicând astfel
���������
��������	��
�������,
de ex. LASER).

Momentul magnetic. T������
 �������	�	��
 �	�
������-
 ��
 �

���
���
 
���
 /�
 �������
 �	�������-
 	�
 ��
 �������� un moment mag-
netic μ

�

 	�#��
 ��
 
�
����	
 �������
 �������
 ����
 ��	����

�

�

	

�

��

%

±=μ , unde S
�

 este momentul cinetic de spin, iar g este un

factor numeric.
5�������

�
����	
�������
�������
����
�����������-
����	��
��

/�
 
�
����	
 
�#����� propriu este cuantificat:

�'��'�

%
�

+μ=+=μ 





�

	

�
��

��
-

unde
�� �

μ  este magnetonul BOHR–PROCOPIU, fiind descoperit de
fizicianul român >�����
PROCOPIU
 ��
')'%
/�
 ����
��
;��	�
BOHR în
1913. Magnetonul BOHR–PROCOPIU ����������
 ��
 
�
���
 magnetic
elementar.

Pentru electron: –24 2
– 9,273 10 A m

2B P
e

e

m
μ = = ⋅ ⋅�

.

������
�	����
�	
�����
τ
�������
��
����	
��
������������
����

����
 ��
 �������#�����
 �������	�; τ poate fi practic infinit (pentru
particulele elementare cons�������
 ���+�	� 
 ������	-
 �	�������	
 /�

���������	-
�������	
/�
�����������	-
��������	
/�
������������	�-
mediu
(pentru neutron: τ = 917 s), scurt (10– 8 s, pentru majoritatea
particulelor elementare) sau foarte scurt (10– 23 – 10– 22


 �-
 ������

�/����
�tele �	������	
 ����	��	).
Paritatea
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�
�����������
	�#���
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Ψ ��������
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� �!�"� �!�� ��� #��
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��� �!�� 
�� ��

!��"� ��#�
��"� Ψ� '&
� �"������"� ����!�� ��!� &
��� ��3
�%"�� (��"� !�

�
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��!��������
�!��
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���"� ��� ��#�!�!�� ���
�" 
�#�� ����
�!���#�E�#��#������� 2����

�#�����"�

� ���
�" 

� �!� ����� ���������"� '�� ���
���������� β (fapt
descoperit de WU� &
� ����
���� ��#���
�� ��� LEE� &
� YANG în 1956).

Izospinul sau spinul izotopic T
�

: particulele elementare� �!

��#��
��" 
� ����"�"�#���� ���� �!� ����
�
� �
���
��� &
� ����� ���#�
���

�#�����"����
�

��!�
����!��
��� 
��������
�")�����#��
���"��"����%�
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�
�
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���
�������!��
��
��!�������
�!�������������!0

��#�#�!��&
���!��#�!���!�����"�
��
���
te ale nucleonului). Izospinul T
�

este descris printr-!���!�"���!���
��T �����������
����"����������"�
�

/!�"�!��N� ������%�
�#��!�!
��!��
�������� ����
�"������ �����

��� ��#
�� 
�� izospinului pe axa Oz, Tz,� ��
�� ���� 
�0� N = 2 Tz + 1;
��#
�� 
��Tz ��
�#��
�!�!
��#�����!�����#�
�'�����
���!����
'�����

�
��

�!�"��!�"�!�������#�����#�
��!��
����!���������
�"��#�����
0��
�����


�!%���
� ��
����
� ����

��	������
��������������!���!�"���!���
����
�
�)�������
%!
�

�!�!�#��%��
#�
�#��(B�F��	�&
� �!�!�or antibarionilor (B = ���	����
��"

���� 
�0� B = 2 (Z – Tz).
��	����� ��������� 1� ����� �#�� !�� �!�"�� �!���
�� ��
�
�� &
� ��

���
%!
���!�!�#������#�
�#���L = �	�&
��!�!�#�����
����#�
�#���L = – 1).
Stranietatea S� �����!���!�"���!���
����������
��
��:�#�
�#�� &


3
���#�
�#�
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��� ������ ��� ���������� �!����� �!���
��� ��
�� ���� 
�

���
�
�"0� ,
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Y
T
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TZ zz +=

+
+= Y purtând numele de �����*

�
�����.
1����
���������������
%!
�"��!��
�����
�!���#������������������

��������"� '�� �����3
� �'�� ���� ii nucleare la energii înalte).
Pentru nucleoni S = 0, pentru hiperonii stranii S = – 1, pentru

mezonii stranii S = 1.
Antiparticule�� -
��"��
� ����
�!��� ����������� '
� �#����!���� '�

���!�"� #� ���
����
�!�"� �!����� ���
����
�!��� �#
��
�� �!� ����
�!����

�����ctive: fotonul, pionul neutru).
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�
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�
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����Z, S,
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� ���#�
� �%�#�!��
� ���� ��� ������ #�!��)

������
�!�����&
����
����
�!�����
�!���&�������!������
3
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�����3

� '�� �$��!�� �!�����)

�� �����!� ��� #� ���
����
�!�"� �"� ����"� ���%!
�� �"� �
�� ����������

�#���� ���
��� ��� �#��������)

�������!��#���������
����
�!��
����!�
�
����"������&
��
�%#����

&
� ���� �����!�����
�!�"
� �!����#���� �!�%��"� ��!� �!� �
��"0� 
� ν	 (anti-
proton, antineutrino).
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���uni ale particulelor elementare��.���
�!���������������

�#�� ����
�
��� ��� ����!� �
�!�
� ��� 
������ 
!�
� �!����������0� nucleare
tari, nucleare slabe, electromagnetice &
� !�
���
����
��� ��
�
�
��



��#���
�
��
� '������"� �"� !�
�
��� ������� 
������ 
un
)� �$�"� ��!�� �!

��!&
�� !�
�
������ ��
���#�� ���
	�� 9������ 
un
��� �!������� ���
� �!��


�������
���� ��� ���#�
� ������ ����"�!�� ��� YUKAWA, prin ipoteza
câmpului mezonic	
������'����#����������'���"&�
������!������������

�!��
��"��������
�!��)�����
�!�������������������������
�
�"����������


������ 
uni se numesc hadroni.�;#���
%! 

�
��#��������������#������

��#�
�
� 
������ 
!�
�#�� ����
�!���#�� ����������� �� ��!�� &
� �
�
�
��!�

�#�$��>�������!�PROCA.
9������ 
unile slabe sunt intermediate de bosoni�&
�������
����"

'�� ���
�����"�
��� ����
�!���#�� �!������� ����������� �����%
��� ����
��

��������� β).
9������ 
unile electromagnetice sunt intermediate ��� �#�#�
� &
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����"� '����� ����
�!����� ����������� '��"������ ������
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9������ 
un
�������
�� 
#����, intermediate de ipoteticul gravi-
ton,�������
����"�'������#��������
�!����
�'���!�� 
�����������������#��
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�#��#�!�!

� �
��$��� ��#�! 
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����!�!
� �#���!�

B��������"�
�������
������������#��
������ iuni�!�
�
�����'���
�
��

��#���
�"� ��� �!�����diagrame FEYNMANN (fig. 5.5).
Legile de conservare în fizica particulelor elementare sunt

generale sau speciale.
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Sistematizarea p���
�!���#�� ����������� ��� %�����"� ��� ��!�
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�#�� ��� �
����

�

��������	 
���

	 ������	 ��������	 ��
�������
	 ���������
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�������������
�����������	���
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�����	��

�����
������
� �
��" (Steven Weinberg). Denumirea quarcilor (de����

����
����'����!�
������������"��!����#���trei	����#�������!��"��
���#���!�

���

�#�!�!
� 
�������� G����� G#Y��
� Finnegan’s wake
� !���� ��� �"����

!��"�#����������!�
: “Three quarks for Muster Mark! / Sure he hasn’t
got much of a bark /And sure any he has it’s all beside the mark.”.

Fiind fermioni
�R!���

����%!
���"����������principiul de excluziune
al lui Pauli. Pentru a explica de ce particula Δ++


��#����"��
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�R!���


u
��# 
�'�������&
��������!���
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��������"��#�!&
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Geenberg���
���#�!��#���������
��
�"��!��
������"���R!���
�#�����!�
�"

�
������
������
��, ce poate avea trei valori distincte (acestora li se pot
asocia numere cuantice diferite).
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���"�
��
���
��
��!�
����#���� 
#���

Red, Green, Blue� ���
�"� $�#�, Verde, Albastru, notate R, G, B	)� ��

�#��
���"��"����
R!���

� �!����
�!�#�
� �Cyan, Magenta, Yellow
� ��
�"

Turcoaz, Mov, Galben, notate R , G , B 	��(
�� �#�%
�� 
��Red−Green
Blue� ��!� �
�� �#�%
�� 
�� culoare−anticuloare� ���!��"� �
���� �!�#�
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�White
� ��
�"�Alb).

����	� �����������

��������
�
���	��� ���	�������;

,a x y bE E E E+ = + unde
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0 cin .E mc m c E= = +
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a y bp p p= +� � �
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( ) ( ) ( ) ( ).a x y bP P P PΨ ⋅ Ψ = Ψ ⋅ Ψ

9�����
!������� 
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���

������!
��"� Ψ (x	����������#��"

'�� (– )xΨ )� !����� �!�� 

� �!��


������ ������ ��#ciate fermi-
onilor), iar altele sunt pare (cele
asociate bosonilor).
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0�p(uud), n(udd), quarcii având toate cele trei culori
(de ex. uRuGdB), astfel încât nucleonii sunt albi. Particula Δ++
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�
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� �uRuGuB).
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���gluoni��>��&�
�
�'���!�"�����#���� 3 3 1RGB WRGB
× − ), sunt bosoni

(s�F��	
��!����"��������!��n���, nu au� ����
�"�������
�"
�����au sarcini
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încât universul era opac.
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1. Nucleul atomic� �!��!�"�!��������"�A este format din Z� ��#�#�
� &
���– Z neutroni; �������������
��
��
�!�"� �#����������� �!%���� �
� �!������� '����!�� �#�!�� �#����� �
�. În nucleu nu� ��
��"� ������#�
.
9
����
� ���������� �� �!���!�!
� ����� �#�
�
�"0�)� F����
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2. Forma nucleului���������#�
���
������
�")��������������"��������esia
1

3
0R R A= , unde 15

0 1,45 10  mR −= ⋅ .

3�����
��
� �����
����� �����
�� este foarte mare, de ordinul 17
3

kg
10  

m .
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��������elor nucleare
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���� 	���� 
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�
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�
�
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��!���
�������������������
�"��!��
�
cter de schimb (ipoteza câmpului mezonic a lui YUKAWA).
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4. Modelele nucleare cele mai cunoscute sunt: modelul  ����������
�������
", modelul  ���������������
��"
&
� �#���!�� „colectiv (generalizat)”.
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5. %���!�
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�� ��!������ 
� ���������� ����� ����"� �!� �!��!�������
�� �������� ��������

� !�!
� �!���!� 
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������ '�� ����!�
� '�� �!���#�

� �#��#��� 

� ���� 
� ��� ��������� '�� ����!��

2
leg 0p 0n 0N[ ( ) ]E Zm A Z m M c= + − − .
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4� (
����� �� �
����� ����� �!���!�!
� M0N� &
� �!��� �����#�� �!���#�
�#�� ��� �!��&���
������ 
��	
��:

0N 0p 0n[ ( ) ]M Zm A Z m= − + −Δ , sau, aproximativ: 0NM A−�ΔΔ · u.
Pag. 128

7. Radioactivitatea �
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�
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�
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�� sau ��
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8. Emisia particulelor alfa (α	��
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�� �
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9. În dezintegrarea beta (β	����#% 
���!�����
�#%���
���$����!�"�!����#�
��Z modificat cu 1ZΔ = ± . Procesele
de dezintegrare β� �!��� '��# 
��� ��� ��
�
�� �������
�!��� ��!��
�#� ��!� ���
��!��
�#��$

�
������β sunt mai
penetrante����$�����
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le α��-#� ����
���
�����'�����
����������β sunt �������������
�����
��.
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���� �� ��"�
�#�

���
����� ���� �!���!�!
�� 2����� ��� ����!���� �� ��!�!�!
� ��� �#�#�
� γ la parcurgerea� !��
� �
���� �� x� ��
�

�!%���� "� ���� �#���� 0( ) e xx −μΦ = Φ , unde μ este coeficientul liniar de atenuare.
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��� B��
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������!�������

��
�����: 0( ) e tN t N −λ=  (unde λ este �����
��

�

��
����� a nuc��!�!
	� &
� ��� ��!���� 
���
�����: 4

2
A A
Z ZX Y−

−→ , la dezintegrarea α� &
� 1
A A
Z ZX Y±→ , la

dezintegrarea β±.
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� ��6
�
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13. Activitatea�!��
��!�������
#���
�����������"�������� 
�� NΛ = λ  (unde N�������!�"�!���!�����#�����
#�

���
��������!���
	�&
�����"�#��"�'��%��R!������JR	)�!��%��R!�����������
��"����
�
������!��
��!��������

�!���"��� 
������!�
��� ��� �����
� ( -11 Bq 1 s= ).
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14. Nucleele radioactive sunt grupate în patru ������ 4�
�����5� �

��
�����. Termenii unei serii sunt specii
radioactive legate genetic între ele, �
������ ��������� 4���
�5� ��� �
��"��
� ���

� �

��� !�� nucleu stabil.
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�
� γ� �!� �!%���� �� �!��0� 
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�����
� efectul fotoelectric, efectul COMPTON�

!����
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� 
�� �������� �
�������*
����
������� (electron-pozitron).
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GEIGER-MÜLLER, d�����#���� �!� ��
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�� 
�
� ������� �!� ��� "� �WILSON), camera cu bule.
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������3�
�
���&
����#���������"�!��������
���������������
� 

��!���������
�
�����

!�� ��!�
�� ���
!)� ��
��
���!�� ������ ��������� ����� ionizarea.
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18. 3��
�
�������� (D	�������
��"������
�������"�������
� 

�!�
�" 

�������"���
������������������
��
�
�

	������ ���#��
��%�#�%
�������!��&������Y� �PY	0�
J

1 Gy 1 
kg

= ��.����!��#����%�#�%
�"�������
�!�
�
���

!�� �!%�!��
��!� ��� ���Y�!�!

� �!�
�� ���0�
21 rad 10  Gy−= .
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19. 3��
� �����!��� (B) este 
�������� �
� ���
����� 
������ 
��
� 
��������� #�� �
������� η� 
�� ���
��
��


�

�
������7� B D= η 2� ����
��
� 
�� 	������ �� �#��
� %
#�#�
��� ��� �!��&��� �
������ �1�	0�
J

1 Sv 1 
kg

= �

.����!� �#��� %
#�#�
�"� ������
� !�
�
���� !�� �!%�!��
��!� ��� �
������!�!

� �!�
�� ���0�
21 rem 10  Sv−= .
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�'( �����������	�
� ����
	� �
���� �� �����

20. 3��
� �����!����	
0�	����	���������!� #����
��!�� !���� �����
3

max

mSv Sv
1 10

an an
B −= = .
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21. 8������
������
����#���"�'��divizarea���#����"���!�
��!�"������� 
!�������#������
�!��	���!�!
��!���!

��#�
��'���#!"�����������������"��#�����%
�"�&
����$�#rva neutroni (1÷3)
��!���
%�������!��
������



!�
�&�. 8������
� �����
�� se produce pentru nuclizii cu 110Z > .
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22. Reactoarele nucleare��!���!�
�
�����'�������
�"������!���������
�
������!������������, pentru producerea
izotopilor radioactivi��������
�'�����
�
�"
�'��
��!���
��&
�'�����������
�����!��&
����������
������!��


��!���
��"�'����������înlocuirii combustibililor fosili�����"�#��!�
�
����������
�"��������������'��"��
���

��#%��"� &
� ����� �!��� '�� �!��� ��� ��!
����	�
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23. 8������
������
������������ 
�������������a unor nuclee grele, mai ���%
����������
�
��
��!������!����

��
�!&#���
�'��# 
�"����������
��
������	
����
��������
������!�������������
�
�������!�����!&#������

�#�� �!�
#��0� 3
��#���!��
1
1H , deuteriul 2

1H , tritiul 3
1H 
� 3��
!�� !&#��

3
2He.
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24. Acceleratorul de particule������#�
������ 
��!�
�
���"������!����#�!�
��������
�������#�����+!�����$�"

����!������8�<���������
�!�"	�!�#������
�!���'��"������������
�
�'����#�!��!�
�
�"�

������#���'������������

�!���������"
� '�� ���
�
�"� ��!� '�� 
��!���
�.
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25. Principalele caracteristici definitorii ale particulelor elementare sunt: 	
�
� 	�� �
����
� ���������� E�
������� S

�
, momentul magnetic propriu μ� ����	����
����
���	�
���τ, paritatea P, izospinul T

�
�����
����
��


9�� ��	����� �
���������� ��	����� ��������� 12
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74� (!�"� masa de repaus, particulele elementare se împart în: fotoni� �����
�!��� �"�"� ���"� ��� ����!�	


leptoni� �����
�!��� �!� ����� ��� ����!�� �
�"	
� ���#�
� �����
�!��� �!� ����� ��� ����!�� 
�������
��"	


�
������ #�� �������� (particule cu masa de repaus mare).
Pag. 148

7�� -
��"��
�����
�!���'
��#����!����'�����!�"�#�
����
������� (antielectronul�����!��&���pozitron). Unele
antiparticule (de exemplu pionul 0π 	��!���
����
����!�����
�!����5��!����
������ 
!�

��
�����
�����
�!��

&
����
����
�!������
������
��
����!��$��
����������!
��#
��#�#�
�������!������
���#���"������! 
������"

�!� �����
�� ��� ����!�� �� �����3

� ����
�!�"����
����
�!�"�� =� �����3�� ����
�!�"����
����
�!�"� �#���� �


���
��� �'�� ��!�
��� �#��
 


� ����� �������"� ���
��� ��� �#��������	� �
�� �#�#�
� �����
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28. Particulele elementare pot participa la patru tipuri de �����
����������

	���
��: nucleare tari, nucleare
slabe, electromagnetice, ����
�� 
#������ Legile de conservare� ��������� &
� ����
���� !������
��

�����
��������� ��� ����� �#�� ����
�
��� �
�������� �
�!�
� ��� ����
�!��� ������������ 5�� �������
� ������"�#�



!��"��������%#������!��
 teorii unitare� �� �!�!�#�� ���#������!� 
������ 
!�
��
�����!�"� ���#������"� ���

��"�����"���
��������
��
�!�
��#���
������
���'���#��!�
���
�!�
���
��
����!�$���'��"��
�
���!�"�'����#�
�

!�
���")� #� ��#�
�� ���!��"
� �����
�
���"� '��"� �����
������
� ������� ����� ��� ����!�!��� �"� �#���� unifica
toate cele patru tipuri de inter�� 
!�

� ����� teoria supercorzilor).
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�')������� �	�
��
�

��������	 ��
����
�

1. 1���#��
���"�!����#���������
3
�������!�!
�,!.���!���!������
���
���
�"���$����!�!��������#������

!�!
� ��#�� ���!�� 5�� ���!�� '�� ����� �
��� 

��� ���#�� �#
� �#�#�
� ����� ��� �#�����"� '�� !���� �����!
� ��#���� �!��

�
����
��� �� "� ����
��� 
�� 
�
 
��"� ����
&����� ��,!.���!�/+/�
� �"� ��� ������
��0

��������
�� �
��"�!
� �#�#�� ���!�����

%��C��3
!��θ� �#���������
��� 

��� �#�#�
�#�� ������� 
� �!��
��� 
�� ��� 
��
��� "� ��,!.���!�/+/�3

1�� ����
+���"� �����
�� &
� 
��!��!�� ��� ���!�� ��� ��#�!�!
�� 1�� ��!0� �����
�� ��� 
#�
����� �#����!��$��

�
���!�!
��� ��� ��#�!�!
� �#��
�����
��
�
� G� 1A�>��
��������� ����!�� �� ������#�!�!

��

�
���49�3�A

E��
�><
� ����
��

���������"
�	����9(3�A
E�4
�69��
����� �!�
�

� '���
�
������3�A

1
��H�3

�	��� �
	!�>��
�$��� ������ �#�����"�

� �����
�
� &
� �!��$��� '�� ���#�
�� 
�� 
��
���"� '�� ��!� 
� #% 
���0

2 2
0 0( ) ( ) 2cin ,poz i fm c E m c E+ + − = ε 
� ���!���� ���!��"0

cin,poz2
0 1 472 MeV

2
i

f

E E
h m c ,

−
ε = ν = + ≅ �� (
�� ������ �#�����"�

� 
��!��!�!
0� poz f2 cosp p= θ �

(���
f

f c
p

ε= 
� 
��� �"�
���� 
��!��!�!
� �#�
��#�!�!
� ���!��"� �
�� ���� 
�� �����
�� �
���
�"�
��!��0

2
poz cin,poz cin,poz 0

1
( 2 )p E E m c

c
= + 
� ������� '��$��

poz

f

cos 0 84
2p

p
,θ = = 
� ���!���� ���!��"�θ� F� �7b*�'�

2. Cât de mare este raza nucleului de 
��
�


Pb
������������#��
������!�!���
������������
����%
����!����c

(��� �� ���#���� 
� 
�#�#�
� �
� ��!�%!�!
c

Rezolvare: -#�#�
��� ���� 
��
�




�
�$$ = , unde ��6,*
�

�*�

6
⋅=$ ; A = 208 s�� #% 
��

��*�
����6*�,
�
�*� =⋅=$ .

(
�� ��%���� ��� �"����� ��
��� 
� 
�#�#�
� �
� ��!�%!�!
0�

��

�

Pb, 
��

�

CPb.

Deci pentru: A = 206, R = 8,55 ⋅ 10–15 m = 8,55 fm;

A = 207, R = 8,57 ⋅ 10–15 m = 8,57 fm.

3. 1"� ��� 
��
��� ����� �
�� �!�����e: 26 26 28 28 29
12 13 13 14 14Mg Al Al, Si, Si, , � �!��� 
�#�#�
� &
� ����� �!��� 
�#%��
�

Rezolvare: Izotopii sunt: ( )26 28
13 13Al, Al &
 ( )28 29

14 14Si, Si ��#������ �!� �����&
� Z.

Izobari sunt: ( )26 26
12 13Mg, Al &
 ( )28 28

13 14Al, Si ��#������ �!� �����&
� A.

4. Cât de mare este masa unui atom de 
��

��
Ag?

Dar masa nucleului acestui atom?

Rezolvare: Conform tabelelor, !��
�6�=� . Deci masa unui atom de 
��

��
Ag este

107
47

27 – 27

Ag
107 87 1 66 10 kg 179,06 10 kg.–M , ,= ⋅ ⋅ = ⋅

=� ���"� ���� 
�� �����!� ����!�!�� ����
� !�!
� ��#�� ����0

�
�

�

F

�����'�����
���"

�#��
���#�
���!�"�!�

�#�!�!
����

��#�
== ,



�'1 �����������	�
� ����
	� �
���� �� �����

unde
�

� � ����� �!�"�!�� �!
�>�#����#
� ���
� 107
47

27
23Ag

107 87 g
177 6 10 kg.

6 023 10 atomi
–,

M ,
,

= = ⋅
⋅

.����!� ����!�!�� ����
� �!���!�!
� ����!
�&
� �������
� ��� �#�#��&��� ���� 
�0�
�

	�FF ⋅+=
����������




'�� ����� ���� ����
+��� �����
�� ��� ���"�!�"� �� ������#�
�#� în atom (Wleg), deci

107 107
47 47Ag Ag eN

M M – Z m= ⋅ 
� :���6�
�
���⋅=

�
	

107
47

27 31 – 27

Ag
179 06 10 kg 47 9 1 10 kg 179,02 10 kg.– –

N
M , – ,= ⋅ ⋅ ⋅ = ⋅

1�� #%����"� �
����� �� �#������
�"� �� "� �������� ��#�!�!
� ���>��

5.� 1"� ��� ����!����� ����� ��#�
�"� �� 3��
!�!
� &�

��� �"� �����
�� ��� ���"�!�"� �� �!���!�!
� ��
4
2He este

Wleg = 28,3 · 106 eV , masa protonului mp = 1,007276 u, masa neutronului mn = 1,008665 u, me =
= 5,487 ⋅ 10– 4 u.

1�� �#��
���"� �� !E⋅ c2 = 931,5 MeV.

Rezolvare:� ;#��#��� ���
�
 
�



2
leg nucleup nW Z m ( A – Z ) m – M c⎡ ⎤= ⋅ +⎣ ⎦ 


deci
leg

nucleu 2p n

W
M Z m ( A – Z ) m –

c
= ⋅ + .

Dar 

���������� �

	�FF ⋅+= � ���!��"0� 4 4
2 2He He eN

M M Z m= + 
� ��
�"0

4
2

leg

2He
2 2 2p n e

W
M m m – m

c
= ⋅ + + )E 4

2 He
4 0026 uM , .≈

6.� 1�� &�
�� �"� �����!� �� �
� ���%
�
� ���
( � �� !�!
� �!���!� ���%!
�� �"� �
�� �#�
�
�"�� .���
�� 
� ���"� �!���!�

���
	
�

�	
U este stabil. Dar cel de 4

2He?

Se dau: mH = 1,007825 u, �!66�44*
�=
	

	

1�� �#��
���"� �� !� ⋅ c2 =  931,5 MeV.

Rezolvare: Pentru calculul Wleg� ��� !�
�
����"� ���� 
�0

[ ] 2
leg H n AW Z m ( A – Z ) m – M c ,= ⋅ +

unde MA F������ ��#�
�"� �� �������!�!
� respectiv.

Din tabele ��� #% 
��� pentru�
	
�

�	
U  MA = 239,054 u, iar pentru 4

2He, MA� FE,
66746,� !�� 5��#�!
��


���!��"0

239
92

leg HU
(92 147 239 054) 931 5 MeV,nW m m – , ,= +

239
92

leg U
1806 48 MeVW ,= )E 239

92
leg U

0W > 


deci nucleul 
��

�

U e���� ���%
�
� &
� 4

2
leg HHe

(2 2 4 002604 931 5 MeV.nW m m – , ) ,= +

EEEEEEEEE 4
2

leg He
28 29 MeVW ,= )� 4

2
leg He

0W > 
� ���!��"� �"� &
� �!���!��
,

7
H�� ����� ���%
��



�'4������� �	�
��
�

��������	 �������

1. Cât de mare este raza nucleului de 27
13 Al?

R: R = 4,35 ⋅ 10–15 m =  4,35 fm.

2. Cât este masa unui atom de �


	�
Cu? D�������� �!���!�!
� ����!
�&
� �������cE

R: 63 63
29 29

27 27

Cu Cu
104 59 10 kg; 104 57 10 kg– –

N
M , M , .= ⋅ = ⋅

3. Într-un contor Geiger-Müller se produc 108
� ������#�
� ��� #� �
��!�"� ����"������� 1"� ��� ����!����

�!����!�� ���
!� '����
������ ��� 
�&
���� �
�� ������#�
� ���"� ��� ��#�!�� 466� ����"��"�
� ��� �
�!��� 1�� �"0

e = 1,6 · 10–19 C.

R: Imediu = 1,6 · 10–10 A

%3�(�����
�� 
� �$�����!�!
�#%
������� ����
� &�

��� �"� ���
�
������ 
�#�#�!�!
�
14C pentru acest obiect

este 3/5� �
�� ���
�
������ !�!
� �#���� �"
��� �������� 1�� �"� T1/2(14C) = 5 730 ani.

R: t = 4 282 ani

5.E;!�#��$��� �
�%#�!�� !��
� ���� 

� �!�������A (a, b) B
� ��
�"0�a + A → B + b� &
� !�
�
�$��� ���
��

��� �#��������� ���!�"�!�!
� ����!���#�
� &
� �� ����
�

� ������
��
� �"� ��� 
����
�
����!��
�!�� �
��"
� �#���� �!�X
�
�� !��"�#������ ���� 

� �!������0

a) 14
7 N ( ) ;, p Xα b) 12 8

6 4C ( ) BeX ,α ;

c) ( )3 2 4
1 1 2T HeD, X , d) 37

18( ) ArX p, n .

R: a) X = 17
8O, �	)�	�#�#�
%	


�

��

�

6

�

 === Cl.

6.�1��%
�
 
�������
������ 

����!��������
����#%�����*��!�����#������&
�������!������#�����
�����!�$��

�����
�� ��� ���� 
�� �Q	�� V�

��� �"� Wleg = – Q
� ���%
�
 
� ����� �
�� ���� 

� ������
�"� ���
���������� ��#����"

�� �!���!�!
�  
��"�� 1�� �#��
���"� �� !E⋅ c2 = 931,5  MeV.

R: a) Q� FE�E�
�7� 8�<
� ���� 
�� ���#����")E 
6
���

>( �!���!��  
��"� ����� ���%
��

b) 8�<��
��=) 
� ���� 
�� ���#����")E 
6
���

>( �!���!��  
��"� ����� ���%
��

c) Q� F� �4
4*E8�<
� ���� 
�� ��#����"; 
6
���

<( � ���
��������� ��#����"� �� �!���!�!
�  
��"�

d) Q� F� �� �
4�� 8�<
� ���� 
�� ���#����"
� 
6
���

>( � �!���!��  
��"� ���%
��

7.E;���!�� 
� �����
�� ��� ����� �������"� ��#�!���

� ���� 
�
0�
12

6 C 3n n+ → α + .

R: 8�<�
�
��	�

=��

% .

8.E1"����������������
�!�"�X������'���"&�
��"�'��!��"�#��������� 
��&
����"��!��������!������%
����� "

��� ������"� ���
��������0�
21 20
10 10Ne Ne X→ + .

R: �

�



= ; 
68�<
�4�
4

������
>≅ ((  deci nucleele sunt stabile.

9.� 1"� ��� ����!����� ������
�� '�"� 
�

� ���
��� �� %��
���
� ��� �#��� 
��� ����� '��
��
�"� 
�������� !��


����
�!��� α� '����!�E�!���!� ��� #�
���
� �!�#��$��� �!��� �����#�� ���#�� �#!"� �!����� �R).

R:
R

e
C

0

24

επ
= .



�(A �����������	�
� ����
	� �
���� �� �����

10.�C�� ��!��#�� ��� ���
��������"� ��#������;���� ��� �
� �����
�����
�"� �� ������#�!�!
� ��
�c

R: Emax = 782 keV.

11.�1��&�
���"�����
�
!����!�!
��!���!����U�7�*������
%�����"������
�����766�8�<��;$����!�������

U� 7�*� ���%!
�� �"� �
�
#����� '����#� ���!��"� �����!� �� ��#�!��� '����!�� �����#�� �!������ ��� �E766� X

��� �< = 1,6 ⋅ 10–19 J).
R: N = 1014 nuclee de U� 7�*
� ��� �
�
#����"� '����#� ���!��"�

12. ;
��!�� ��#�#�E�E��#�#�E�;�
��3�
���	� ��#�!�� '�� ��!�� ����� �����!� �� ����
��� #�
�
���� �����
�


����+���� '�� ���� 

��� ����#�!������� �
�� �������� ���
� ����� !��"�#�!�0

1 1 2
1 1 1H H H e++ → + + ν )�

1 2 3
1 1 2H H He+ → + ν )�

3 3 4 1 1
2 2 2 1 1He He He H H+ → + + �

1"� ��� ����!����� �����
�� �#���"� ��
%����"�

R: Q = 24,7 MeV.

13.� V�

��� �"� ��� #� ���
#����
�� �!��#���"
� �#��� %
#�#�
�"� ��
�
�"� ����� B = 20 μ1�
� ���� 
� �$��

���
#����

� ����E�#
�� �"� ������ �#��"��
� �
� ������� '��$�� �"��!����"&
���#���%
#�#�
�"����
�����
�"���

�
� "�Bmax� F� ���1�c� �.���!�!���� �"� �!���
� '����"���
�
#� �#�"� �
�� ����� �!���	�

����
�� 
� �#��� %
#�#�
�"����
�� ���
�"�Bmax� ����!�� &
� �#��� %
#�#�
�"� B în rem.

R: 50 radiografii, deci� ���� 
�?� �����  
�!�� ������ ��� ���� 

��� Bmax� FE6
�E���EZE��� &
� B = 0,002 rem
/ radiografie).

14.�=� ���
� 
�� γ� �!� �����
�� ��� 6
*�8�<����� ��#�
���� ��� '�+!�"�" 
��� '�� %��#��X� F� �6� ����1"� ��

������
��0

�	� ������� �� ���
� 
�
)

%	� ��#�
���� �����!�!
� ��� %��#�� ����� �%�#��%�� �*� Q� �
�� ���
� 
��

1�� �!�#�&��0� h = 6,62 ⋅ 10–34 J ⋅ s.

R: �	� Hz.10208,1 20⋅=ν
%	� cm.202 == Xx

15.�1"����������
��������
���������"�����#��!���

��!���!�!
����
�7

; în 3 particule α. Ce energie

medie revine unei particule α? Se dau masele atomice: MHe = 4,0026033 u; 
C12 12 u.M =   Specifica 
���

���� ��� ���� 
�� ����� �������
� ���#�������
�"� ��!� ��#�������
�"c

R:
���

���

���
�8�<),47
7

�

8�<)7��
� ()

(

(( ==== α .

Q� [E6
� ���!��"� �"� ���� 
�� ����� ���#�������
�"�

16.�;#�����������
#���
�"������#�!�!
������7
�� ⋅ 10–6 s–1
��;��������
����
#�������'�+!�"�" 
���

�



D  a

acestuia?

R: 1

2

91,8 hT = .

�)3�(#
� �!��
�
� ���
#���
�
� �!� ���
#������ ��� '�+!�"�" 
��� T1 = T0� &
� T2 = 2T0; la un moment dat,

raportul
1

2

N

N
 este 

4

1
�� (!�"� �$�� �
��� ������ ���#��� ���
��� ,c

R: t = 8 T0.
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